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o ZAMER: 6971 ZRATE / 8287t (ZAITRE 127+7)
O ZARH: ZARIO| Q8 JEFHE HYZAL

o BEDACH AR 71E FUZ0| HZ5H= 154] o BE 7
2T ZARBY| OfHQ 7ISAIM U ESAIBIAIMOY ARSI Al
AH|QI5H UB7IT10] 54| oA BE J1Y
- 20221 7|E WHALR 7|EH SEAIES 20221 QRS TAL HE RS
0|8510] DRICH ZtA
X BRCHEI (H1)~<HEI3 &1
o BEZZES A4
- 202210 SEHAA 7|Ut ZART U OIIE(A), HE(1)S AR 1
ZAB| Of2te M(2ZAR, TISAIM(3), SAABIAILME) A9
- 2|E HE2ZES ZAIT 25 51902 ZARYTT BESZS U ZAR O
THEL 100,0%(B07I7 0|21 AT Aot 22)



o 7t7ds ¥ FHIY
- (F1ES) 207t HIZ2 558 H(36.7%)0] 71 &1, ARHE 1217t
(41.6%), 32717(14.5%), 42001%4(11.6%) 7t7 HI&0| BF =&
- (FERY) ©= HE2 FREAUB24%)0l =i, OHIIE Hlg2 A&
(57.1%)0| =2
(E1> ZARUCY YL H/ZHRYY JPEE
(T2 2, %)
glRae | Az ez 2anr swrr RN wg 1asm 20utm e A52A°
9%2 | 26160 10,828 8,550 3,786 2,996 100.0 41.4 32.7 145 11.5
s+ d 9,614 3,947 3,533 1,312 822 | 100.00 41.1 36.7 13.6 8.6
S 3,299 1,220 1,102 537 4401 100.0 37.0 33.4 16.3 13.3
H2IH 858 393 305 110 501 100.0, 45.8 35.5 12.8 5.8
=4H 1,045 494 388 114 491 100.0 47.3 37 .1 10.9 4.7
AEH 1,741 714 709 212 106 | 100.0 41.0 40.7 12.2 6.1
INE-Lsi! 1,631 696 642 200 931 100.0, 42.7 39.4 12.3 5.7
ExH 1,040 430 387 139 841 100.0 41.3 37.2 13.4 8.1
Mg A 16,546 6,881 5,017 2,474 2,174| 100.0 41.6 30.3 15.0 13.1
MT G 11,754 4,955 3,197 1,810 1,792 1 100.0 42.2 27.2 15.4 15.2
0| Q™ 1,028 394 396 166 721 100.0 38.3 38.5 16.1 7.0
TAH 1,546 633 579 209 1251 100.0  40.9 37.5 13.5 8.1
Mo H 887 377 340 105 651 100.0, 42.5 38.3 11.8 7.3
ShAFH 1,331 522 505 184 1201 100.0 39.2 37.9 13.8 9.0
Gugw | z%) o oms @y JEP | wg ws omE @y e
e 27,067 : 15,045 10,707 1,011 304| 100.0 55.6 39.6 3.7 1.1
s+ d 9,929 8,177 924 651 1771 100.0 82.4 9.3 6.6 1.8
IAS 3,261 1,882 748 522 1091 100.0 57.7 22.9 16.0 3.3
H2IH 898 888 0 0 10| 100.0 98.9 0.0 0.0 1.1
=4 1,027 1,012 0 9 6| 100.0 98.5 0.0 0.9 0.6
AEH 1,812 1,518 176 92 261 100.0. 83.8 9.7 5.1 1.4
INE-Lsi! 1,827 1,779 0 28 20| 100.0 97.4 0.0 1.5 1.1
Lo 1,104 1,098 0 0 6 100.0 99.5 0.0 0.0 0.5
Mg A 17,138 6,868 9,783 360 127 | 100.0 40.1 57.1 2.1 0.7
MTEl 11,995 2,154 9,595 164 82 100.0 18.0 80.0 1.4 0.7
Oj¢H 1,047 1,016 19 0 12| 100.0 97.0 1.8 0.0 1.1
TAH 1,683 1,530 37 104 12| 100.0 90.9 2.2 6.2 0.7
NS H 1,009 976 0 29 41 100.0 96.7 0.0 2.9 0.4
ShAMH 1,404 1,192 132 63 171 100.0 84.9 9.4 4.5 1.2
21) FHAE WAL EHD AHO| s
22) JIEk HIAZE AZY Fe



o g L ZTAME
- (AT) 15MO1Y 2T HIZ2 FRE(92.9%)0| =L, 15~64M| QI HIE2
MEH(69.6%)01 =1, Bt 65M[01E 2T HIZ2 FFE(38.1%)0| ==
- (ZAULH) OI2 HE2 MRE(23.2%)0| 7HY =20, {HI¢ HIEZ2 574

(60.3%)0| 7MY =&

@) ZMBUTS AW/ EANEE ATEE

(E21: B, %)

GED AT 0-14M 15MIOM 5 gan esmoar| HIE O-14M1 15MIOM L5 A 65 aojAr
CKE 52,809 5,042 47,857 34,049 13,808| 100.0 9.6 90.5 64.4 26.1
s8d 18,626 1,323 17,303, 10,204 7,099| 100.0 7.1 92.9 54.8 38.1

age| 7,019 808 6,211, 4,276 1,935| 100.0 11.6 88.5 60.9 27.6
gre| 1,562 8 1,476 769 707 100.0 5.5 94.5 49.2 45.3
Fxw| 1,831 57 1,774, 900  874| 100.0 3.1 96.9 49.2 477
Mem| 3,233 133 3,100 1,711 1,389 100.0 4.1 959 52.9 43.0
NZE| 2,902 136 2,856 1,501 1,355 100.0 4.5 955 50.2 45.3
Z=E| 1,989 103 1,886 1,047 839 100.0 5.2 94.8 52.6 42.2
LR 34,273 3,719 30,554 23,845 6,709| 100.0 10.9 89.2 69.6 19.6
usg| 24,984 3,202 21,782 19,160 2,622 100.0 12.8 87.2 76.7 10.5
ojgw| 2,003 8 1,919 1,026 893 100.0 4.2 958 51.2 44.6
24e| 2,989 168 2,821 1,549 1,272| 100.0 5.6 94.4 51.8 42.6
New| 1,677 8 1,592 761 831 100.0 5.0 95.0 454 49.6
sarel| 2,620 180 2,440 1,349  1,091| 100.0 6.9 93.1 51.5 41.6
(ZASED A oz i AHE o2 HE& 0 [Ee AE  oE
CIEE 43,546 9,007 26,022 5,249 3,178 100.0 20.9 59.8 12.1 7.3
58 17,064 2,944 10,201 2,763 1,066 100.0 17.3 60.3 16.2 6.2
a¥eg| 6,152 1,246 3,811 731 34| 100.0 203 61.9 11.9 5.9
saw| 1,450 221 848 307 83| 100.0 151 581 21.0 5.7
axw| 1,748 248 1,045 342 113[ 100.0 142 50.8 19.6 6.5
ago| 3,00 505 1,837 530 178 100.0 16.6 60.2 17.4 5.8
ANZE®| 2,813 426 1,6680 525  194| 100.0 151 59.3 18.7 6.9
==®| 1,820 298 1,082 328  134| 100.0 16.2 58.7 17.8 7.3
LR 26,482 6,153 15,731 2,486 2,112| 100.0 23.2 59.4 9.4 8.0
4eg| 17,846, 4,867 10,499 878 1,602| 100.0 27.3 58.8 4.9 9.0
oigw| 1,892 285 1,133 347 127 100.0 15.1 59.9 18.3 6.7
ZMe| 2,754 397 1,677 520 160 100.0 14.4 60.9 18.9 5.8
Newm| 1,573 217 930 336 90| 100.0 13.8 59.1 21.4 57
Siafmi| 2,417, 387 1,492 405 133| 100.0 16.0 61.7 16.8 5.5

21) 1541 ol Wi=Ql: ZAMEH 012 Al



O (=]
°© oHE UA=EE
- ZEO[5et FE HIE2 F5H(38.6%, 13.0%)0 2F 7t =&
- MRAEE U1E(43.2%) HEOIS(17.3%) HIEZOl 2% 7MY =5
(H3) ZARUTHO| Sfeid Q18T
(EH9l: B, %)
= A zgolt  3E 1E  OiFo | HE =ZEOISt FE A 1E UEON
a2 92,899 16,380 6,733 20,744 9,042 100.0 31.0 12.7 39.2 171
FFd 18,626 7,188 2,419 5,921 3,098 100.0 38.6 13.0 31.8 16.6
TAS 7,019 2,050 7 2,445 1,753 100.0. 29.2 11.0 34.8 25.0
SRl 1,562 674 203 446 239 100.0 43.1 13.0 28.6 15.3
adH 1,830 735 343 531 2211 100.0; 40.1 18.7 29.0 12.1
H=s 3,233 1,952 376 974 331 100.0 48.0 11.6 30.1 10.2
AIZH 2,992 1,343 401 949 299 100.0 44.9 13.4 31.7 10.0
CXH 1,990 834 326 975 255] 100.0, 41.9 16.4 28.9 12.8
MR 34,2713 9,192 4,314 14,823 5,944| 100.0 26.8 12.6 43.2 17.3
de&| 24,984 5,156 2,943 12,197  4,688] 100.0 20.6 11.8 48.8 18.8
o2& 2,003 937 263 569 234 100.0 46.8 13.1 28.4 11.7
AT 2,989 1,178 519 907 385( 100.0 39.4 17.4 30.3 12.9
MNTH 1,677 889 180 404 2041 100.0, 53.0 10.7 241 12.2
SHAtE 2,620 1,031 409 47 4331 100.0. 39.4 15.6 28.5 16.5
1) 15M1 ol L= RYTH JFHERE HIZ7IEOR YO et Qa0 2017t g + UG
=gl al H
th. 32 X ERAH
°© ST 2V SL2E ST
- &sFd - Sy, AU, a4, UST, ASE EEE
- MR ATg, OIYE, DM, M2HE, SitE
o =
° ERAIE(FAIST
- % T AT 42 UTote ERAIR(ZZSAAE) D2t ZAFS
P T ASFSEECE ZAHE F20HY, ERAIRE AldY SoRNE
HO A OlO
c=2 T AMAO
- ZANEET 2EOIM ZHOITH S0 Dot 243 2t 7Y ST
=2 HeS ERARE UF



(H4> B2AHE

ZF =4 XEHO T
il‘ —hll--l?r 1 o&2 T Tr o
- @ OfmME @ H==H Q7[Ef=H
2k 2% ALarAFZ I (T 15~64X4)) Hl=
a 2% 1017k H&

(H5) &3AR & MH

Q1(25%) 33% Q2(50%) 66% Q3(75%)
aAgUTHE 51.7 54.2 63.0 71.5 76.9
(2H15-64A))
101713 H|& 29.8 33.3 38.7 43.8 46.5
L BEXHO| 7|2 (criteria) 22 AIR

BE42 % HiE

MAIE D deff, Design Effect)

A= HefoFEYYol ofd SYAA FHe HEAUCZ Qlof
AL &7 El= B=2 37|E S4ote SATLE AHEA S 3¢ =2
al

o

1z

= O|&olo =4

deff : 32717t Mg Uff A=
Mo HAT(RARY EEIT 4)
p HUUARAIS(RE W QA HE)

SAY ABIZAL HEtHE A|HO| p=0129 (2022~2023 )2t 2=F/|(M = 12)&
AgotH AAlant= 2422 =74



=
Q0|2 20
al

0

5% dEsE
=0.0526) 2 Z 51 HEO| 37| ng ARISE

Ciet &

2=Z0| MATNE deff=1+M—1)p=2420F
SH2=1.96)0IM HIES p=0.5, LRI BIAIE e= +5.26%p
&0t oF 82871¢Y

n

p(l p)

6

X deff

(E6) EE20f g Q39| §tA
BEEFR(7I) 800 | 828 | 1,000 | 1,500 | 2,000 | 5000 | 10,000
Qxte| #A|(%p)| 536 | 526 | 478 | 389 | 335 | 207 | 1.40
X ZAY 127k ZARQ FQ
- o822t AHE Al RAIY
95% NIZ|pZOIAM FAT 828 EZ7H700| WS 29| OtAl= +5.26%pZ,
Olz 3T *i1I7HL01I it Zdo0|n
SEZ FEY T2 MBAHAU FHos a7t 3A Y £ o A8
Fo7t 279
BEZHIE
- QYT SE /A E VIECE 69719 BEXAE Alad sl
(E7) 29 BE Hj2
(T : 5, %, 7H)
4 | AZ2 e | BEE HE
T & 3%
T AER F4H) EYTE P ¥ PN
o of 3 26,160 226.7 100.0 69 828
=2 9,614 98.1 433 30 360
REE 16,546 128.6 56.7 39 468
L
X AED BIRBE (n) = (VN / 35 VN ) >
h=1



n

22 ERAIEY Oef 8 T 748 I7|IHE(MOS)ZE of= &
H A S 2 H(PPS_sys: systematic selection with  probability
proportional to size) 2 HERA F&

(2% &) EE7I7(USU) F&(FSHRIT AXA7L ofd 7t
& HEZAALO| 71710 LTSS BOor T, ZAIFEE ARVIHE Hefl
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2 02 4 4 100.0 19.8 45 15.3 44.0 36.2 29.1 7.1
2 02 2 4 100.0 23.6 6.1 17.5 39.7 36.6 23.2 13.4
Q) EL(#ef7], 5O W= SO=2 OIot @)
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410] HI1Z{0] 40| 40|
2 s A 9gol | 2g 9n | 23 1 i} )
= 9| SiCt Se[7F & | EEVE AHZ | #EZE E [ EePF AtHE
S0 QCH | QA ST = ok (=2 QA T
202 4 4 100.0 50.9 10.1 26.8 3.3 8.8
2022 4 100.0 56.4 9.2 23.1 1.4 10.0
CA 9o
5 = 100.0 46.2 11.0 29.9 4.0 8.8
A = 100.0 54.1 9.5 24.7 2.9 8.9
<A 5 )
Lt p 100.0 50.2 9.4 27.4 35 9.6
ol Zt 100.0 51.6 11.0 26.2 3.2 8.0
CH o
15~29 Al 100.0 65.9 10.5 18.4 0.0 5.3
30 ~309A 100.0 56.7 7.2 24.9 5.6 5.6
40~ 49N 100.0 56.9 8.5 26.9 43 34
50 ~509 Al 100.0 52.2 8.1 29.4 1.5 8.8
60A O A 100.0 42.5 12.0 28.6 45 12.4
65A O A 100.0 M8 12.6 28.8 46 12.2
HIY Egweor - (2) Wy ggyer (Tl : %)
A | MTE JPSTHRU BABZ B FAY
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AUA Z2H /e A # SAAYE A | 7[EANE 28
2 0 2 4 4 100.0 38.0 42.7 1.7 75 0.0
2022 4 100.0 36.3 33.9 18.7 11.2 0.0
CA 9o
3 =) 100.0 32.3 49.6 9.6 8.5 0.0
A = 100.0 42.6 37.3 13.4 6.7 0.0
<A 5 )
Lt p 100.0 38.6 41.9 11.0 8.5 0.0
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40~ 49N 100.0 28.0 43.2 19.1 9.7 0.0
50~509 Al 100.0 31.4 47.5 7.0 14.1 0.0
60A O A 100.0 48.6 35.0 10.1 6.2 0.0
65A O A 100.0 48.2 35.4 10.1 6.3 0.0
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2021 4 6,158 11.6 6,345 12.0 -187 -0.4
20224 5,136 9.8 4,985 95 151 0.3
20234 5,608 10.7 5,218 10.0 390 0.7
2A2: A%, KOSIS'RUSZ17E7,
1-6. 448 244 9|0l Q¢
(gl : ®)
=2
SN B iis oz o | 2w | Efo
= ol Lt Lt ot = = =
20194 4516 3,444 1,072 824 494 661 378 571 291 96 1,201
20204 4169 3,172 997 796 464 622 326 541 280 84 1,056
2021 4 4119 3,078 1,041 878 407 618 388 49?2 287 96 953
20224 5,182 4,045 1,137 1,169 629 807 420 448 329 146 1,234
20234 8,221 6,549 1,672 1,787 1,233 1,038 1,016 467 451 406 1,823
2AR: 4%, KOSIST2YURALHT RS H),
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2 - 1. 4ol oigt HEZ - (1) AN A
(9l 7, %)
SO i

= |z 07 |12 | 21 | 3@ | 4% | 5% | 6% | 71 | 8w | 9% | 104
2 02 4 9| 67 1000 03 05 10 25 44 219 139 210 194 75 76
202 3 4| 661000 03 06 08 20 29 261 140 218 187 71 56
2022 W 681000 05 04 07 25 30 235 152 172 182 89 10.1
R
= = 6.4 100.0 0.7 1.0 0.9 3.6 3.0 231 141 247 197 5.6 3.6
A = 6.8 100.0 0.0 0.2 1.0 1.8 54 211 138 185 193 8.7 10.3
<A g )
= At 6.7 100.0 0.4 0.7 1.1 2.4 41 201 155 19.0 20.3 7.6 8.9
o At 6.6 100.0 0.2 0.2 0.8 2.7 48 239 122 233 185 7.3 6.1
CoA
15~294| 731000 00 00 10 10 26 158 117 188 248 99 142
30~394| 701000 19 19 20 19 59 98 87 176 204 196 103
40~494K]| 671000 00 00 08 20 52 228 139 191 227 65 70
50~594| 701000 04 09 00 19 20 191 129 240 200 75 1.3
6 0AN o A 6.3 100.0 0.1 0.3 1.2 3.6 55 271 160 216 16.3 47 3.5
65 AN o 4 6.2 100.0 0.1 0.4 1.3 4.0 55 268 16.0 226 16.0 45 2.8
Co o
2 Z o 3§t 6.3 100.0 0.3 0.4 1.4 3.9 51 269 15,0 222 144 47 5.8
i = 6.7 100.0 0.4 0.7 0.9 2.5 32 209 144 203 211 8.6 7.1
If & o 4 7.1 100.0 0.0 0.4 0.3 0.6 51 157 116 203 249 10.0 111
(BOAER
0| = 6.9 100.0 0.7 1.1 0.6 2.3 46 208 97 160 236 10.0 10.6
B o ool 68100 01 02 07 14 29 206 149 236 197 78 82
A" /o =| 581000 02 07 22 66 93 274 161 188 134 33 19
BHES D
Z| %) 6.8 100.0 0.1 0.2 0.6 2.1 3.8 201 165 20.7 21.0 8.2 6.8
Alo! Ol HEA RS 6.5 100.0 0.6 1.0 1.7 34 56 255 89 21.7 165 6.1 9.1
EEE
A2 /7 o g 7.7 100.0 0.0 0.0 0.0 3.6 0.0 125 86 132 299 124 199
At = 7.1 100.0 0.0 0.0 0.0 1.8 7.9 82 138 238 265 139 41
MH A/THOf| 69 1000 00 06 07 08 32 198 174 203 189 103 81
= 2 o o 6.4 100.0 0.0 0.2 0.5 3.0 40 234 204 2277 165 5.7 34
25 /71 A 6.5 100.0 0.0 0.0 1.5 0.0 42 285 151 195 20.7 6.3 4.3
o2 L =2 6.7 100.0 1.7 0.0 0.0 55 54 108 143 232 298 3.2 6.2
= ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R EPT
1008t O]at 5.7 100.0 0.3 1.6 1.8 78 10.0 316 133 186 9.6 2.0 34
100~2000t9l | 63 1000 00 00 18 37 55 237 188 214 135 66 50
200~3000t9l | 67 1000 1.2 00 08 11 33 218 118 247 204 80 69
300~4009tgd | 71 1000 00 00 00 18 19 172 130 215 240 102 104
400~600t | 68 1000 00 12 12 12 31 206 157 198 187 80 105
6000 Of At 7.2 100.0 0.0 0.0 0.0 0.0 38 171 106 188 32.2 9.5 8.0
2024'A Hetde FUT AR ZAL
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2 - 1. 4ol T B - (2) AT Y= XY Mg
(9l 7, %)
72 [T A

= |z 0F | 18 | 28 | 3% | 48 | 5% | 68 | 78 | 8% | 9% [10%
2 02 4 9| 63 1000 06 04 13 41 48 284 148 1/5 152 75 55
2023 4| 631000 05 04 11 27 40 296 156 185 153 7.3 48
202 2 4d| 641000 09 09 09 27 39 298 144 167 136 80 82
<A A
= = 6.2 100.0 0.6 0.9 1.5 4.4 35 273 177 21.3 127 6.3 3.7
A = 6.4 100.0 0.5 0.0 1.2 4.0 57 291 128 148 168 83 6.7
<A g )
=k At 6.4 100.0 0.8 0.4 1.4 4.5 42 277 140 17.0 157 7.6 6.7
o At 6.3 100.0 0.3 0.4 1.2 3.7 55 291 157 180 145 7.3 4.2
oy
15~294| 641000 13 00 23 69 00 315 51 191 163 84 91
30~394| 651000 00 19 39 50 72 196 89 149 198 106 83
40~494K]| 621000 09 00 08 34 84 300 153 172 16 74 50
50~594| 651000 07 04 09 43 47 254 125 195 158 7.5 82
6 0AN o A 6.2 100.0 0.2 0.3 0.9 3.3 48 298 198 165 148 6.6 2.8
65 AN o 4 6.3 100.0 0.3 0.4 1.1 2.7 54 271 199 175 164 6.4 2.6
SRR
2 Z o 3§t 6.2 100.0 0.5 0.3 1.7 3.4 47 307 165 173 141 6.1 4.7
i = 6.4 100.0 0.2 0.3 1.4 4.3 43 268 139 190 16.6 7.9 5.2
If & o 4 6.3 100.0 1.3 0.6 0.7 5.1 57 271 135 152 147 8.9 7.2
(A E
0| = 6.3 100.0 0.8 0.0 3.1 7.6 1.9 316 71 165 148 85 8.3
Bl o 29 e 641000 07 06 05 28 48 260 163 188 171 75 49
At &/ o] & 6.0 100.0 0.0 0.2 1.6 4.3 84 322 195 144 9.3 6.1 4.1
BHYE D
Z| %) 6.4 100.0 0.4 0.4 1.0 3.5 44 279 159 173 158 8.0 5.5
Alo! Ol HEA RS 6.2 100.0 0.9 0.4 1.9 5.4 56 294 126 17.7 14.0 6.4 5.7
TR
A8 /2| 701000 09 00 00 25 38 241 68 178 216 103 122
At = 6.7 100.0 1.4 2.8 6.1 3.1 39 174 158 202 21.3 4.4 3.7
MH A/THOf| 64 1000 00 00 04 41 67 295 152 142 124 121 52
= 2 o o 6.4 100.0 0.2 0.2 0.7 3.7 24 264 235 179 143 6.9 3.8
25 /71 A 6.1 100.0 0.0 0.0 1.0 2.7 53 391 121 184 109 6.3 4.3
o2 L =2 6.6 100.0 1.7 1.0 0.0 4.5 54 197 6.5 188 31.1 3.2 8.3
= ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
P}
1000t OjoH| 58 1000 11 15 10 58 88 312 165 145 106 50 40
100~2000t9l | 63 1000 00 00 15 28 19 320 210 175 116 60 57
200~3000t9d | 66 1000 04 00 12 41 36 228 167 164 197 88 63
300~4000tg | 67 1000 04 00 00 42 31 244 125 219 180 7.3 81
400~6000t | 61 1000 04 07 07 55 58 343 109 200 109 68 4.1
6000 Of At 6.4 100.0 1.6 0.0 4.7 1.2 6.2 252 121 119 21.0 11.7 4.4
202413 AP HOrT ArSIZAf
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2 - 1. &°f Ot =7 - (3) WE dIE
(9l 7, %)
2 2 |9EE

= | ma 0M | 1% | 28 | 31 | 43 | 53 | 61 | 72 | 8% | 91 | 10%
2 02 4 9| 64 1000 09 08 28 55 45 218 142 164 163 87 82
2023 4| 661000 03 06 07 29 40 229 145 201 186 90 63
2022 4W| 671000 06 06 07 30 33 230 149 183 176 81 100
CA Y oE
= = 6.2 100.0 1.2 0.6 2.5 6.3 45 242 143 190 16.4 6.6 4.5
A = 6.6 100.0 0.7 0.9 3.0 49 44 202 142 147 16.3 101 10.7
<A g )
= At 6.4 100.0 0.9 0.7 3.4 5.8 41 220 147 16.0 148 9.0 8.7
o At 6.4 100.0 0.8 0.9 2.1 5.2 49 217 136 169 18.0 8.3 7.6
R
15~29 4| 731000 00 00 24 35 12 135 120 151 224 134 165
30~394| 651000 34 20 56 69 58 72 79 205 184 7.3 149
40~49A]| 661000 00 00 14 71 33 234 123 185 153 101 87
50~594| 681000 13 05 09 57 28 186 135 151 195 11.6 104
6 0 Al O| Af 5.9 100.0 0.7 1.2 3.8 5.2 6.4 281 170 16.0 129 5.6 3.1
6 5 Al O| Af 5.9 100.0 0.7 1.1 4.2 5.2 6.4 271 167 171 129 5.4 3.2
oty
2 Z o 3§t 6.0 100.0 0.7 1.2 3.6 5.2 7.0 255 16.7 139 143 5.5 6.3
i = 6.4 100.0 1.6 0.4 3.7 7.0 24 212 127 164 178 9.5 7.4
If & o 4 7.0 100.0 0.0 0.7 0.3 3.6 3.6 172 125 205 171 123 12.3
CEOIAER >
0| = 6.6 100.0 1.2 0.3 3.6 6.2 3.5 199 127 120 176 105 125
Bl o 29 o 661000 08 09 23 45 35 200 143 195 169 92 82
At &/ o] & 5.7 100.0 0.7 1.1 3.5 7.7 8.7 304 159 120 126 4.7 2.6
(BHESE>
Z| %) 6.4 100.0 0.8 0.7 2.5 5.0 3.8 221 149 171 16.6 9.3 7.2
Alo! Ol HEA RS 6.3 100.0 0.9 1.0 3.5 6.5 57 214 129 152 158 7.3 10.0
CAYoE o
A8/ 2g| 731000 00 13 33 26 28 96 104 214 160 143 183
At = 6.8 100.0 0.0 0.0 0.0 6.7 2.8 229 69 203 188 115 10.2
MU A/THOf| 67 1000 13 03 04 42 39 179 161 176 174 121 87
= 2 o o 6.0 100.0 0.8 0.3 2.7 5.0 51 283 196 159 143 4.5 3.5
7% /7 A| 631000 09 15 33 44 24 269 114 181 156 127 28
o2 L =2 6.0 100.0 1.7 1.5 8.7 10.6 39 147 135 7.3 25.2 3.8 9.2
= ol = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtpASE)
1000t Ojo| 54 1000 06 1.7 57 114 94 297 132 120 83 39 40
100~2000t9l | 58 1000 1.5 09 25 57 58 267 237 142 124 20 46
200~3000t9d | 64 1000 19 1.2 31 66 26 207 144 147 158 101 90
300~4000t9 | 69 1000 00 04 35 24 33 173 117 216 197 95 107
400~600t | 68 1000 08 00 11 39 49 180 146 176 175 105 109
6000 Of At 7.1 100.0 0.0 0.8 0.9 3.0 0.7 213 6.7 17.8 250 16.0 7.9
2024'3 Hetde G APBIRAL
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2 - 1. 4ol TE M= - (4) Y YE
(Tl &, %)
SR i

= =z 0 | 12 | 2 | 33 | 43 |53 | 61 | 72 | 81 | 9% | 10
2 0 2 4 G| 44 1000 51 65 119 152 81 213 118 101 53 23 25
2023 4| 431000 88 70 99 115 100 237 96 83 53 27 32
202 2 W| 471000 42 48 91 124 84 296 90 99 69 34 22
<A E
= =l 45 100.0 36 46 164 173 67 188 109 102 6.2 28 24
A s 441000 61 78 88 137 90 230 125 100 47 20 25
CH "
Lt 2| 44 1000 44 65 141 145 89 207 114 91 57 20 26
ol 2| 451000 58 65 94 159 71 220 123 111 49 27 24
Coy e
15~294| 431000 71 90 104 155 66 187 130 79 59 33 26
30~394| 521000 51 75 90 82 53 170 86 190 78 90 34
40~49A]| 461000 22 63 91 189 64 277 121 80 46 11 36
50~5094| 46100 59 55 113 138 106 193 90 133 50 16 48
60A O A| 421000 50 61 140 157 84 218 133 83 50 15 09
654 O A| 421000 54 63 153 147 92 188 134 93 54 15 09
<o oEoE
2 Z o 3§t 44 100.0 49 6.1 136 143 83 226 129 86 48 1.7 23
il = 46 100.0 44 57 116 159 93 188 11.0 102 75 29 27
If & o 4 43 1000 65 84 96 153 58 230 115 122 28 24 24
(Z oA E)
| =z 43 1000 63 75 129 161 77 199 109 53 69 30 36
B o 2t ool 441000 52 63 113 160 78 217 123 112 36 23 24
Ab® /o & 471000 32 61 125 113 95 219 115 121 87 17 15
BAEEE>
2 A 44 1000 50 70 115 157 86 206 127 10.1 44 23 21
Alo! Ol HEA RS 46 1000 52 57 125 140 71 226 10.2 101 7.1 23 32
EEEE
A2 /e 431000 109 59 133 137 73 92 175 126 44 28 23
A o| 461000 31 102 105 11.4 16 257 173 120 26 14 45
MU A/THOf| 42 1000 64 70 83 194 86 226 119 99 14 30 16
= a3 of o 451000 22 71 140 130 96 225 122 96 73 13 1.1
' 5/ 7 A 46 1000 40 59 97 183 69 237 113 91 39 37 36
o2 L =2 39 100.0 93 64 144 177 182 89 81 90 46 16 1.7
= ol - 00 00O 0O 00 00 OO OO 00 00 00 00 00
GPRASE)
1000t oot | 45 1000 40 48 139 154 89 192 121 97 84 23 1.2
100~2009t9d | 43 1000 28 62 150 158 111 203 144 99 15 07 24
200~3000t9 | 44 1000 55 89 112 142 87 180 122 91 65 29 29
300~4000t% | 45 1000 7.6 51 74 148 73 276 98 1.4 36 47 08
400~6000t% | 45 1000 50 43 155 156 75 193 107 99 62 15 46
6000 Of At 44 1000 48 113 70 154 46 249 128 108 49 1.2 2.3
20243 Hetdz FYT ARIZAL
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2 - 2. YEMHA BEE - (1) 0|8 92|
(EHQ] : 3, %)
_(?_J
J o8 o8
- 2 S Al GtA _ S
o8 act | 2 | we | oe | xz [ X2 | sza| oz | ser | gt
A " i g-olgy = E| T o
2 0 2 4 G| 35 1000 840 1000 354 490 84 42 22 08 00 160
202 2 4W| 22 1000 823 1000 358 491 68 59 12 11 01 177
CA Yo
= = 3.4 100.0 884 100.0 35.8 50.2 10.2 1.9 1.5 0.5 0.0 11.6
A = 3.6 100.0 81.0 100.0 35.1 48.2 7.1 6.0 2.7 1.0 0.0 19.0
<N o
= At 3.4 100.0 80.2 100.0 37.1 47.2 9.4 4.6 1.5 0.2 0.0 19.8
o At 3.5 100.0 88.1 100.0 33.6 50.9 7.4 3.9 2.8 1.3 0.0 11.9
CoH e
15~294| 34 1000 688 1000 488 355 85 00 53 18 00 312
30~39A| 33 1000 785 1000 306 371 109 169 45 00 00 215
40~ 49N 3.2 100.0 79.1 100.0 26.9 52.6 14.6 2.9 1.6 1.4 0.0 20.9
50~59 A 3.4 100.0 83.0 100.0 29.5 53.0 10.9 4.7 0.0 1.9 0.0 17.0
6 0 Al O| Af 3.7 100.0 91.8 100.0 37.7 51.5 5.2 3.4 2.1 0.0 0.0 8.2
6 5 Al O| Af 3.7 100.0 942 100.0 36.5 541 3.7 3.4 2.4 0.0 0.0 5.8
ooy
2 Z o 3§t 3.7 100.0 92.2 100.0 35.3 53.4 4.7 3.4 3.2 0.0 0.0 7.8
i = 3.4 100.0 79.0 100.0 37.8 47.7 7.3 4.8 0.9 1.4 0.0 21.0
If & o 4 3.2 100.0 78.5 100.0 31.7 43.0 17.0 49 2.1 1.3 0.0 21.5
CE QAR )
0| = 3.4 100.0 69.2 100.0 42.6 38.6 9.3 2.8 5.6 1.1 0.0 30.8
Bl o 2t 9 | 34 1000 889 1000 342 502 96 42 10 08 00 111
At &/ o] & 3.7 100.0 86.4 100.0 31.9 55.5 3.6 5.7 2.8 0.5 0.0 13.6
(BHES
Z| %) 3.5 100.0 826 100.0 33.3 50.1 9.3 5.2 1.2 0.9 0.0 17.4
Alo! Ol HEA RS 3.6 100.0 86.6 100.0 39.1 47.2 6.7 2.4 4.0 0.5 0.0 13.4
CAYoE o
A 9/ 2a| 34 1000 886 1000 290 487 114 98 12 00 00 114
At = 3.2 100.0 84.4 100.0 30.0 40.2 11.2 7.8 7.2 3.6 0.0 15.6
MH A/THOf| 34 1000 777 1000 299 490 131 60 09 12 00 223
= 2 o o 3.6 100.0 90.0 100.0 38.5 52.2 4.7 3.4 0.6 0.5 0.0 10.0
25 /71 A 3.2 100.0 746 100.0 29.1 55.0 11.8 3.1 0.0 1.0 0.0 25.4
o2 L =2 3.8 100.0 73.2 100.0 39.6 45 4 9.2 5.8 0.0 0.0 0.0 26.8
= ol = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtRASE)
10082l 0O]aF 3.8 100.0 93.0 100.0 34.4 52.5 5.0 3.3 4.8 0.0 0.0 7.0
100~2009t9d | 37 1000 887 1000 388 514 52 36 10 00 00 113
200~3000t%d | 34 1000 810 1000 335 529 81 30 10 16 00 190
300~4002t% | 34 1000 780 1000 309 505 100 69 12 05 00 220
400~6000t% | 3.4 1000 817 1000 426 387 106 46 31 04 00 183
6000 Of At 3.3 100.0 84.6 100.0 29.5 50.4 12.0 4.1 1.7 2.4 0.0 15.4

2024'3 Hetde
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2 -2 9ZMHA GLEE - (2) 9 ZAHA MHEE

(T - &, %)

Ot
T = L’Iéﬁ? Al == % ozt 2E = ozt 0%
- == | U= = =

2 02 4 4 35 100.0 10.3 0.9 9.4 44.9 447 28.7 16.1
2 02 2 4 3.4 100.0 12.8 1.7 1.1 46.5 40.7 24.1 16.6
CAg oo
= = 3.4 100.0 13.4 1.7 1.7 42.8 43.9 325 1.4
A = 3.6 100.0 8.1 0.3 7.8 46.5 45.4 25.9 19.5
< 4 )
Lt 2t 3.4 100.0 12.4 0.9 11.5 45.8 419 26.2 15.7
ol 2t 3.5 100.0 8.3 0.9 7.4 441 47.6 31.2 16.4
AP E
15~294A 3.4 100.0 10.6 2.1 8.5 47.9 41.6 30.0 1.5
30~39A4A 33 100.0 16.3 2.4 13.9 49.4 34.3 23.2 1.1
40~ 49N 3.2 100.0 15.2 0.0 15.2 56.1 28.7 17.4 11.3
50 ~59 A 3.4 100.0 11.6 1.0 10.6 46.6 41.7 28.2 13.5
6 0AN o A 3.7 100.0 7.4 0.6 6.9 39.6 53.0 326 20.3
65 AN o 4 3.7 100.0 7.5 0.7 6.8 37.0 55.5 35.2 20.4
<53 E
2 Z o 3§t 3.7 100.0 5.8 0.4 55 40.6 53.6 324 21.1
i = 34 100.0 11.6 1.0 10.6 46.2 42.2 28.7 13.5
If & o 4 3.2 100.0 16.7 1.7 15.1 50.9 324 21.8 10.5
CZOIAENES
] z 34 100.0 11.3 2.2 9.1 47.6 411 27.2 13.9
Hf 2 2t Q! S 3.4  100.0 11.4 0.5 10.9 46.3 42.3 28.1 14.2
At &/ o] & 3.7 100.0 59 0.9 49 37.5 56.6 32.2 24.4
(BAHESE>
Z| %) 3.5 100.0 11.4 0.5 10.9 46.4 42.2 26.9 15.3
Aot I Hpsis 36 1000 8.3 1.6 6.7 42.2 49.4 32,0 17.4
<A Y 80
A2 /2 g 34  100.0 16.9 0.0 16.9 43.4 39.7 20.3 19.4
At = 3.2 100.0 20.7 0.0 20.7 43.1 36.2 29.3 6.9
M H| A /ot oOf 3.4 100.0 9.4 1.8 7.7 52.1 38.4 26.4 12.0
= 2 o o 36  100.0 7.9 0.2 7.6 42.2 50.0 29.0 21.0
21Ss /71 A 3.2 100.0 17.1 0.0 17.1 55.0 27.9 22.2 5.7
o2 L =2 3.8 100.0 2.0 0.0 2.0 37.2 60.8 38.2 22.6
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tt L5E
10089l oot 38  100.0 5.9 0.4 55 36.5 57.7 338 23.9
100~2008tg] 3.7 100.0 8.8 0.0 8.8 34.7 56.5 335 23.0
200~3009t< 3.4 100.0 13.2 3.2 10.0 41.2 456 32.7 12.9
300~4000+ 3.4 100.0 11.9 1.3 10.6 50.2 37.9 21.8 16.1
400~6000+ 3.4 100.0 11.5 0.0 11.5 50.1 38.4 27.2 11.2
6000t O A 33 100.0 9.9 0.0 9.9 59.7 30.4 21.2 9.2
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2 - 2. 9 AH|

A Of=
— =

£ -3 &

A () Al
s A2 | oo oot 2| e | ma | 28 |Gk
2 g | oA |EZEEPRENHEI G| o | usE | oy | o= | gz | lEr
sitt |Hwct| og | = o1Z(o]
i T T N LT B o i B o
Azt | oy = | e
2 0 2 4 W 1000 66 70 152 79 1/6 139 32 164 122 00
2022 4| 1000 100 47 114 74 90 234 74 127 134 08
CA Y
= = 100.0 4.0 10.9 13.0 8.8 19.3 14.2 2.9 11.7 15.3 0.0
A = 100.0 9.9 2.2 17.8 6.8 15.5 13.5 3.7 22.3 8.3 0.0
¢ i g )
= At 100.0 7.2 7.8 13.7 10.1 19.8 11.8 3.6 14.5 11.7 0.0
o At 100.0 5.8 5.8 17.5 4.3 14.1 17.3 2.7 19.6 12.9 0.0
CH P
15~29 4 1000 00 86 212 111 86 304 00 202 00 00
30~39A| 1000 78 00 162 78 162 149 00 214 156 00
40~ 49 A 100.0 13.1 0.0 22.3 6.3 11.8 9.3 0.0 16.4 20.7 0.0
50~594| 1000 72 100 62 100 191 147 51 145 132 00
6 0 Al O| Af 100.0 4.3 11.1 15.1 6.2 23.3 10.1 6.1 14.7 9.2 0.0
6 5 Al O| At 100.0 3.7 11.7 13.7 7.7 24.8 10.8 6.2 11.6 9.7 0.0
Cote gy
2 Z o 3§t 100.0 2.8 12.6 14.3 2.5 23.9 9.3 8.1 18.4 8.1 0.0
ini Z 100.0 9.5 7.5 18.1 12.5 16.3 11.2 3.1 12.7 9.1 0.0
If Z o 4 100.0 6.2 2.6 12.5 6.6 14.6 20.1 0.0 19.2 18.3 0.0
CE QAR )
0| =z 100.0 7.7 7.7 21.9 10.9 8.1 19.1 0.0 10.9 13.6 0.0
Bl o 29 e 1000 59 60 145 81 207 134 24 184 106 00
At &/ O & 100.0 9.7 12.2 6.2 0.0 15.6 7.0 15.3 14.2 19.7 0.0
(BHES
Z| o 100.0 5.9 6.8 13.3 9.2 19.8 129 3.5 16.4 12.2 0.0
Aol D HpEREE | 1000 84 74 197 46 123 162 27 166 121 00
CH Qo
A8 /3| 1000 45 00 211 85 124 169 00 182 184 00
At = 100.0 12.0 0.0 5.3 17.3 9.4 13.7 0.0 21.6 20.7 0.0
M A/THof| 1000 38 123 107 38 200 230 47 92 124 00
= a3 of of 1000 27 159 88 109 308 39 75 118 77 00
25 /71 A 100.0 8.0 3.7 16.2 7.4 22.0 10.7 3.7 22.0 6.3 0.0
oS =2 100.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtRASE)
1000t9 ojot| 1000 109 140 70 162 147 78 00 38 256 00
100~2000t9l | 1000 00 167 123 00 220 78 93 202 117 00
200~3000t9l | 1000 71 69 176 90 193 176 14 173 38 00
300~4000tg | 1000 89 15 65 98 183 132 63 181 174 00
400~600Tt% | 1000 72 00 285 106 129 98 20 156 134 00
6000t O[Ar| 1000 51 130 91 00 187 264 00 190 88 00
20243 HEILE FOHR ALG|ZAf
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= o =
O AT s arer| gmEa | vz S L
Ct C=T

202 4 4 700.0 56.4 7.1 493 436 40.4 3]
202 2 4 100.0 62.3 9.4 528 377 351 2.6
CA e E

= = 100.0 58.9 8.6 50.2 411 38.4 2.7
A o 100.0 54.8 6.1 48.7 45.2 41.8 3.4
<A o

= At 100.0 55.7 6.0 49.6 443 40.7 3.6
of 2t 100.0 57.3 8.3 49.0 42.7 40.1 2.7
o g

15~209 A 100.0 69.3 6.8 62.5 30.7 28.0 2.8
30~394 100.0 76.6 11.9 64.8 23.4 213 2.0
40~ 49 A 100.0 61.8 11.1 50.7 38.2 36.9 1.3
50~509 A 100.0 526 6.4 463 47.4 437 37
60AM O A 100.0 48.6 5.4 432 51.4 476 38
65 AN o 4 100.0 49.2 5.6 43.6 50.8 46.8 4.0
<o oE o

=z = o 3 100.0 51.7 6.2 455 483 44.4 3.9
il Z 100.0 56.7 7.7 49.0 433 40.0 3.3
If & o 4 100.0 63.4 7.7 55.7 36.6 35.0 1.7
(BoIAbEE)

0| =z 100.0 64.9 8.6 56.3 351 32.6 2.5
Hf 2 A} U & 100.0 53.4 7.1 46.3 46.6 43.0 3.6
At/ o & 100.0 55.9 53 50.6 441 41.7 2.4
VLD

Z| o 100.0 547 7.4 474 453 41.8 34
A QI WA 100.0 59.8 6.6 53.1 40.2 37.7 26
EEER

A2/ g 100.0 523 4.1 48.2 477 429 4.7
A o 100.0 78.6 16.2 62.4 21.4 19.7 1.7
A H] A /o Of 100.0 488 9.7 39,2 51.2 48.7 2.5
w2 o o 100.0 51.7 6.5 45.2 48.3 44.1 42
s /7 A 100.0 58.6 4.7 53.9 41.4 38.2 3.2
= 100.0 55.7 3.9 51.8 44.3 405 3.9
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R EPELTR

1000tSl O|at 100.0 54.9 5.8 49.2 45.1 41.0 4.0
100~2000H 100.0 56.2 58 50.4 438 40.0 38
200~3008+S 100.0 50.1 7.0 432 49.9 458 4.0
300~4008+S 100.0 55.3 5.1 50.1 447 427 2.1
400~6000+ 100.0 64.1 115 527 359 324 3.4
6000t Of A 100.0 57.4 6.2 512 426 417 0.9
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2 - 4. AZEAY ASHE

(EH = %, B)

T = Al AL mR olg) BCE

2 02 4 4 100.0 92.5 4.3 7.5
2 02 2 4 100.0 91.0 4.5 9.0
CA g &

= = 100.0 93.2 3.9 6.8
N =l 100.0 92.0 4.6 8.0
< ==

=1 At 100.0 90.9 4.6 9.1
q At 100.0 94.3 4.1 5.7
CH Yo

15 ~29 KA 100.0 95.1 5.7 4.9
30~ 394 100.0 96.2 4.3 3.8
40~ 494 100.0 90.3 5.0 9.7
50~59MA 100.0 90.8 4.6 9.2
6 0 M O A 100.0 92.5 3.6 7.5
65 AN O A 100.0 92.1 3.5 7.9
<o

2 Z 0o 3 100.0 92.4 3.7 7.6
nl Z 100.0 91.0 4.6 9.0
I & o Af 100.0 95.0 5.0 5.0
(ZALEHES

]l z 100.0 91.0 5.1 9.0
Hi 2 A 9 & 100.0 93.9 4.4 6.1
A" /O = 100.0 89.8 3.1 10.2
(BAHEFE>

2| o 100.0 92.4 4.5 7.6
Ao} 4l HEA RIS 100.0 92.7 4.0 7.3
N T - I

J 2 /1 g 100.0 96.4 5.7 3.6
At = 100.0 94.1 5.2 5.9
A H| A/ o Of 100.0 93.3 4.6 6.7
= 2 o o 100.0 93.3 3.8 6.7
7l 5/ 71 A 100.0 89.1 5.0 10.9
Ot & L =2 100.0 84.5 3.9 15.5
= ol 0.0 0.0 0.0
Ot a2s5ED

1008t Ojar 100.0 89.7 3.0 10.3
100~2004H 100.0 91.5 3.8 8.5
200~3008t 100.0 91.5 3.8 8.5
300~4000t¢ 100.0 91.7 4.3 8.3
400~6000r 100.0 94.7 5.0 5.3
6000 Of At 100.0 96.4 6.3 3.6
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2 -5 3FA A4 - (1) M2 M2 Z ¢¥3 U= ot

(T2l = %)
. .
7 & A | an | am | oo |®sec| o | oa | ooe
ot | moitt Ol | 2=

202 4 4 100.0 216 75 741 28.0 50.4 36.9 135
2@ 2 2 100.0 256 75 18.0 315 43.0 2738 15.1
<A oEH
= = 100.0 11.0 2.9 8.0 255 63.5 46.3 17.1
A = 100.0 28.8 10.6 18.1 29.6 41.6 30.5 11.1
¢ i o )
= At 100.0 26.4 9.4 17.0 30.0 43.6 31.7 11.9
o At 100.0 16.3 5.5 10.8 257 57.9 42.7 15.3
oy
15~209 A 100.0 33.0 218 1.2 39.1 27.8 215 6.4
30~39A 100.0 456 12.2 335 218 326 32,6 0.0
40~ 49 A 100.0 37.2 10.1 271 33.9 28.9 26.0 2.9
50~509 A 100.0 25.1 7.2 17.9 313 436 345 9.1
60AM O A 100.0 6.8 15 53 222 70.9 47.2 23.7
65A O A 100.0 56 0.8 48 19.9 745 486 25.9
<ot w
2 Z o 3§t 100.0 11.7 4.8 6.9 20.7 67.6 46.0 21.6
i Z 100.0 28.0 8.2 19.8 28.4 43.6 335 10.1
= o A 100.0 27.6 10.9 16.7 387 33.7 27.8 5.9
(EANEE
0| =z 100.0 35.4 16.3 19.1 31.6 33.0 28.2 4.9
B o 2t Qe 100.0 18.8 6.1 12.8 29.1 52.1 384 13.6
A /o B 100.0 13.5 1.4 12.1 19.8 66.6 42.7 24.0
BHYE D
Z| o 100.0 23.0 7.4 15.6 27.5 49.5 36.2 13.2
Alo] O HpREIS 100.0 18.8 7.8 11.0 29.0 52.2 38.1 14.0
TR
A2/ g 100.0 20.0 6.7 13.3 42.4 37.6 305 7.1
A =} 100.0 31.2 13.4 17.8 29.3 39.4 37.0 2.4
M H A /T oy 100.0 20.2 7.7 12.5 315 48.3 385 9.9
= 23 of o 100.0 8.4 1.5 6.9 19.4 72.2 47.2 25.1
s /7 A 100.0 49.7 16.0 33.7 235 26.8 21.4 5.4
o2 L oo 100.0 333 7.6 25.7 35.4 31.3 20.4 10.9
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
P}
10009l O|ot 100.0 9.3 2.8 6.5 18.2 72.5 49.1 23.4
100~2000t8l 100.0 121 36 85 21.4 66.5 432 23.3
200~3008+ 100.0 215 46 16.9 27.2 51.3 39.7 11.6
300~4009t% 100.0 315 12.7 18.7 27.8 40.8 28.4 12.4
400~6009H 100.0 295 121 17.4 347 35.8 311 47
6000t O] A 100.0 20.7 75 13.2 386 40.7 31.6 9.1
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2 -5 FFA A4 - (2) FUOIM LofLt= Lol T At o]of7| L}

(T2l = %)
7 & A | o | ey | ee | ESOlTH| 2wtk | om | oo
; 2 o molct | a3t
it | moict

202 4 4 100.0 311 3.1 8.0 32.4 365 271 9.3
2@ 2 2 100.0 36.4 12.8 236 285 35.1 217 13.4
CA A
= =l 100.0 20.8 6.3 14.6 33.8 45.4 34.4 11.0
A = 100.0 38.0 17.7 20.3 31.5 30.5 22.3 8.2
<A o )
=k At 100.0 35.8 16.8 19.0 34.9 29.3 21.7 7.6
ol 2t 100.0 25.9 9.1 16.8 29.7 44.4 332 11.2
oy
15~209 A 100.0 39.0 29.4 95 421 18.9 16.3 26
30~39A 100.0 57.2 215 357 336 9.2 9.2 0.0
40~ 49N 100.0 48.8 22.6 26.2 32.5 18.7 17.4 1.4
50~59M4A 100.0 38.4 13.2 252 30.3 31.4 24.8 6.6
6 0AN o A 100.0 14.6 3.3 11.3 30.1 55.2 38.2 17.1
65 AN o 4 100.0 12.3 2.9 9.5 29.2 58.5 40.0 18.5
<ot w
2 Z o 3§t 100.0 18.5 6.2 12.3 295 52.0 36.1 15.9
i Z 100.0 39.2 16.4 22.8 31.0 299 235 6.3
If Z o 4 100.0 38.6 19.1 19.5 39.3 221 18.5 3.6
(EAAE
0| =z 100.0 42.8 25.6 17.2 36.0 21.3 17.9 3.3
Hf 2 A} U & 100.0 294 10.8 18.6 32.2 38.4 28.6 9.8
At &/ O & 100.0 22.0 5.1 16.9 28.8 49.2 33.9 15.3
BHYE D
2 A 100.0 31.6 13.8 17.8 31.7 36.8 27.7 9.0
Ao Ol WIS 100.0 30.2 11.8 18.4 33.9 35.9 26.0 10.0
KR
A2 /7 o g 100.0 33.1 15.9 17.2 34.4 325 299 2.6
At = 100.0 48.8 25.6 23.2 27.8 23.3 19.3 4.0
M H| A /I Oj 100.0 29.6 10.7 18.9 39.4 31.0 24.6 6.3
= 23 of o 100.0 12.5 2.9 9.6 27.6 59.9 42.4 17.5
s /7 A 100.0 60.8 29.3 315 24.9 14.3 11.2 3.1
ot &2 L =2 100.0 34.9 21.6 13.4 39.6 255 16.1 9.4
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
P}
10009l O|ot 100.0 17.1 4.7 12.5 29.4 535 40.4 13.1
100~2000t8l 100.0 18.0 5.4 12,6 34.0 47.9 30.2 17.7
200~3008+ 100.0 26.7 115 15.2 35.4 37.9 30.7 7.2
300~4009H 100.0 43.9 19.4 245 25.0 311 21.8 9.3
400~6009H 100.0 40.3 17.9 22.4 35.6 24.2 20.1 4.0
6000t O] A 100.0 36.9 18.4 18.5 35.3 27.8 20.7 7.1
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2 - 5. BSH 94 - (3) oL Yol Yo MZ ¥ EECH

(T2l = %)

. .
7 & A | an | am | oo |®sec| o | oa | ooe
uTt | ot 2oler | 2=

202 4 4 100.0 245 10.5 14.0 33.4 22.0 30.7 1.4
2@ 2 2 100.0 28.3 9.6 18.7 32.9 3858 256 13.2
<A oEH
= =l 100.0 12.6 4.4 8.2 31.5 55.9 40.6 15.4
A = 100.0 32.6 14.6 18.0 34.7 32.7 24.0 8.7
<A o )
=k At 100.0 29.3 12.9 16.4 33.6 37.2 27.7 9.5
o At 100.0 19.3 7.9 11.4 33.2 47.4 33.9 13.5
oy
15 ~29MA| 100.0 40.3 231 17.2 33.2 26.5 241 2.5
30~39A 100.0 39.3 17.9 21.3 45.0 15.7 139 1.9
40~ 49N 100.0 39.8 20.6 19.2 37.4 22.8 21.1 1.7
50~509 A 100.0 30.2 7.9 22.4 347 35.0 25.4 9.6
6 0AN o A 100.0 9.2 3.1 6.2 29.4 61.4 41.4 19.9
65A O A 100.0 7.9 2.5 5.4 27.4 64.7 43.4 21.3
<ot w
2 Z o 3§t 100.0 15.6 5.2 10.4 26.8 57.6 39.6 18.0
il = 100.0 294 13.6 15.7 35.0 35.7 27.6 8.1
If & o 4 100.0 31.3 141 17.2 41.5 27.2 21.3 5.9
(EAAE
0| =z 100.0 37.5 22.8 14.7 32.5 30.0 25.0 4.9
B o 2t Qe 100.0 22.5 7.7 14.8 346 42.8 31.4 11.4
A /o B 100.0 15.0 4.4 10.6 305 54.5 35.3 19.2
BHYE D
2 A 100.0 25.0 10.9 14.2 33.0 42.0 30.3 11.7
Alo] O HpREIS 100.0 236 9.9 13.8 343 42.1 31.4 10.8
TR
Mo/ g 100.0 30.1 8.4 21.7 433 26.6 23.4 3.2
At = 100.0 37.5 16.6 20.9 35.0 275 25.0 2.5
M H| A /I Oj 100.0 19.7 10.7 8.9 37.1 432 36.0 7.2
= 23 of o 100.0 9.0 2.4 6.5 22.8 68.3 44.2 24.0
s /7 A 100.0 53.8 25.2 28.5 304 15.8 9.8 6.0
b2 L oo 100.0 27.4 13.2 14.2 54.4 18.2 106 7.7
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
P}
1000te O|at 100.0 11.9 4.2 7.7 27.1 60.9 42.0 19.0
100~2000t8l 100.0 136 6.0 76 25.8 60.6 37.8 22.8
200~3000t% 100.0 20.7 8.5 12.2 35.1 44.2 34.4 9.9
300~4009H 100.0 29.5 15.7 13.9 37.7 32.7 223 10.5
400~6009H 100.0 37.9 15.2 22.8 34.0 281 243 38
6000HS] O] At 100.0 29.6 11.6 18.0 40.4 29.9 25.2 4.7
2024 FEILIE HOLR ALS|RAf

- 140 -



2 - 5 35A oA - (4) SUIO 23 WGt BYY HINO= Holfict

ELER
7 & A | o | ey | ee | ESOlTH| 2wtk | om | oo
s z A mojct | a3t

itk | ol
2 0 2 4 4 100.0 35.8 18.9 16.9 30.2 34.0 209 13.1
202 2 4 100.0 42.1 18.7 23.4 26.1 31.8 18.7 13.1
<29
= = 100.0 19.6 7.4 12.2 30.7 49.7 291 20.6
M = 100.0 46.7 26.6 20.1 29.9 23.4 15.4 8.1
<A o )
= At 100.0 40.5 225 18.0 31.2 28.3 18.2 10.0
o At 100.0 30.6 14.8 15.7 291 40.3 23.8 16.5
oy
15~209 A 100.0 47.9 35.8 12.1 37.7 14.4 12.0 2.4
30~39A 100.0 62.5 32,6 29.9 27.4 10.1 7.0 3.1
40~ 49 A 100.0 56.4 35.6 20.8 29.8 13.8 10.8 3.0
50~509 A 100.0 44.8 19.9 24.8 29.3 25.9 1822 7.8
6 0AN o A 100.0 16.2 5.0 11.1 29.0 54.9 30.8 241
65 AN o 4 100.0 13.1 3.5 9.6 27.5 59.5 33.2 26.3
-
=z =z o 3 100.0 21.2 10.0 11.2 28.0 50.8 28.9 22.0
i Z 100.0 42.3 24.0 18.3 33.0 24.8 16.8 8.0
= o A 100.0 489 25.1 23.7 29.7 21.5 14,5 7.0
(EAAE
0| =z 100.0 49.7 36.1 13.6 31.8 18.5 13.6 4.8
Hf 2 A} U & 100.0 335 15.4 18.1 30.0 36.5 23.3 13.2
A /o B 100.0 25.8 8.8 17.0 29.2 45.0 22.1 22.9
SR
Z| o 100.0 36.3 18.6 17.7 295 34.2 209 13.3
Alo] O HpREIS 100.0 34.9 19.4 15.4 31.7 335 20.8 12.7
-
Mg g 100.0 54.3 215 3238 26.5 19.2 11.9 7.2
At = 100.0 59.5 28.9 30.6 249 15.6 10.2 5.4
M H A /T oy 100.0 35.9 18.6 17.3 329 31.1 236 7.5
= 3 of o 100.0 9.7 2.5 7.1 29.1 61.2 328 28.5
s /7 A 100.0 63.2 395 23.7 24.7 12.1 8.8 33
o2 L oo 100.0 4.5 26.8 14,7 41.2 17.3 11.6 5.7
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R EFETP
10009l O|ot 100.0 20.1 7.8 12.3 287 51.2 29.2 22.0
100~2000t8l 100.0 16.9 7.4 9.5 28.8 54.3 27.9 26.4
200~3008+ 100.0 31.4 15.2 16.1 32.3 36.3 25.9 10.4
300~4000r 100.0 453 28.3 17.1 27.2 27.5 16.6 10.8
400~6000t% 100.0 47.4 27.1 20.3 337 18.9 12.7 6.2
6000t O] A 100.0 51.6 24,6 27.0 29.2 19.3 14.0 53
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2 - 6. AZEAAMHIA UHZE - (1) Y4l-S4H-F010 CiTH Z2|7t & A5 E
(B9l = A, %)
o o=z | A | ax 2
?® lome| A | n | Sun| ge [EOH 23 mot | ey [2ER0H
ot | moirt : ¥
202 4 4 32 1000 117 36 81 372 261 216 45 250
202 2 4 30 1000 207 74 136 335 211 166 45 247
EICER
= = 3.1 100.0 13.3 4.3 9.1 44.6 253 23.4 1.9 16.8
A = 3.3 100.0 10.5 3.1 7.4 32.1 26.6 20.4 6.2 30.7
CHog
= At 3.2 100.0 11.1 3.7 7.3 35.2 251 21.4 3.7 28.6
o At 3.2 100.0 12.4 3.4 8.9 39.5 27.1 21.8 5.3 21.0
Co oo
15~29 4 30 1000 174 58 117 395 191 176 15 239
30~3094 30 1000 188 106 83 454 227 196 31  13.1
40~ 49N 3.2 100.0 13.6 25 11.1 37.1 241 19.4 4.7 252
50~509 A 32 1000 109 39 71 380 245 179 66 266
6 0AN o A 3.3 100.0 8.8 2.1 6.8 349 295 253 4.3 26.7
65 AN o 4 3.4 100.0 7.5 1.6 5.9 35.6 30.1 253 4.8 26.9
Cot e
2 Z o 3§t 3.4 100.0 7.5 1.6 5.9 35.2 30.0 253 4.7 27.3
i = 3.2 100.0 12.0 4.4 7.5 36.5 24.8 20.3 4.4 26.7
If & o 4 3.1 100.0 17.0 5.1 11.9 411 22.6 18.4 4.2 19.3
o E>
0| = 3.1 100.0 12.3 3.9 8.4 37.6 22.0 20.0 2.0 28.1
Hj © 2t 9 32 1000 127 40 88 373 269 216 53 230
A /o & 33 1000 76 20 56 366 273 232 41 285
EHEEE
EY of 32 1000 127 43 84 388 246 202 44 239
Aol O RS 33 1000 94 20 74 337 295 248 47 274
CH Yo
YR 32 1000 131 25 105 375 280 213 67 215
At = 29 100.0 18.3 8.7 9.5 46.6 19.6 16.7 2.9 15.5
A H| A /T Of 32 1000 131 22 109 403 275 203 72 192
w2 o o 31 1000 119 56 62 413 242 212 30 227
NS /7 A 32 1000 101 48 54 284 235 205 30 380
oA L O 31 1000 139 17 122 399 191 170 21 271
= ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
REPETE
1009t9 oot 34 1000 64 17 47 337 310 267 43 289
100~2008t8l 32 1000 90 13 77 403 238 216 22 269
200~3000+ 32 1000 144 51 93 393 264 209 55 199
300~4000+ 33 1000 104 06 98 323 267 221 46 305
400~6000+ 30 1000 157 73 84 426 225 199 26 192
6000+Sl O|Af 32 1000 129 5.1 78 334 264 179 85 273
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2 - 6. M EAAMUIA UHZE - (2) FHYAISO CHS APt A AlSE
(B9l = A, %)
. | w2 297 | #s | 23 3
TE Jezas| A gn | aga| ge |FEOH) 2R S8 1 ME o=
tt | moirt : ¥

202 4 4 35 1000 87 18 69 332 378 287 91 202
202 2 4 35 1000 102 27 74 261 417 304 113 221
EICER
= = 3.5 100.0 6.7 1.4 5.3 35.9 44.3 36.5 7.8 13.1
M o 34 1000  10.1 20 81 314 333 232 101 252
CHoE
Lt 2t 34 1000 93 20 73 326 345 273 72 236
o 2t 35 1000 81 15 66 340 414 302 113 165
Co oo
15~29 4 32 1000 96 40 56 397 250 200 50 257
30~3094 32 1000 173 20 153 361 280 234 47 185
40~ 49N 3.2 100.0 13.1 25 10.6 36.4 26.1 18.5 7.6 24.4
50~509 A 34 1000 106 20 86 363 325 228 97 206
6 0AN o A 3.7 100.0 4.6 0.9 3.7 28.9 48.6 375 11.1 17.9
65 AN o 4 3.7 100.0 4.1 0.7 3.4 29.0 49.5 37.8 11.7 17.4
Cot e
2 Z o 3§t 3.7 100.0 4.6 0.5 4.2 291 47.5 37.0 10.5 18.7
i = 3.4 100.0 11.6 2.8 8.8 32.7 33.0 245 8.5 22.6
If & o 4 3.3 100.0 9.9 2.0 7.9 39.7 31.6 23.4 8.2 18.7
o E>
0| = 3.3 100.0 9.7 2.0 7.7 34.3 31.9 25.6 6.3 241
Hj © 2t 9 35 1000 85 18 67 337 379 280 99 199
A /o & 35 1000 84 12 71 308 434 338 96 175
EHEEE
Z| %) 3.4 100.0 10.2 23 8.0 33.8 36.6 27.9 8.7 19.4
Alo! Ol HEA RS 3.6  100.0 5.2 0.6 4.6 32.0 40.6 30.4 10.2 221
CH Yo
A2/ g 35 1000 86 10 76 341 390 298 92 183
At = 3.3 100.0 16.1 1.3 14.8 27.2 39.1 32.2 6.8 17.6
A H| A /T Of 34 1000 115 23 93 360 355 230 125 170
w2 o o 35 1000 61 22 39 348 437 351 86 154
NS /7 A 31 1000 140 42 99 308 229 182 47 323
oA L O 33 1000 117 10 107 358 329 264 64 197
= ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
REPETE
1009t9 oot 37 1000 50 13 37 259 513 380 133 178
100~2008t8l 34 1000 55 08 47 373 370 318 51 202
200~3000+ 36 1000 64 15 49 343 422 286 135 170
300~4000+ 34 1000 105 12 93 296 318 248 70 28/
400~6000t 32 1000 144 18 126 403 282 216 66  17.1
6000+Sl O|Af 34 1000 96 47 48 304 378 295 83 222
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- o " 500t 505._"'9'._J 'IOO~.':'_|"?'._J 200~.':'_|"?'._J :'3OO~.':'_|"9'._J ArC)()~.':'_|"?'._J 5OO~.':'_|'-9—._J 6005]‘-?4 700~|':'_|'-?—J 8009t
%1% 1 o0mres | 200mret | 300mHet | 400mrel| s00mHel G00RHEY | 700RIR: | B00RIEY | ¥

2 0 2 4 @ 1000 28 125 145 197 180 153 53 44 35 41
20234 1000 27 153 145 246 182 119 50 25 11 41
20224 1000 53 158 148 236 207 90 33 28 19 27
<A oE s
= = 100.0 2.9 19.1 22.8 18.2 13.1 11.5 3.0 4.2 2.2 3.0
A = 100.0 2.7 8.1 9.0 20.7 21.3 17.9 6.8 4.4 4.3 4.9
<A g )
= A 100.0 0.7 8.7 13.9 20.2 21.1 17.5 5.9 4.5 3.3 4.3
o A 100.0 5.1 16.8 15.3 19.2 14.4 13.0 4.5 4.2 3.6 3.9
o EH
15~294 1000 00 10 51 203 184 288 48 64 718 7.2
30~394 1000 00 15 87 202 330 192 86 20 15 51
40~49K 1000 08 43 45 143 254 257 93 76 61 19
50~594 1000 04 40 89 200 177 181 86 86 67 7.1
6 0AM o A 100.0 5.9 24,7 24.4 21.0 12.7 5.7 2.0 1.1 0.1 23
65A ©of A 100.0 7.5 29.7 26.7 18.9 10.3 4.2 1.0 0.3 0.2 1.2
CstoEog o
Z Z o] 3 100.0 6.8 26.8 23.6 16.4 11.1 8.9 2.6 1.4 1.0 1.3
i Z 100.0 0.0 4.8 10.0 25,5 21.2 19.4 5.1 3.2 3.5 7.3
If £ o A 1000 0.7 1.6 7.1 16.1 23.7 19.2 9.8 10.7 7.4 3.7
ST TR
0| =z 100.0 0.8 5.8 9.3 20.0 21.6 215 5.4 4.3 5.6 5.7
Bl x9S 1000 02 70 152 216 197 162 66 55 37 44
A" /o = 1000 138 387 189 132 79 50 08 08 00 10
SRR
Z| o 100.0 0.3 6.1 14.9 22.9 19.8 16.2 6.3 5.2 3.8 4.5
Alo! Ol HEA RS 100.0 7.6 24.9 13.9 13.5 14.3 13.8 3.2 2.8 2.8 3.3
EEER
A8 /e 1000 00 00 37 123 215 234 91 177 79 44
At = 100.0 0.0 3.1 6.9 14.9 21.2 17.4 6.9 6.4 12.8 10.4
MH A/THOl 1000 00 08 102 268 193 190 60 64 42 7.4
= 2 o ¢ 100.0 0.5 15.1 31.6 26.3 14.1 6.6 3.0 1.3 0.0 1.5
25 /71 A 100.0 1.0 0.0 1.1 13.7 31.7 27.5 11.5 4.1 45 4.9
b~ L 9 1000 00 112 131 417 156 107 60 00 17 00
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
trasE
1000t Oj@F 1000 182 818 00 00 00 00 00 00 00 00
100~2000t9l 1000 00 00 1000 00 00 00 00 00 00 00
200~3000t9l 1000 00 00 00 1000 00 00 00 00 00 00
300~4009t¢ 1000 00 00 00 00 1000 00 00 00 00 00
400~6000tY 1000 00 00 00 00 00 744 256 00 00 00
6008t o|Af  100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 36.5 29.1 344
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2 - 8 HZAOSHo CHSt £ - (1) Wol EA Hojl U= M

(T @ %)

CI A | S | ey | o | msoit | st | sae | ope
= P Mot} | SiCt
Lo —

202 4 4 700.0 66.6 37.3 29.4 21.0 12.4 70.8 16
2022 4 100.0 68.5 39.2 29.3 21.2 10.3 83 2.0
EEEE
= = 100.0 65.1 37.7 27.5 23.3 11.5 11.0 0.5
A = 100.0 67.7 37.0 30.7 19.4 13.0 10.7 2.3
<A o )
=k At 100.0 75.7 46.3 29.4 18.6 5.7 4.7 1.0
o At 100.0 56.6 27.2 29.4 23.5 19.8 17.6 2.3
CA o
15~209 A 100.0 63.6 38.7 249 24.0 125 9.9 26
30~39A 100.0 53.4 30.5 22.9 29.9 16.7 16.7 0.0
40~ 49N 100.0 73.1 40.3 32.8 19.8 7.0 6.5 0.5
50~509 A 100.0 64.6 35.8 28.7 20.3 15.1 10.9 4.2
6 0AN o A 100.0 68.9 37.7 31.2 19.0 121 11.4 0.7
65 AN o 4 100.0 69.0 38.2 30.7 18.5 12.6 12.0 0.5
oo ow
2 Z o 3§t 100.0 67.6 39.5 28.1 17.6 14.8 13.8 1.0
ini Z 100.0 65.5 35.6 29.8 23.1 11.4 10.0 1.4
If Z o 4 100.0 66.9 36.1 30.8 23.0 10.1 7.3 2.8
(ZolNE >
0| =z 100.0 63.4 39.9 235 26.1 10.5 9.3 1.2
B S 2 9 S 100.0 67.4 36.7 30.7 20.5 12.1 10.0 2.1
At &/ o] & 100.0 68.2 35.8 32.4 16.0 15.8 15.2 0.6
(AAES >
Z| o 100.0 69.9 38.7 31.3 19.7 10.4 9.1 1.3
Alo] O HpREIS 100.0 60.2 345 25.7 23.4 16.4 141 2.2
I
A2 /7 o g 100.0 65.5 36.5 29.0 23.7 10.9 9.8 1.0
At = 100.0 64.3 24.8 39.6 21.2 14.5 9.1 5.4
M H| A /I Oj 100.0 67.4 359 315 23.4 9.1 9.1 0.0
= 23 of o 100.0 69.3 4.8 27.5 17.8 12.9 11.9 0.9
s /7 A 100.0 76.7 4.8 34.9 15.8 7.5 5.8 1.7
o2 L oo 100.0 79.5 46.5 33.0 16.4 4.0 2.4 1.7
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
RIEPN=E
10009l O|ot 100.0 62.9 338 29.1 18.9 18.2 17.7 0.5
100~2000t8l 100.0 66.0 37.7 283 24.3 9.7 8.9 0.9
200~3008+ 100.0 57.6 33.3 243 27.1 15.3 14.0 1.2
300~4009H 100.0 75.7 42.7 33.0 16.6 7.7 5.2 25
400~6009H 100.0 70.6 37.0 336 20.5 8.8 7.4 1.4
6000t O] A 100.0 66.5 39.8 26.7 16.7 16.8 13.4 3.4
2024 Mefgde FUT ABIRAL
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2 - 8 Hamsfiof et T - (2) Woll 2 AF(FU) Z5ZS ES W
(T2l = %)
F o® A | S | ey | o | msoit | st | sae | ope
; o | moltt | it
Lo —
202 4 4 100.0 56.2 306 25.7 21.7 22.1 185 36
2022 4 100.0 59.4 33.0 26.5 218 18.7 14.0 4.7
<Aoo
= = 100.0 60.5 33.0 27.6 22.9 16.5 14.7 1.9
A = 100.0 53.3 28.9 24.4 20.8 25.9 21.0 48
g
Lt 2t 100.0 68.5 41.2 27.3 20.8 10.7 9.4 1.4
ol 2t 100.0 4.7 18.8 23.9 22,6 347 28.6 6.2
oy
15 ~29 Al 100.0 441 28.2 15.9 20.0 35.9 295 6.4
30~39A 100.0 34.4 23.4 111 21.7 43.9 37.7 6.2
40~ 49 A 100.0 51.5 27.2 24.3 27.6 20.9 16.2 4.7
50~59 A 100.0 55.4 27.8 276 241 20.5 14.8 5.7
6 0AN o A 100.0 66.0 35.0 31.0 19.1 14.9 13.9 1.0
65 AN o 4 100.0 67.0 35.7 31.3 18.9 14.1 13.2 0.9
-
2 Z o 3§t 100.0 63.9 34.5 29.3 16.8 19.3 18.0 1.4
i Z 100.0 53.2 30.2 23.0 27.2 19.7 16.4 3.3
If Z o 4 100.0 48.9 24.9 24.0 20.9 30.2 224 7.8
CZOAEl >
0| =z 100.0 52.4 32.9 19.4 20.7 26.9 23.6 3.3
B S 29 S 100.0 55.7 29.6 26.1 226 21.7 17.1 46
At &/ O & 100.0 62.9 30.8 321 19.6 17.5 16.5 1.0
SR
Z| o 100.0 59.4 32.0 27.4 21.9 18.8 15.3 3.4
Ao} @l ypElE 100.0 50.1 27.8 22.3 21.2 28.7 24.6 4.1
CH @ oEo
Mg/ g 100.0 49.4 22.8 26.6 24.9 25.7 21.9 38
At o 100.0 4.2 14.1 27.1 17.7 4.1 334 7.7
M H| A /T Oj 100.0 49.5 24.3 25.1 27.9 22.6 18.2 4.4
= 3 of o 100.0 69.5 39.2 303 18.8 11.7 10.7 0.9
s /7 A 100.0 66.3 376 28.7 19.4 14.3 10.7 3.7
oA L oo 100.0 68.2 478 20.4 20.7 11.1 56 5.4
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R EFETP
1000t Ojot 100.0 62.8 31.0 31.8 20.1 17.1 16.6 0.5
100~200t 100.0 62.8 347 28.1 238 13.3 11.9 1.4
200~3000t 100.0 51.7 315 20.2 23.3 25.0 20.0 5.0
300~4000+% 100.0 61.8 36.1 25.6 19.5 18.8 15.4 33
400~6000t% 100.0 48.4 243 24.1 25.1 26.5 21.1 5.3
600012 Of At 100.0 52.4 25.6 26.8 15.6 32.0 26.4 56
202413 FEfLE FOrR APSIRAf
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2 - 9, orMEAFo tiTt ™It - (1) AHAHAMSH(EHE, A F)

£re| 1 %)

2 = 7] 2ot e | Hax | =% ot | HmH He
=0f =0 ord ord

2 0 2 4 4 100.0 17.8 16 16.1 3822 447 411 3.0
202 2 4 100.0 145 25 12.0 42.7 428 36.2 6.6
A9
3 =) 100.0 16.2 0.5 15.7 28.1 55.8 51.9 3.9
A = 100.0 18.8 2.4 16.4 45.0 36.2 338 2.4
<A ER
Lt Zt 100.0 14.8 1.0 13.8 41.1 44,1 39.8 4.4
ol 2t 100.0 21.1 2.4 18.7 349 44.0 42,6 1.4
CH o
15~29 A 100.0 18.7 1.3 17.4 49.0 32.3 283 4.0
30~39A4 100.0 13.1 4.7 8.4 50.4 36.4 349 15
40~49K 100.0 16.3 0.5 15.8 38.3 45.4 42.8 26
50~59 A 100.0 17.7 1.8 15.8 39.1 432 39.7 35
60AM O A 100.0 18.8 15 17.4 32.1 49.1 46.3 2.8
65A O A 100.0 19.6 1.6 17.9 30.1 50.3 47.5 2.8
<8 oE g
z = o % 100.0 20.6 1.8 18.8 31.9 47.4 44,1 3.3
] = 100.0 15.6 1.6 14.0 41.4 43.0 39.8 3.2
f = o 4 100.0 16.5 1.4 15.1 43.1 40.4 384 2.1
(ZQAHENES
o| s 100.0 17.9 2.1 15.8 42.4 39.7 348 4.9
HE © 2t 9 2 100.0 18.0 1.4 16.6 38.7 432 40.6 26
A" /o & 100.0 16.7 1.8 14.9 31.1 52.2 50.5 1.7
(BAHZESE>
2| o 100.0 17.9 1.6 16.3 38.7 43.4 41.2 2.3
Aot Q1 HpREE 100.0 17.5 1.8 15.8 37.2 45.3 40.9 4.4
CH oY
=TT 100.0 136 2.0 11.6 39.6 46.8 45.7 1.0
At o 100.0 233 0.0 233 30.2 46.5 46.5 0.0
M H| A /T Of 100.0 21.1 3.2 17.9 436 35.3 337 16
= 2 of o 100.0 21.0 1.8 19.2 30.6 485 45,0 35
s /7 A 100.0 9.3 0.0 9.3 46.1 44.6 418 2.8
b2 L oo 100.0 12.8 0.0 12.8 50.1 37.1 35.0 2.2
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000+ OOt 100.0 16.3 1.3 14.9 31.3 52.4 49.8 26
100~2008+ 100.0 22.7 26 20.1 315 458 41.4 4.4
200~3000+H 100.0 18.3 2.0 16.3 426 39.1 37.3 1.8
300~4000+ 100.0 16.1 3.4 12.7 39.9 44.0 40.6 3.3
400~6000+ 100.0 17.0 0.0 17.0 38.4 44.6 415 3.1
6000rS Of At 100.0 16.6 0.6 16.0 44.8 386 35.8 2.8
20244 HMefde FYUT ALRIZRAL
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2 -9, QrMBFo CHS HIt - (2) AZE L MLE(FH, 1T

£re| 1 %)

T = Al =0 0f-2 H|w A 2% orH H| A i<
=0f =0 ord ord

2 0 2 4 4 100.0 115 1.4 10.1 42.4 46.2 43.0 32
202 2 4 100.0 15.4 1.7 13.7 35.3 493 42.0 7.3
A9
= =) 100.0 9.3 0.9 8.4 34.0 56.7 52.9 38
A = 100.0 12.9 1.7 11.2 48.0 39.1 36.3 2.7
<A ER
Lt Zt 100.0 9.2 1.4 7.9 436 47.2 42.9 4.3
ol 2t 100.0 14.0 1.4 12.6 41.0 450 432 1.9
CH o
15~29 A 100.0 10.0 1.3 8.7 55.1 34.9 30.9 4.0
30~39A4 100.0 10.0 1.6 8.4 55.4 346 33.0 15
40~49K 100.0 13.2 0.5 12.7 43.2 436 411 26
50~59 A 100.0 13.8 2.9 10.9 40.7 455 413 4.2
60AM O A 100.0 10.6 1.0 9.6 36.4 53.0 50.1 2.9
65A O A 100.0 9.8 0.8 9.0 35.6 54.6 51.7 2.9
o g
z = o % 100.0 10.9 0.9 10.0 37.8 51.4 476 38
] = 100.0 10.9 2.0 8.8 455 43.7 40.9 2.8
f = o 4 100.0 13.4 1.2 12.2 44.9 1.7 39.0 2.7
CZOIAEfED
o| s 100.0 11.6 1.6 10.0 46.4 42.0 37.5 45
HE © 2t 9 2 100.0 11.6 1.3 10.4 43.0 45.4 42,6 2.8
A" /o & 100.0 10.8 15 9.3 35.3 53.9 51.2 26
(BAHZESE>
2| o 100.0 12,6 1.3 11.3 417 45.7 433 2.3
Aot Q1 HpREE 100.0 9.2 1.6 7.6 43.7 47.1 42.3 4.7
CH Yo
=TT 100.0 12.9 1.0 11.8 35.7 51.5 49,1 2.3
At o 100.0 17.6 46 13.0 37.7 44.7 434 1.3
M H| A /T Of 100.0 16.7 1.2 15.5 49.9 33.4 315 1.9
= 2 of o 100.0 10.4 0.6 9.8 35.0 54.5 51.4 3.2
s /7 A 100.0 7.8 0.8 7.0 436 486 458 2.8
b2 L oo 100.0 136 2.2 11.4 53.4 33.1 33.1 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000t Ojot 100.0 9.7 1.0 8.8 347 55.6 52.3 3.3
100~2008+ 100.0 12.1 0.5 11.6 37.9 50.0 45.7 43
200~3000+H 100.0 12.6 1.9 10.7 47.8 39.7 37.5 2.2
300~4000+ 100.0 11.4 2.1 9.3 44.0 44.6 415 3.0
400~6000+ 100.0 11.1 1.3 9.9 413 47.6 446 3.0
6000rS Of At 100.0 11.8 1.4 10.4 48.0 40.2 36.6 36
20244 HMefde FYUT ALRIZRAL
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2 - 9, QHMATFY TSt HIt - (3) mEAIR

£ro) © %)

2 = 7] 2ot e | Hax | =% ot | HmH He
=0t =0t ot ot

2 0 2 4 4 100.0 17.7 36 141 4538 36.5 346 1.9
202 2 4 100.0 24.7 5.7 19.0 456 29.6 24.9 4.7
A9
3 =) 100.0 12.1 1.6 10.4 40.2 47.7 45.8 2.0
A = 100.0 21.5 4.9 16.6 49.5 28.9 27.2 1.8
<A ST
Lt Zt 100.0 14.5 3.0 11.5 488 36.7 339 2.8
ol Zt 100.0 21.3 4.2 17.1 42.4 36.3 35.5 0.8
CH o
15~29 Al 100.0 18.2 4.9 13.3 46.7 35.1 31.2 3.9
30 ~309A 100.0 23.8 7.5 16.4 54.5 21.6 21.6 0.0
40~ 49N 100.0 20.2 2.6 17.5 44.6 35.2 32,6 2.6
50 ~509 Al 100.0 21.6 6.9 14.6 44.9 33.5 33.1 0.5
60AM O A 100.0 13.9 1.2 12.7 44.6 4.5 39.5 1.9
65A O A 100.0 13.6 1.4 12.3 42.9 43.5 415 2.0
o g
z = o % 100.0 15.3 2.1 13.2 43.2 4.5 38.2 3.3
] = 100.0 16.3 35 12.8 49.8 33.9 33.0 0.9
f = o 4 100.0 23.6 6.0 17.6 43.7 32.6 315 1.1
(ZOIAEES
O| s 100.0 17.2 1.9 15.3 45.2 37.6 332 4.4
HE © 2t 9 2 100.0 18.3 48 13.5 47.0 34.7 33.7 1.0
A" /o & 100.0 16.5 1.7 14.9 425 41.0 39.5 1.5
(FAHEFE>
2| o 100.0 17.9 38 14.1 46.5 35.6 34.4 1.2
Aot Q1 HpREE 100.0 17.4 3.1 14.3 44.3 38.3 35.1 3.2
CH Yo
A2/ @ g 100.0 16.8 8.7 8.1 38.7 44.5 44.5 0.0
Ab o 100.0 26.6 7.1 19.5 34.7 38.7 38.7 0.0
A H| A/ ooy 100.0 23.2 2.8 20.4 49.5 27.2 26.7 0.6
= 2 of o 100.0 14.6 2.2 12.4 455 39.9 37.7 2.2
s /7 A 100.0 13.7 1.8 11.9 52.0 34.3 32.3 1.9
b2 L oo 100.0 15.5 8.6 6.9 53.7 30.8 30.8 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHas5ES
1000t Ojot 100.0 14.3 1.3 13.0 40.4 45.2 42.6 2.6
100~2008+ 100.0 11.8 2.2 9.5 48.0 40.2 37.4 2.9
200~3000+H 100.0 18.9 2.9 16.0 486 32.5 31.8 0.7
300~4000+ 100.0 18.3 3.4 15.0 46.3 35.3 339 1.4
400~6000+ 100.0 19.5 6.1 13.5 45.7 34.8 32.0 2.8
6000rS Of At 100.0 23.3 5.2 18.0 44.7 32.1 31.4 0.7
2024 FHEfLE HOLR ALS|RAf
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- 150 -

2 - 9, QrMFO| CHSE It - (4) SHA(LHEEH)

: %)

T = Al of A 23 ot u 2]
of ot

2 02 4 4 100.0 15.2 138 13.4 432 416 385 3.1
2022 4 100.0 18.1 4.1 14.0 453 36.7 30.8 5.9
CA g &
= = 100.0 16.5 2.0 14.4 31.7 51.8 48.6 3.2
A = 100.0 14.4 1.6 12.8 50.9 34.7 31.7 3.0
<A ST
=k At 100.0 11.6 1.7 98 44.6 43.8 39.3 4.5
o At 100.0 19.2 1.9 17.3 41.6 39.2 37.7 1.5
oy
15~29A 100.0 12.1 1.2 10.9 47.6 40.2 336 6.6
30~309A 100.0 11.7 0.0 11.7 60.4 27.9 25.9 2.0
40~ 49N 100.0 17.0 2.8 14.2 43.0 39.9 36.8 3.1
50~59 Al 100.0 16.7 3.3 13.3 44.0 39.4 38.1 13
60K O A 100.0 15.6 1.2 14.3 38.3 46.2 432 3.0
65 AN o 4 100.0 15.6 1.5 14.0 36.5 47.9 44.9 3.1
<ot
2 Z o 3§t 100.0 16.5 1.8 14.7 37.9 45.6 40.6 5.0
il = 100.0 13.5 1.8 11.7 45.7 40.9 389 2.0
If & o 4 100.0 15.9 1.7 14.2 47.6 36.5 34.8 1.7
(ZALEHES
0| s 100.0 12.7 1.0 11.7 44.4 42.9 36.1 6.8
WY 2 2t 9 & 100.0 16.6 2.3 14.3 44.0 39.4 37.4 2.0
At /O Z 100.0 13.7 1.0 12.7 39.1 47.2 451 2.0
(BAHEFE>
2 A 100.0 15.6 1.7 14.0 43.7 40.7 385 2.2
A1 QI HpzEls 100.0 14.4 2.0 12.4 42.2 43.4 386 4.8
CHyYEH
A2 /g 100.0 18.1 4.1 14.0 39.3 42.5 42.5 0.0
At = 100.0 16.5 1.3 15.2 354 48.1 43.6 4.5
M H| A/ T Oj 100.0 14.9 1.1 13.8 52.6 32.5 31.5 1.0
= 2 o A 100.0 20.1 1.4 18.7 35.8 441 40.7 3.5
s /7 A 100.0 6.6 1.6 5.0 48.8 44.6 418 2.8
ot 2 L o 100.0 13.6 1.7 11.9 53.5 32.8 32.8 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ot a2s5ED
1000+ Ojot 100.0 13.9 1.8 12.0 39.4 46.7 42.8 3.9
100~2000+ 100.0 20.7 2.2 185 35.5 43.8 40.5 33
200~3000+ 100.0 14.4 1.4 13.0 47.3 38.3 37.0 1.3
300~4000+ 100.0 14.7 1.3 13.4 44.2 411 39.4 1.8
400~6000+ 100.0 13.2 2.5 10.7 42,5 44.3 39.4 5.0
600TF Of A} 100.0 15.9 1.2 14.7 50.2 339 30.3 35
2024'3 Hetd= QYT AtRIRAL



2 - 9. QHMATFY LSt It - (5) HAHR(EFAE, AFTE F)

ErOl %)

2 = 7] 2ot e | Hax | =% ot | HmH He
=0t =0t ot ot

202 4 4 100.0 9.7 11 86 475 2.8 39.4 3.4
202 2 4 100.0 11.2 1.9 9.2 496 39.2 336 5.7
A9
= =) 100.0 6.6 0.1 6.5 40.9 52.4 49.3 3.2
A = 100.0 11.8 1.7 10.0 51.9 36.4 32.8 3.5
<A TN
Lt Zt 100.0 10.1 1.0 9.0 46.3 436 385 5.1
ol Zt 100.0 9.3 1.1 8.2 488 42.0 40.5 1.5
CH o
15~29 Al 100.0 1.5 26 9.0 437 44.8 36.8 7.9
30 ~309A 100.0 8.6 1.6 7.0 57.3 34.1 286 5.5
40~ 49N 100.0 12.4 0.5 11.9 485 39.1 35.8 3.3
50 ~509 Al 100.0 9.3 1.7 7.7 47.0 436 41.0 2.6
60AM O A 100.0 8.6 0.4 8.2 46.7 44.7 428 1.9
65A O A 100.0 7.9 0.3 7.6 46.2 45.9 44.1 1.8
<8 oE g
z = o % 100.0 8.3 0.5 7.9 46.0 456 41.9 3.8
i £ 100.0 8.4 1.5 6.9 50.0 M5 38.3 3.2
f = o 4 100.0 13.7 1.4 12.3 459 40.4 37.3 3.1
(ZOERED
O| s 100.0 11.1 2.1 9.0 431 45.8 376 8.3
HE © 2t 9 2 100.0 9.8 0.9 8.9 496 40.6 388 1.8
A E /o B 100.0 7.7 0.4 7.3 46.1 46.3 438 2.5
(BAZEEE>
2| o 100.0 11.1 1.5 9.6 46.5 42.4 39.7 2.7
Aot Q1 HpREE 100.0 7.0 0.2 6.8 49.4 436 39.0 4.7
CH Yo
A2/ @ g 100.0 15.8 1.3 14.5 39.6 44.6 44.6 0.0
Ab o 100.0 16.2 4.4 11.8 33.4 50.5 40.7 9.7
A H| A/ ooy 100.0 7.7 1.2 6.5 55.4 36.8 347 2.1
= 2 of o 100.0 11.0 0.8 10.1 43.0 46.0 432 2.9
s /7 A 100.0 7.1 0.8 6.2 52.2 40.7 37.9 2.8
b2 L oo 100.0 20.1 4.2 15.9 436 36.3 36.3 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHA259E)
1000t Ojot 100.0 6.7 0.0 6.7 456 47.6 45,0 2.7
100~2008+ 100.0 12.2 0.3 12.0 455 42.2 396 2.6
200~3000t 100.0 9.4 0.6 8.8 52.9 37.7 34.9 2.8
300~4000t2 100.0 9.1 1.9 7.2 46.3 44.6 426 2.0
400~6000+ 100.0 7.5 0.7 6.8 475 45.0 39.6 5.3
6000rS Of At 100.0 15.5 3.3 12.1 45.0 39.6 346 4.9
202413 HBfLT FOLR AFD|ZRAf
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2 -9, OrMBFY LTt WUt - (6) FREEQHHFE Hiol2{L, JIEt 57 F)
(9l : %)
T+ = Al =0t 0% H| A 2S ot H| A <
=0t =0t ot ot
2 0 2 4 4 100.0 22.9 6.0 16.8 436 335 30.8 2.7
202 2 4 100.0 16.6 45 12.1 47.2 36.1 30.2 6.0
A g
3 =) 100.0 23.9 7.0 17.0 34.9 41.1 39.4 1.8
A = 100.0 22.2 5.4 16.8 49.4 28.4 25.1 3.3
<A ST
Lt Zt 100.0 21.2 5.7 15.6 44.7 34.1 30.2 3.9
ol Zt 100.0 24.7 6.4 18.3 42.4 32.9 315 1.4
CH o
15~29 Al 100.0 15.5 2.6 12.9 45.8 38.7 29.7 9.0
30 ~309A 100.0 20.3 36 16.7 55.9 23.8 21.8 2.0
40~ 49N 100.0 25.0 8.3 16.7 433 31.7 29.3 2.4
50 ~509 Al 100.0 25.7 6.6 19.1 435 30.8 29.9 0.9
60AM O A 100.0 23.7 6.6 17.1 40.8 35.5 33.7 1.7
65A O A 100.0 23.9 7.0 16.9 39.4 36.7 35.0 1.7
o g
z = o % 100.0 22,6 6.0 16.6 41.2 36.2 32.7 3.5
T = 100.0 22.9 6.0 16.8 44.5 326 30.1 2.5
f = o 4 100.0 23.4 6.1 17.2 46.0 30.6 288 1.8
CZOIAEfED
O| s 100.0 22.0 5.9 16.1 41.7 36.3 28.1 8.2
HE © 2t 9 2 100.0 23.9 6.7 17.2 44.7 315 30.5 1.0
A" /o & 100.0 20.6 4.1 16.5 425 36.9 35.2 1.7
(BAZEEE>
2| o 100.0 24.4 7.1 17.3 44.4 31.1 29.4 1.8
Aot Q1 HpREE 100.0 19.8 3.9 16.0 42.0 38.2 336 45
CH oY
A2/ @ g 100.0 23.0 10.1 13.0 32.4 44.6 431 1.5
Ab o 100.0 24.4 6.2 18.2 33.7 4.9 35.8 6.1
A H| A/ ooy 100.0 24.7 8.7 16.1 51.1 24.1 23.0 1.1
= 2 of o 100.0 27.5 7.4 20.1 39.8 32.7 31.2 1.6
s /7 A 100.0 20.7 5.1 15.6 52.6 26.7 24.8 1.9
b2 L oo 100.0 20.0 1.7 18.3 54.6 25.4 25.4 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SIEENE P
1000t Ojot 100.0 20.0 3.2 16.8 40.0 39.9 36.7 3.2
100~2008+ 100.0 25.5 8.5 17.0 42.4 32.1 29.9 2.2
200~3000+H 100.0 23.4 6.8 16.6 452 31.4 29.9 1.5
300~4000+ 100.0 27.2 6.4 20.8 40.1 32.7 31.3 1.5
400~6000+ 100.0 21.7 5.0 16.8 47.1 31.2 27.5 3.7
6000rS Of At 100.0 17.9 6.6 1.3 46.2 35.8 30.9 4.9
2024'3 Hefd: FUT AIBIRAL
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2 - 9. QB TiZ Yt - (7) AF HYYWF HiolA 5

£re| 1 %)

2 = 7] 2ot e | Hax | =% ot | HmH He
=0 =0 ord ot

2 0 2 4 4 100.0 311 7.1 241 385 30.3 27.7 26
202 2 4 100.0 31.3 8.9 22.4 40.4 28.4 24.8 36
A9
= =) 100.0 33.6 7.6 25.9 27.5 39.0 36.4 26
A = 100.0 29.5 6.7 22.8 46.0 245 21.9 2.6
<M 5 )
Lt 2t 100.0 27.9 6.7 21.1 39.9 32.2 283 3.9
ol 2t 100.0 34.8 7.5 27.3 37.0 28.2 27.1 1.2
CH o
15~29A 100.0 16.1 3.9 12.2 46.6 37.3 30.7 6.6
30~394 100.0 26.2 4.7 215 46.5 27.3 27.3 0.0
40 ~49A 100.0 30.4 8.4 22.0 40.6 29.0 26.4 26
50 ~509 Al 100.0 29.8 9.2 20.5 416 286 26.5 2.1
60A O A 100.0 37.7 7.1 30.6 32.4 29.9 27.9 2.0
65A O A 100.0 38.8 7.3 315 30.2 31.0 29.4 1.6
<8 oE g
z = o % 100.0 36.2 7.8 28.3 34.0 29.8 27.4 2.4
o = 100.0 26.6 6.9 19.7 42.4 31.0 275 35
f = o 4 100.0 30.2 6.1 24.0 39.7 30.1 286 1.5
(ZQAHENES
O| s 100.0 24.2 7.0 17.2 39.2 36.6 30.6 6.0
HE © 2t 9 2 100.0 34.3 7.4 26.9 39.2 26.5 24.9 1.6
A E /o B 100.0 29.5 6.2 23.3 35.4 35.1 336 1.5
(BAHZESE>
2| o 100.0 32,6 7.3 25.3 39.3 28.1 25.9 2.1
Aot Q1 HpREE 100.0 28.3 6.7 216 37.0 34.7 31.2 3.4
CH Yo
2 /g 100.0 34.9 11.6 23.3 32,5 32.6 315 1.0
Ab o 100.0 24.2 5.1 19.1 35.3 40.5 37.6 2.8
A H| A/ ooy 100.0 31.8 6.6 25.2 475 20.7 19.6 1.1
= 2 of o 100.0 40.1 8.4 31.7 30.5 29.4 26.2 3.2
s /7 A 100.0 21.9 36 18.3 50.4 27.7 24.9 2.8
T 100.0 33.0 9.8 23.2 39.7 27.4 27.4 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000t Ojot 100.0 32.7 5.0 27.7 34.1 33.2 30.6 2.7
100~2000t2] 100.0 39.1 7.9 31.2 28.6 32.3 30.0 2.2
200~3000t 100.0 36.3 10.1 26.2 38.7 25.0 23.0 2.0
300~4000+ 100.0 286 7.2 21.3 42.6 28.9 27.3 1.6
400~6000+ 100.0 26.6 5.2 21.4 436 29.7 26.6 3.1
6000rS Of At 100.0 22.7 6.8 15.9 41.1 36.2 31.7 45
202414 HeldE FOrR ARB|RAL
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2 - 9. SLMBHO| ThFt W - (8) WY

ErOl %)

2 = 7] 2ot e | Hax | =% ot | HmH He
=0t =0t ot ot

2 0 2 4 4 100.0 19.4 36 15.8 380 426 39.4 32
202 2 4 100.0 25.9 8.6 17.3 43.4 30.7 25.8 4.9
A9
3 =) 100.0 11.2 0.9 10.3 348 54.0 50.3 3.8
A = 100.0 25.0 5.5 19.5 40.1 349 32.1 2.9
<A ST
Lt Zt 100.0 16.8 3.3 13.6 39.0 44.2 39.3 4.9
ol Zt 100.0 22.3 4.0 18.3 36.8 40.9 39.5 1.4
CH o
15~29 Al 100.0 19.0 3.9 15.1 46.1 34.9 28.3 6.6
30 ~309A 100.0 27.4 0.0 27.4 39.7 32.9 31.0 1.9
40~ 49N 100.0 31.3 10.1 21.3 335 35.2 326 2.6
50 ~509 Al 100.0 20.9 4.7 16.2 38.0 41.1 38.7 2.4
60AM O A 100.0 13.5 1.6 11.9 36.5 50.0 47.0 3.0
65A O A 100.0 12.7 1.4 11.3 36.5 50.7 48.1 2.7
<8 oE g
z = o % 100.0 14.2 2.3 11.9 37.1 48.7 436 5.1
] = 100.0 21.8 3.9 17.9 39.1 39.1 36.4 2.7
f = o 4 100.0 24.0 5.2 18.8 37.7 38.3 37.2 1.1
CZOIAEfED
O| s 100.0 20.8 4.0 16.8 37.3 41.9 35.2 6.7
HE © 2t 9 2 100.0 20.7 3.9 16.8 385 40.8 38.4 2.4
A" /o & 100.0 13.5 2.1 11.4 37.2 49.4 47.9 1.5
(FAHEFE>
2| o 100.0 21.2 4.2 17.0 375 413 39.1 2.3
Aot Q1 HpREE 100.0 15.9 2.5 13.4 389 45.2 40.1 5.1
CH Yo
A2/ @ g 100.0 29.5 5.1 24.4 30.0 40.5 39.7 0.8
Ab o 100.0 25.7 4.4 21.3 35.0 39.3 37.8 1.5
A H| A/ ooy 100.0 21.9 6.3 15.6 42.1 35.9 33.7 2.2
= 2 of o 100.0 15.3 1.1 14.2 35.0 49.7 46.8 2.8
s /7 A 100.0 215 45 17.0 41.4 37.1 33.7 3.4
b2 L oo 100.0 27.5 8.5 18.9 37.4 35.2 35.2 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHA259E)
1000t Ojot 100.0 12.0 0.7 1.3 34.7 53.3 50.4 2.9
100~2008+ 100.0 13.0 1.8 11.2 42.1 44.9 42.0 2.9
200~3000+H 100.0 21.1 4.2 16.9 39.9 39.1 343 4.7
300~4000+ 100.0 23.2 5.5 17.7 35.0 M8 39.9 1.9
400~6000+ 100.0 19.8 4.2 15.6 418 38.4 34.0 45
6000rS Of At 100.0 27.5 46 22.9 31.7 40.8 39.2 1.5
2024'3 Hefd: FUT AIBIRAL
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2 - 9, QLMBFO| CHTt ™It - (9) ZHHEA QI ALg|OHH

ErOl %)

T+ = Al =0t 0% H| A 2S ot H| A <
=0t =0t ot ot

2 0 2 4 4 100.0 13.1 2.0 1.1 45.4 M5 39.1 2.4
202 2 4 100.0 13.4 3.9 9.5 48.4 38.2 33.7 45
A9
= =) 100.0 8.4 0.5 7.9 40.0 51.5 49.1 2.4
A = 100.0 16.2 3.1 13.2 49.0 348 32.4 2.4
<A ST
Lt Zt 100.0 11.1 1.4 9.6 456 43.4 39.3 4.0
ol Zt 100.0 15.4 2.7 12,6 452 39.5 389 0.6
<A g g
15~29 Al 100.0 11.4 3.8 7.6 473 M3 346 6.7
30 ~309A 100.0 13.4 0.0 13.4 53.7 32.9 329 0.0
40~ 49N 100.0 22.0 3.2 18.8 41.7 36.3 33.7 2.6
50 ~509 Al 100.0 12.8 3.9 8.9 476 39.6 38.3 1.3
60AM O A 100.0 10.8 0.7 10.2 43.4 45.8 439 1.9
65AM O A 100.0 10.2 0.5 9.8 41.2 486 46.6 1.9
o g
z = o % 100.0 12.4 1.3 11.1 426 45.0 41.2 3.8
T = 100.0 11.8 2.1 9.6 482 40.1 38.4 1.7
f = o 4 100.0 16.2 3.1 13.1 455 38.3 36.9 1.4
CZOIAEfED
O| s 100.0 14.4 2.3 12.1 40.9 44.7 38.1 6.5
HE © 2t 9 2 100.0 13.3 2.3 11.0 482 385 37.3 1.2
A E /o B 100.0 10.8 0.7 10.1 41.7 475 46.3 1.2
(BAZEEE>
2| o 100.0 13.7 2.3 11.4 45.4 40.9 39.4 1.5
Aot Q1 HpREE 100.0 12.0 1.5 10.4 453 4.7 386 4.1
2 g g
A2/ @ g 100.0 18.9 2.3 16.6 35.9 45.2 44.1 1.0
Ab o 100.0 15.9 1.3 14.5 41.4 4.8 428 0.0
A H| A/ ooy 100.0 12.9 2.8 10.1 56.6 30.5 30.5 0.0
= 2 of o 100.0 13.0 1.4 11.6 39.9 47.1 44.7 2.4
s /7 A 100.0 1.5 2.0 9.5 487 39.8 37.0 2.8
b2 L oo 100.0 14.6 6.9 7.6 42.3 43.1 41.0 2.1
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHA259E)
1000t Ojot 100.0 12.9 0.0 12.9 39.1 48.1 45.4 2.7
100~2008+ 100.0 12.1 1.8 10.3 426 453 40.7 46
200~3000+H 100.0 10.5 1.6 8.9 51.9 37.6 35.5 2.1
300~4000+ 100.0 15.4 1.8 13.6 438 40.7 39.8 0.9
400~6000+ 100.0 12.7 2.1 10.7 475 39.8 37.0 2.8
6000rS Of At 100.0 16.1 6.0 10.1 44.7 39.2 37.7 1.5
2024'3 Hefd: FUT AIBIRAL
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2 - 10. 83 AHZ= - (1) CHZI(OIMIHA], 23, OjH, LEZHH)

T = A LI T} 0f-2 oFzt 250l s ) 0%
Lt | L= Z0 Z0

2 0 2 4 4 100.0 26.4 9.4 17.0 389 34.7 27.0 7.7
202 2 4 100.0 26.6 8.8 17.8 36.4 37.1 22.2 14.8
CA 9 8o

3 =) 100.0 15.7 4.4 11.3 36.5 47.9 35.6 12.3
A = 100.0 33.6 12.8 20.8 40.6 25.8 21.3 45
<M 5 )

Lt 2t 100.0 275 10.2 17.2 39.5 33.0 25.6 7.4
ol 2t 100.0 25.2 8.5 16.7 38.2 36.6 286 7.9
Co g

15~29A 100.0 286 11.4 17.3 438 276 21.4 6.2
30~394 100.0 30.8 9.6 21.2 51.1 18.1 13.1 5.0
40 ~49A 100.0 37.8 17.0 20.9 415 20,6 17.0 3.7
50 ~509 Al 100.0 31.3 12.5 18.8 38.7 30.0 235 6.4
60AM O A 100.0 18.9 4.9 14.0 34.4 46.8 36.3 10.5
65A O A 100.0 17.4 4.7 12.8 32.2 50.4 38.3 12.1
<8 oE g

z = o % 100.0 19.3 5.1 14.2 36.5 44.2 335 10.6
o = 100.0 286 11.0 175 42.9 285 226 5.9
f = o 4 100.0 34.3 13.9 20.4 36.6 29.1 235 5.6
(ZQAHENES

O| s 100.0 30.8 12.0 18.7 36.5 32.8 25.3 7.4
HE © 2t 9 2 100.0 27.1 10.0 17.1 42.0 31.0 245 6.5
A" /o & 100.0 18.7 4.4 14.3 32.0 49.3 37.5 11.8
(BAHZESE>

2| o 100.0 29.8 11.8 18.1 38.3 31.9 25.4 6.4
Aot Q1 HpREE 100.0 19.7 48 14.9 40.1 40.2 30.2 10.0
CH oY

2 /g 100.0 415 15.8 25.7 26.5 32.0 27.2 48
Ab o 100.0 23.9 9.5 14.4 36.6 39.5 30.9 8.7
A H| A/ ooy 100.0 27.7 10.5 17.2 47.3 25.0 20,6 4.4
= 2 of o 100.0 216 7.0 14.6 36.4 42.0 32.3 9.8
s /7 A 100.0 44.0 23.2 20.8 35.9 20.1 15.0 5.2
b2 L oo 100.0 30.7 7.5 23.2 41,7 276 26.7 1.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHas5ES

1000t Ojot 100.0 13.9 35 10.4 31.1 55.0 418 13.2
100~2008+ 100.0 19.6 4.9 14.7 40.7 39.7 30.9 8.9
200~3000+H 100.0 30.7 8.3 22.4 39.5 29.8 24.2 5.6
300~4000+ 100.0 31.6 17.9 13.7 37.1 31.2 26.1 5.1
400~6000+ 100.0 29.2 9.8 19.4 46.9 23.9 18.9 4.9
6000rS Of At 100.0 30.9 11.1 19.8 345 346 235 11.1
20244 HMefde FYUT ALRIZRAL
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2 - 10. &3 AHE - (2) $3GH, A, Aste, 28&4)

cr9l : %)

T = Al Lo 0 ozt 2soltt =t oFzt 0%
LimOE | LD = ZCt

2 0 2 4 4 100.0 19.8 45 153 44.0 36.2 29.1 7.1
202 2 4 100.0 236 6.1 175 39.7 36.6 23.2 13.4
CA G O
3 =) 100.0 9.0 15 7.5 41.0 50.0 39.1 10.9
A G 100.0 27.0 6.5 205 46.1 26.9 22.4 45
<A ER
Lt Zt 100.0 21.3 5.1 16.2 44,7 34.0 27.0 7.1
ol 2t 100.0 18.1 3.8 14.3 433 386 315 7.1
Co g
15~29 A 100.0 26.0 6.5 19.5 425 315 26.1 5.3
30~39A4 100.0 315 5.6 25.9 52.3 16.2 143 1.9
40~49K 100.0 30.7 10.5 20.1 48.8 20.6 17.8 2.7
50~59 A 100.0 22.4 5.3 17.1 47.8 29.8 23.4 6.4
60AM O A 100.0 10.9 1.3 9.5 39.7 495 39.1 10.3
65A O A 100.0 10.2 1.2 9.0 36.5 53.3 416 11.7
o g
z = o % 100.0 12.1 1.4 10.7 40.9 47.0 36.3 10.7
] = 100.0 23.1 6.1 17.0 47.1 29.8 25.3 45
f = o 4 100.0 26.9 7.1 19.8 44.3 28.8 235 5.3
CZOIAEf >
o| s 100.0 253 5.2 20.0 413 334 27.2 6.3
HE © 2t 9 2 100.0 19.4 5.1 14.3 47.2 335 273 6.2
A E /o B 100.0 14.2 15 12.7 37.2 486 37.6 11.0
(BAHZESE>
2| o 100.0 21.6 5.4 16.2 445 33.9 283 5.6
Aot Q1 HpREE 100.0 16.2 2.7 13.4 431 40.7 30.7 10.0
CH oY
=TT 100.0 26.0 6.2 19.7 40.2 338 30.1 3.7
At [=] 100.0 23.9 7.6 16.2 335 426 36.6 6.0
M H| A /T Of 100.0 20.1 43 15.8 53.4 26.5 23.1 3.4
= 2 of o 100.0 136 2.0 11.6 413 45.1 36.9 8.2
s /7 A 100.0 34.9 11.0 23.9 44.2 20.9 14.9 6.0
b2 L oo 100.0 235 7.9 15.6 47.9 28.6 255 3.1
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SIEENE P
1000+ OOt 100.0 6.7 0.3 6.4 33.8 59.4 47.0 12.5
100~2008+ 100.0 13.3 15 11.8 46.3 40.4 336 6.8
200~3000+H 100.0 19.8 3.7 16.1 49.1 31.1 24.4 6.6
300~4000+ 100.0 28.7 8.0 20.7 413 29.9 24.6 5.4
400~6000+ 100.0 28.6 6.7 21.9 44.6 26.8 21.9 4.9
6000rS Of At 100.0 15.5 5.7 9.8 48.9 35.6 27.9 7.7
20244 HMefde FYUT ALRIZRAL
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2 - 10. 73 AZx - (3) EF(2H, &%, HZIE S22

T = A LI T} 0% ) 250l =1 ) {2
LigCy | LhEC Z0 Z0

2 0 2 4 4 100.0 19.1 2.9 16.2 48.0 32.9 26.6 6.3
202 2 4 100.0 19.3 3.0 16.3 45.0 35.7 23.0 12.6
CA 9 8o

3 =) 100.0 13.3 1.4 11.9 42.1 44.6 34.7 10.0
A = 100.0 23.1 3.9 19.1 52.0 24.9 21.2 38
<A ST

Lt Zt 100.0 19.9 35 16.4 486 31.6 25.6 6.0
ol Zt 100.0 18.4 2.3 16.1 47.4 34.3 27.7 6.6
Co g

15~29 Al 100.0 20.3 2.7 17.6 50.6 29.1 238 5.3
30 ~309A 100.0 25.9 0.0 25.9 57.6 16.5 13.1 3.4
40~ 49N 100.0 24.3 8.2 16.1 55.1 20.6 17.2 3.3
50 ~509 Al 100.0 23.2 4.2 19.0 49.7 27.0 22.1 4.9
60AM O A 100.0 14.0 1.2 12.8 42.2 438 35.1 8.7
65A O A 100.0 11.9 0.9 11.0 40.8 47.3 38.1 9.2
o g

z = o % 100.0 14.3 1.6 12.7 435 42.3 335 8.7
] = 100.0 23.3 38 19.5 50.4 26.4 22.1 4.2
f = o 4 100.0 20.5 3.7 16.8 51.5 28.0 22.5 5.5
CZOIAEf >

O| s 100.0 21.8 3.4 18.4 45.0 33.2 25.6 7.5
HE © 2t 9 2 100.0 20.8 3.4 17.4 50.4 28.8 23.8 5.0
A" /o & 100.0 10.3 0.7 9.6 438 45.8 37.0 8.8
(FAHEFE>

2| o 100.0 21.6 3.2 18.4 486 29.8 24.5 5.3
Aot Q1 HpREE 100.0 14.4 2.4 12.0 46.9 38.8 30.6 8.1
CH Yo

A2/ @ g 100.0 25.3 3.9 21.4 49.2 25.4 22.6 2.8
Ab o 100.0 19.9 1.3 18.6 37.1 43.0 328 10.2
A H| A/ ooy 100.0 20.8 3.0 17.8 56.8 22.4 19.4 3.0
= 2 of o 100.0 18.1 2.6 15.5 433 38.6 30.9 7.7
s /7 A 100.0 28.8 5.3 23.5 51.3 19.9 15.6 43
b2 L oo 100.0 19.3 2.1 17.3 49.7 30.9 27.8 3.1
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHas5ES

1000t Ojot 100.0 5.8 0.0 5.8 435 50.8 41.4 9.4
100~2008+ 100.0 16.3 1.2 15.1 44.7 39.0 31.8 7.3
200~3000+H 100.0 24.2 2.0 22.2 48.0 27.8 21.3 6.5
300~4000+ 100.0 20.7 6.9 13.9 49.7 29.5 24.3 5.2
400~6000+ 100.0 23.4 35 19.9 55.0 21.7 18.0 3.7
6000rS Of At 100.0 21.6 3.3 18.3 43.2 35.3 28.4 6.9
2024 FHEfLE HOLR ALS|RAf
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2 -10. &3 AHE - (4) 22U (AFaL, M, HEL2 )

cr9l : %)

3 e A | et |ooe | ozt | wmSoct | FC | 9z | Oie
LimOE | LD Z0 ot

2 0 2 4 4 100.0 235 6.4 17.1 403 363 287 7.6
202 2 4 100.0 26.6 7.7 18.8 37.3 36.2 24.2 12.0
CA G O
3 =) 100.0 15.7 3.4 12.4 33.3 51.0 39.1 11.9
A G 100.0 28.7 8.4 20.3 44.9 26.4 21.7 4.7
<A ER
Lt Zt 100.0 243 6.4 17.9 40.1 35.6 29.0 6.6
ol 2t 100.0 225 6.4 16.2 40.5 37.0 283 8.7
Co g
15~29 A 100.0 27.7 12,6 15.1 421 30.2 26.2 4.0
30~39A4 100.0 25.6 36 22.0 52.8 21.6 185 3.1
40~49K 100.0 31.8 10.7 21.0 39.9 28.4 24.2 4.2
50~59 A 100.0 26.9 5.0 21.9 433 29.8 22.8 7.0
60A O A 100.0 175 42 13.3 36.1 46.5 356 10.9
65A O A 100.0 15.7 3.4 12.3 346 49.7 37.9 11.8
o g
z = o % 100.0 19.3 5.4 13.8 37.8 42.9 316 11.3
] = 100.0 25.6 7.7 17.9 40.7 337 29.1 46
f = o 4 100.0 26.9 5.9 21.0 43.4 29.8 235 6.2
CZOIAEf >
o| s 100.0 27.0 9.5 175 36.6 36.5 295 7.0
HE 2 2 Q2 100.0 24.8 6.3 185 43.0 32.2 25.8 6.5
A" /o & 100.0 14.8 2.7 12.0 35.9 493 37.4 12.0
(BAHESE>
2| o 100.0 253 5.9 19.4 40.9 337 27.8 6.0
Aot Q1 HpREE 100.0 19.9 7.3 12.5 38.9 41.2 30.5 10.7
CH oY
=TT 100.0 22.9 45 18.4 44,1 33.0 27.9 5.1
At [=] 100.0 18.7 1.3 17.3 35.9 455 385 6.9
M H| A /T Of 100.0 26.2 5.6 205 49.2 24.7 20.4 43
= 2 of o 100.0 19.1 4.2 14.8 36.7 44.2 35.6 8.7
s /7 A 100.0 425 12.8 29.8 336 23.9 19.6 43
b2 L oo 100.0 22.2 6.3 15.9 50.2 27.7 245 3.1
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SIEENE P
1000+ OOt 100.0 12.4 2.8 9.6 34.2 53.4 39.7 13.7
100~2008+ 100.0 16.9 5.9 11.0 39.4 43.7 33.2 10.5
200~3000+H 100.0 22.8 5.0 17.9 45.7 31.4 24.6 6.8
300~4000+ 100.0 33.2 9.5 23.7 35.0 31.8 27.1 4.7
400~6000+ 100.0 31.3 9.3 22.0 435 25.2 215 3.7
6000rS Of At 100.0 18.6 43 14.3 42.2 39.1 30.9 8.3
2024'A Hetde FUT AR ZAL
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2 -10. 23 AHx - (5) A HF(AAFH L Y, 54 F)

£re| 1 %)

T = Al Lo 0 oFzt 2soltt =t oFzt 0%
LimOE | LD = ZCt

2 0 2 4 4 100.0 11.0 26 8.4 472 418 30.8 11.0
202 2 4 100.0 12.0 2.7 9.3 41,7 46.3 27.4 18.9
CA G O
3 =) 100.0 6.3 1.1 5.3 35.1 58.5 40.4 18.2
A = 100.0 14.1 36 105 55.3 30.6 24.4 6.2
<A ER
Lt Zt 100.0 11.1 3.0 8.1 47.7 41.2 30.7 10.5
ol 2t 100.0 10.9 2.1 8.8 46.7 425 31.0 11.5
Co g
15~29 A 100.0 8.9 1.3 7.5 57.2 34.0 273 6.7
30~39A4 100.0 7.0 0.0 7.0 69.5 235 16.6 6.9
40~49K 100.0 18.6 7.0 11.6 49.7 31.8 245 7.3
50~59 A 100.0 15.3 3.8 11.5 50.0 34.7 236 11.1
60AM O A 100.0 7.9 15 6.5 37.8 54.2 39.9 14.3
65A O A 100.0 6.1 1.1 5.1 36.3 57.6 419 15.7
o g
z = o % 100.0 6.2 1.1 5.1 431 50.7 36.4 14.3
] = 100.0 15.3 4.0 11.3 49.2 35.5 273 8.2
f = o 4 100.0 12.0 2.8 9.1 50.5 37.5 27.4 10.1
CZOIAEf >
o| s 100.0 9.2 2.1 7.1 51.7 39.1 27.8 11.3
HE © 2t 9 2 100.0 12.5 33 9.2 48.9 386 289 9.7
A E /o B 100.0 8.1 0.7 7.4 36.1 55.8 40.9 14.9
(BAHZESE>
2| o 100.0 12.3 33 9.0 49.2 385 29.1 9.4
Aot Q1 HpREE 100.0 8.4 1.1 7.3 433 483 341 14.2
CH oY
=TT 100.0 17.0 4.7 12.2 44.4 386 276 11.0
At o 100.0 8.9 1.3 7.6 41,7 49.4 35.4 14.0
M H| A /T Of 100.0 11.1 2.8 8.3 58.4 30.4 22.1 8.4
= 2 of o 100.0 10.4 26 7.8 40.1 495 37.6 11.9
s /7 A 100.0 18.8 6.2 12.6 54.6 26.6 21.4 5.2
b2 L oo 100.0 6.7 2.1 46 62.5 30.8 27.7 3.1
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000+ OOt 100.0 48 0.3 45 347 60.5 40.9 19.5
100~2008+ 100.0 8.4 0.8 7.6 43.7 47.9 35.0 12.9
200~3000+H 100.0 13.1 0.8 12.4 48.4 38.4 29.9 8.5
300~4000+ 100.0 12.7 5.3 7.4 51.3 36.0 27.1 8.9
400~6000+ 100.0 16.0 48 11.2 49.1 35.0 25.9 9.1
6000rS Of At 100.0 7.3 2.8 45 55.9 36.8 28.4 8.5
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3-1. 2 % AU gt AsH - (1) A0 et A
(9l = %)
[o] =7
sor | weal | s | e | UL oA g
T iy A SO} 5ot 40| orotz %tOFOI' e Gt A| QEACt
a2 R en | o | oo |FER
R I B | e
2 0 2 4 4 100.0 63.5 33.8 29.7 31.1 2.6 2.3 0.3 2.7
20 2 2 4 1000 595 28.0 315 336 2.7 2.2 0.5 4.1
TR
= = 100.0 72.8 36.5 36.3 23.0 1.0 0.7 0.4 3.2
A = 100.0 57.3 321 25.2 36.6 3.7 3.4 0.3 2.4
<N g )
= At 100.0 65.1 32.7 32.3 28.4 2.8 2.3 0.5 3.7
q At 100.0 61.8 35.1 26.7 34.2 2.4 2.3 0.2 1.6
co oy
15~294] 1000 371 8.0 291 473 5.1 5.1 0.0 10.4
30~394 | 1000 486 145 341 43 7.0 5.1 1.9 31
4 0 ~ 49 A 100.0 41.1 11.8 29.3 53.2 3.3 2.6 0.8 2.4
50~594| 1000 580 24.9 33.1 36.6 3.0 26 0.4 2.4
6 0AN o A 100.0 84.5 56.9 27.6 14.4 0.6 0.6 0.0 0.4
65 AN o 4 100.0 86.6 60.7 25.9 12.4 0.6 0.6 0.0 0.4
<R
2 Z o 3§t 100.0 78.5 50.8 27.7 20.0 0.3 0.3 0.0 1.2
i Z 100.0 56.3 259 30.4 34.8 5.0 4.1 0.9 3.9
If Z o 4 100.0 50.8 19.3 31.5 43.2 2.7 2.7 0.0 3.3
CZOAEE)
| =z 100.0 38.8 10.6 28.2 46.6 5.5 4.8 0.7 9.1
Bl o 29 e 1000 693 371 322 282 1.3 1.0 0.3 1.1
A" /o =| 1000 753 522 232 213 3.4 3.4 0.0 0.0
BAEE >
Z| o 100.0 62.9 31.7 31.2 32.1 2.5 2.2 0.3 2.5
Alo! Ol HEA RS 100.0 64.7 38.1 26.6 29.2 2.9 2.5 0.5 3.2
EEEE
42/ & g 100.0 67.0 32.3 34.7 32.0 1.0 1.0 0.0 0.0
At = 100.0 45.8 15.2 30.6 42.7 8.4 7.1 1.3 3.1
MulA/moy| 1000 535 196 339 411 2.6 2.6 0.0 2.8
= 2 of 9| 1000 788 493 296  17.9 13 13 0.0 2.0
' 5/ 71 A 100.0 53.8 22.9 30.9 39.0 1.8 0.8 1.0 5.3
oS =2 100.0 57.5 32.0 25.5 37.7 4.7 4.7 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtRASE
700Ttel Ojgt| 1000 839 607 232 127 1.7 1.7 0.0 1.7
100~2000t9l | 1000 746 382 36.4 223 16 16 0.0 16
200~3000tYl | 1000 638 423 216 321 2.4 2.4 0.0 16
300~400at% | 1000 599 278 322 371 0.6 0.6 0.0 2.4
400~6000t2l | 1000 477 171 30.7 M6 4.2 31 1.1 6.5
6000 Of At 100.0 56.2 18.5 37.7 36.9 5.9 5.0 0.9 1.1
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3-1. ZZ % Auof ojst Asl - (2) Ao CHet AsY

(9l : %)
Ao
2 s q | RoloF | MEN | Qe | gD | gols | g | mE |
StCt Uofof Ho| o= EICt HO| ole | 220t
sttt | Zch | ZC zZot | =t
2 0 2 4 4 100.0 67.1 345 326 27.2 28 25 0.3 2.9
2022 4 100.0 65.5 30.5 35.0 26.9 2.8 2.3 0.5 48
A9
3 =) 100.0 74.2 37.7 36.5 20.6 1.5 1.5 0.0 3.6
A = 100.0 62.3 32.4 30.0 316 36 3.1 0.5 2.4
<A ST
Lt Zt 100.0 67.5 333 34.2 25.8 2.9 2.9 0.0 3.8
ol Zt 100.0 66.7 35.9 30.8 28.8 2.6 2.0 0.6 2.0
CH o
15~29 Al 100.0 38.0 7.9 30.1 438 7.7 6.5 1.2 10.4
30 ~309A 100.0 56.9 21.4 35.5 35.0 5.0 3.4 1.6 3.1
40~ 49N 100.0 53.6 18.4 35.1 39.6 3.1 3.1 0.0 3.8
50 ~509 Al 100.0 64.9 30.2 346 28.7 3.6 3.6 0.0 2.8
60A O A 100.0 83.6 52.6 31.0 15.8 0.3 0.3 0.0 0.3
65A O A 100.0 84.6 53.5 31.1 14.9 0.3 0.3 0.0 0.2
<8 oE g
z = o % 100.0 77.8 475 30.2 20.2 1.2 0.8 0.4 0.9
] = 100.0 60.7 27.0 33.7 30.8 43 4.0 0.3 4.2
oy = of A 100.0 60.1 25.5 346 32.9 2.9 2.9 0.0 4.1
(ZOERED
O| s 100.0 38.2 11.8 26.5 44,5 7.7 6.4 1.3 9.6
W S 2 9 2 100.0 74.3 388 35.5 23.1 1.3 1.3 0.0 1.2
A E /o B 100.0 79.5 488 30.7 19.0 1.4 1.4 0.0 0.0
(BAZEEE>
2| o 100.0 67.7 32.7 35.0 27.3 2.3 2.1 0.2 2.7
Aot Q1 HpREE 100.0 65.9 38.0 27.9 27.1 3.7 3.2 0.5 3.3
CH Yo
A2/ @ g 100.0 66.8 31.2 35.7 32.1 1.0 1.0 0.0 0.0
Ab o 100.0 56.1 17.0 39.1 33.3 6.2 6.2 0.0 4.4
A H| A/ ooy 100.0 61.4 25.0 36.4 30.6 5.3 4.5 0.8 2.8
= 2 of o 100.0 79.8 44.7 35.1 17.8 0.4 0.4 0.0 1.9
s /7 A 100.0 62.6 29.9 32.7 31.1 1.0 1.0 0.0 5.3
b2 L oo 100.0 61.3 32.3 29.0 35.8 1.0 1.0 0.0 1.9
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHA259E)
1000t Ojot 100.0 81.4 59.3 22.2 14.9 2.0 2.0 0.0 1.7
100~2008+ 100.0 74.1 36.0 38.1 22.4 2.0 1.2 0.9 1.4
200~3000+H 100.0 67.0 39.6 27.5 30.2 1.2 1.2 0.0 1.6
300~4000+ 100.0 60.5 28.8 31.7 36.5 1.0 1.0 0.0 2.1
400~6000+ 100.0 58.4 24.0 34.4 29.4 5.2 43 0.8 7.0
6000rS Of At 100.0 65.5 19.6 45.9 26.1 5.9 5.9 0.0 2.5
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3-1. 2 % Ay ozt A - (3) AY Fx AH BH (HF SH)

CRRRD)
loturors gl pxIg, | MY | FESH | A
8 A (2R So FHAIY AR SEAY QOIS F8H | meH | et
= A5 | 22 | =2 | Y | A
2 0 2 4 4| 1000 7.2 09 190 222 83 78 218 128 0.0
2 02 2 d 100.0 6.2 2.3 15.3 22.3 11.4 9.1 22.5 10.9 0.0
<Aoo
= = 100.0 45 0.3 17.4 20.4 8.3 7.7 26.8 14.6 0.0
A = 100.0 9.5 1.4 20.3 23.7 8.3 79 17.6 11.2 0.0
<A 5y
= At 100.0 6.7 0.8 19.1 24.2 9.0 6.9 21.4 11.9 0.0
o At 100.0 7.7 1.1 18.9 20.0 7.5 8.8 22.3 13.8 0.0
Co o
15 ~29MA| 100.0 7.3 0.0 21.9 21.7 1.9 15.8 17.5 13.9 0.0

30~ 394 100.0 6.8 0.0 13.3 22.9 20.9 3.0 20.1 13.0 0.0
4 0 ~ 49 A 100.0 4.6 1.3 12.9 24.0 6.8 10.3 22.3 17.9 0.0
50 ~59A 100.0 8.6 1.6 18.8 22.0 9.8 1.7 18.8 12.6 0.0
6 0AN o A 100.0 7.3 0.8 20.8 21.8 7.3 6.6 239 11.4 0.0

65AM O Al 1000 7.1 07 214 213 63 64 245 123 0.0
o g

Z 2 o | 1000 76 07 207 196 68 60 247 140 0.0
Il Zz| 1000 80 09 195 249 86 84 193 103 0.0
If = o A| 1000 53 14 150 227 105 101 205 143 0.0
(ZALEHES

o] = | 1000 58 00 225 254 62 96 193 112 0.0
Hf 2 2t 9 2| 1000 7.7 12 178 219 9.2 76 216 130 0.0
A& /o & 1000 66 05 204 210 68 71 243 132 0.0
(BAHEFE>

Y o | 1000 74 12 186 233 83 74 212 126 0.0
Alot gl wpes | 100.0 68 04 198 200 83 85 231 132 0.0
CH oY

A8 /e | 1000 97 30 180 236 130 84 136 109 0.0
At of 1000 84 00 118 231 157 67 201 142 0.0
MH A/otof| 1000 107 16 179 179 73 87 223 136 0.0
= 2 o ¢ 1000 64 13 196 223 60 56 251 137 0.0
7S5 /7 A| 1000 49 00 175 315 90 76 199 95 0.0
o 2 L =] 1000 14 00 277 294 67 120 122 105 0.0
2 ol 0.0 00 00 00 00 00 00 00 00 0.0
Ot a2s5ED

1008t Ojgt| 1000 65 06 212 188 78 57 252 142 0.0
100~2009t%l | 100.0 77 03 185 242 7.2 56 243 122 0.0

200~3000tg | 100.0 6.9 12 251 232 8.4 83 192 7.8 0.0
300~4000t% | 100.0 6.7 1.0 143 204 126 93 200 157 0.0
400~6000t% | 100.0 76 00 187 232 6.4 81 206 155 0.0
6000t ofA [ 100.0 8.3 29 139 236 70 102 226 115 0.0
2024'3 Hefd: FUT AIBIRAL

- 165 -



3- 1. ZE L AHo| ThB A3 - (4) AW Q0= S olF (CHF ST

(9] © %)
Lpsict A | 2L | =80t nEd
. q  |US H8| 88| o | ¥so | 2oot | @s| Fwm |
=tg | 2E A | FAOHol7| |& ARlol| AlZED | MEE
glo1A HOIA | QOIN |- RY| DA
2 0 2 4 4 100.0 23.0 22.7 0.0 17.3 20.3 7.9 8.7 0.0
202 2 4 100.0 15.3 19.4 11.2 24.4 7.5 7.2 15.0 0.0
CA G E )
3 =) 100.0 39.2 5.1 0.0 6.1 18.0 0.0 31.6 0.0
A = 100.0 18.5 27.6 0.0 20.4 21.0 10.1 2.4 0.0
<A ST
Lt Zt 100.0 23.7 23.2 0.0 4.1 322 8.2 8.6 0.0
ol Zt 100.0 22.0 22.1 0.0 35.1 4.4 7.6 8.9 0.0
Co g
15~29 Al 100.0 10.5 33.7 0.0 21.0 23.2 11.6 0.0 0.0
30 ~309A 100.0 238 0.0 0.0 23.8 28.6 23.8 0.0 0.0
40~ 49N 100.0 29.4 29.4 0.0 11.9 29.4 0.0 0.0 0.0
50 ~509 Al 100.0 389 75 0.0 9.4 9.4 0.0 34.9 0.0
60A O A 100.0 22.4 50.6 0.0 27.0 0.0 0.0 0.0 0.0
65A O A 100.0 30.7 69.3 0.0 0.0 0.0 0.0 0.0 0.0
<8 oE g
z = o % 100.0 0.0 37.1 0.0 34.1 0.0 28.7 0.0 0.0
T = 100.0 19.5 18.4 0.0 17.3 31.6 5.7 76 0.0
f = o 4 100.0 44.6 23.2 0.0 7.1 8.8 0.0 16.4 0.0
(ZOIAEES
O| s 100.0 23.0 20.8 0.0 20.7 15.9 12.1 7.4 0.0
W S 2 9 2 100.0 17.8 19.1 0.0 15.0 40.3 0.0 7.8 0.0
A" /o & 100.0 35.5 45.1 0.0 0.0 0.0 0.0 19.4 0.0
(FAHEFE>
2| o 100.0 18.9 18.4 0.0 23.9 215 5.9 11.4 0.0
Aot Q1 HpREE 100.0 27.9 27.9 0.0 9.4 18.9 10.4 5.4 0.0
CH oY
A2/ @ g 100.0 0.0 0.0 0.0 0.0 0.0 0.0 1000 0.0
Ab o 100.0 335 335 0.0 14.7 18.3 0.0 0.0 0.0
A H| A/ ooy 100.0 8.3 6.3 0.0 37.6 22.3 10.9 14.6 0.0
= 2 of o 100.0  100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s /7 A 100.0 0.0 50.0 0.0 0.0 50.0 0.0 0.0 0.0
T 100.0 50.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHA259E)
1000t Ojot 100.0 56.2 22.0 0.0 0.0 0.0 0.0 21.8 0.0
100~2008+ 100.0 21.9 0.0 0.0 30.2 17.6 30.2 0.0 0.0
200~3000t 100.0 0.0 0.0 0.0 21.9 78.1 0.0 0.0 0.0
300~4000t2 100.0 56.6 0.0 0.0 43.4 0.0 0.0 0.0 0.0
400~6000+ 100.0 21.0 18.3 0.0 18.3 17.3 13.1 12.1 0.0
6000rS Of At 100.0 13.5 43.2 0.0 13.5 23.7 0.0 6.0 0.0
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3-2 ANEih A L AAFA - (1) HEL HQ (CHF SH)
TR %)
o 2 -
b || e | ol | eme | A | TSR
2 =2 | A 2| oyl | wsul | g | exE | s | T o

se |opig | wy | LT s | 0% | o

.724% T = a b =
2 0 2 4 W 1000 250 127 29.7 51 73 3 7.7 0.2
2@ 2 2 100.0 243 14.7 29.7 6.0 8.2 1.9 5.2 0.1
Ao
= =l 100.0 22.3 10.3 28.7 57 8.8 13.9 10.1 0.1
A = 100.0 28.3 14.2 30.4 4.7 6.4 9.6 6.2 0.2
<A o
=k At 100.0 25.8 10.9 29.9 53 8.1 12.0 7.7 0.2
o At 100.0 26.0 14.6 29.5 49 6.5 10.6 7.7 0.1
Coa g
15~294 1000 267 154 250 58 47 16.1 55 0.7
30~39A| 1000 256 219 313 25 4.6 4.7 9.5 0.0
40~ 49N 100.0 23.8 11.2 30.3 7.3 8.2 11.5 7.8 0.0
50~509A 1000 246 123 297 5.0 838 9.6 9.9 0.0
604 oAl 1000 27 105 308 4.7 78 119 7.1 0.1
65 AN o 4 100.0 26.6 9.6 31.5 49 7.7 12.3 7.3 0.1
Coe g
2 Z o 3§t 100.0 26.7 11.0 30.8 4.6 7.6 12.0 6.8 0.4
i = 100.0 26.9 13.1 28.7 4.6 8.5 10.4 7.8 0.0
If Z o 4 100.0 233 14.4 29.5 6.7 52 11.7 9.1 0.1
(ZoNEY>
0| =z 100.0 29.2 16.4 23.9 4.0 57 13.0 7.3 0.5
oo e| 1000 245 118 313 5.6 83 106 7.8 0.0
At &/ O & 100.0 26.6 10.4 321 48 6.2 11.5 8.2 0.2
EAEE
2 A 100.0 26.7 11.8 30.0 5.5 8.1 10.4 7.4 0.0
Aol HpEs | 1000 244 144 29 43 58 132 8.3 0.4
-
A9/ 2a| 1000 226 162 325 5.5 7.8 7.3 8.1 0.0
At = 100.0 27.7 585 26.5 6.8 50 13.7 4.8 0.0
MH A/moy| 1000 283 129 324 4.4 7.3 7.8 7.0 0.0
L o2 of o 1000 @ 27.1 94 278 7.1 96 116 7.2 0.1
25 /71 A 100.0 27.3 94 29.5 4.1 7.8 12.9 9.0 0.0
ot~ ¢ oof 1000 221 127 328 43 9.8 9.1 9.3 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OtRasE
1000tgl ojat| 1000 281 97 309 5.1 5.1 12,6 8.3 0.2
100~2009t9d | 1000 242 127 267 4.6 9.1 13.2 9.5 0.0
200~300ated | 1000 283 105 288 59 82 122 6.1 0.0
300~4000t% | 1000 244 152 29.8 38 8.1 9.3 9.2 0.2
400~6000t% | 1000 275 130 313 4.9 58 100 7.0 0.5
6000t9l o[At [ 1000 214 151 302 6.9 80 117 6.7 0.0
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3 -2 A4 Ho L R MYz - (2) A4t 5B A HH (ChF SH)
(9 @ %)
BEE | BE | ] BRO | o | 229 [E-g0L
CR A |aae L ES T Re | 2% 2 aeye | FH | FEF | g
B OFAH Z\Ia S I"—"T_H| 218l CHAtH  [A1RF 24
H1g 2@l = Aoz | oy |y
2 0 2 4 W 1000 197 157 132 226 168 6.7 50 0.2
2022 4| 1000 199 199 142 199 142 7.1 48 0.0
CA Yo
= = 100.0 20.6 12.2 14.0 22.7 16.2 8.4 5.6 0.4
M =| 1000 191 181 128 226 172 5.6 46 0.1
<A o
= At 100.0 21.4 15.8 12.3 23.8 14.3 7.1 50 0.3
o At 100.0 17.9 15.6 14.2 21.3 19.6 6.3 50 0.1
R
15 ~29MA| 100.0 23.8 17.3 11.4 19.6 151 51 7.7 0.0
30~39A| 1000 109 146 205 211 20.3 6.1 55 1.0
40~ 49 A 100.0 19.6 10.0 12.0 22.6 19.7 11.0 4.6 0.5
50~59A| 1000 238 149 101 20.2 19.2 6.6 5.0 0.2
604 oAl 1000 181 179 143 252 145 59 4.1 0.0
65 AN o 4 100.0 17.6 18.5 141 25.7 13.5 6.6 3.9 0.0
CoroE e
2 Z o 3§t 100.0 18.4 17.4 13.0 25.8 14.8 6.2 4.3 0.0
ini Z 100.0 22.0 17.5 10.9 19.9 16.3 7.5 54 0.4
If Z o 4 100.0 18.0 10.9 16.9 22.0 20.4 6.2 53 0.3
CZOUAE] >
0| =z 100.0 23.3 18.4 10.7 18.3 16.9 53 6.8 0.4
oo el 1000 179 144 137 245 170 7.8 45 0.2
At &/ O & 100.0 21.5 17.0 15.0 21.6 15.9 4.6 4.5 0.0
BHES >
EY o[ 1000 193 164 124 232 174 6.8 4.7 0.2
AolgHpEs | 1000 205 145 149 215 161 6.6 56 0.3
CH Yo
A2 /e 1000 196 112 137 236 214 6.1 4.5 0.0
At = 100.0 17.2 10.9 16.8 229 21.5 57 4.3 0.7
MqulA/moy| 1000 169 149 109 220 216 8.5 48 0.5
w2 of o 1000 197 195 125 239 136 5.7 4.9 0.0
s /7 Al 1000 228 164 127 237 125 8.3 36 0.0
b~ 5 oof 1000 202 241 76 230 142 41 6.7 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OtRASE>
1000t9l ojat| 1000 196 177 148 249 123 6.7 4.1 0.0
100~2009t9d | 1000 188 178 137 229 129 8.9 4.9 0.0
200~3000teu | 1000 198 188 125 225 169 6.8 2.7 0.0
300~4000t% | 1000 188 128 120 258 208 38 6.1 0.0
400~6008t8l | 1000  20.1 148 145 192 16.8 7.7 6.0 1.0
600atel o[A [ 1000 212 12.7 12.0 212 19.8 7.0 6.2 0.0
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3 - 3. ¥ 714U - (1) AHAEN

Tl 1 %)
B} . |sone 50212 1002121 2008121 3002421| 4008 5002 600RF| T00RH 1oy
= A2 1100mte1| 2002te1| 3002te1 | 4002te1 | 5002te1 [6008He: | 7008te: [goomte| ¢
2 0 2 4 || 1000 148 204 242 192 133 41 21 10 04 05
202 2 4d| 1000 106 231 242 216 130 47 10 09 02 06
CA e
= = 100.0 21.8 27.5 20.5 13.1 10.4 3.9 2.1 0.4 0.0 0.3
M 2| 1000 104 160 266 230 152 42 21 13 06 06
CHooE
Lt 2| 1000 64 188 252 237 158 57 24 11 05 04
o | 1000 339 240 220 89 77 04 15 08 00 08
Co Yo
15 ~29MA| 100.0 0.0 57 35.5 36.2 22.5 0.0 0.0 0.0 0.0 0.0
30~39 A 1000 29 64 311 274 218 38 67 00 00 00
40~ 49 A 100.0 1.3 6.8 18.0 30.1 25.9 10.5 4.0 1.1 2.2 0.0
50~594| 1000 38 132 279 206 192 73 33 31 00 17
6 0 Al O| Af 100.0 27.0 31.3 22.7 12.4 4.7 0.9 0.4 0.2 0.0 0.3
6 5 Al O| Af 100.0 32.1 35.5 18.7 10.8 2.6 0.0 0.3 0.0 0.0 0.0
oo
2 Z o 3§t 100.0 341 36.5 16.6 9.1 2.7 0.3 0.7 0.0 0.0 0.0
ini Z 100.0 3.6 14.3 31.0 24.0 17.2 34 3.6 1.4 0.9 0.6
If & o 4 100.0 2.6 51 25.3 27.3 23.8 11.0 1.8 1.9 0.0 1.2
CZOIAEIES
0| =z 100.0 9.2 12.4 34.0 31.2 12.4 0.0 0.0 0.8 0.0 0.0
W o 29 2| 1000 39 173 262 218 183 69 30 13 06 07
Ab @ /ol &| 1000 406 313 147 70 36 05 14 04 00 04
(BAEFE
Z| o 100.0 6.4 16.4 27.4 23.5 16.2 5.2 2.5 1.3 0.5 0.7
Alo! Ol HEA RS 100.0 41.6 33.2 141 5.3 4.4 0.7 0.7 0.0 0.0 0.0
CH oY
A9 /el 1000 16 48 130 291 298 110 24 35 19 29
At = 100.0 0.0 7.2 28.9 25.1 24.9 6.5 7.5 0.0 0.0 0.0
HH|A/mof| 1000 22 106 373 207 165 56 33 30 00 07
= 2 o ¢ 100.0 15.3 31.8 29.2 14.3 4.4 3.3 1.7 0.0 0.0 0.0
25 /71 A 100.0 0.9 3.9 22.0 37.9 25.1 5.2 2.1 0.9 1.1 0.8
oS =2 100.0 9.3 32.1 29.1 20.1 9.4 0.0 0.0 0.0 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tRasE)
1009t9l Ojot| 1000 557 399 40 00 04 00 00 00 00 00
100~2008tg | 1000 91 474 412 18 05 00 00 00 00 00
200~3000tgl | 1000 46 152 498 266 13 08 17 00 00 00
300~4000t94 | 1000 16 40 219 413 289 06 00 17 00 00
400~6000t9d | 1000 00 24 122 318 337 128 61 10 00 00
6000t ofAf| 1000 1.8 31 95 107 280 210 89 64 43 63
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3 - 3. 4HZ JIRAH - (2) 7P RHEE MY 2 (3Y)

(St : %)
Az IHAb 7 uy =
=] - = nE o= - | e EA o
25|
2 0 2 4 4| 100.0 446 135 6.5 5.2 09 172 5.5 0.9 2.0 3.7 0.1
2 0 2 2 4 100.0 439 147 7.1 4.0 1.0 16.0 6.0 0.5 2.5 4.4 0.0
<A 9 d
= = 100.0 39.0 8.2 6.1 7.2 09 250 5.0 0.9 1.6 5.8 0.2
A =1 100.0 48.1 16.9 6.8 3.9 1.0 123 5.8 0.9 2.2 2.3 0.0
<A 5 )
= At 100.0 46.4 13.7 7.2 49 08 134 6.1 1.2 1.8 43 0.0
o At 100.0 40.4 13.0 48 5.9 1.2 258 4.0 0.1 2.3 2.3 0.3
A g g
175 ~29 A/ 1000 535 209 10.7 0.0 0.0 0.0 7.7 5.5 1.7 0.0 0.0

30~ 39 A 100.0 494 288 2.8 2.8 0.7 1.7 10.3 0.9 0.7 1.8 0.0
40 ~49 A || 1000 487 18.0 7.4 4.4 0.4 42 133 1.8 1.3 0.5 0.0
50~59 A | 100.0 525 151 4.9 3.8 0.8 7.6 8.4 0.3 3.2 3.0 0.4
6 0A ©Of A 1000 383 8.5 7.1 6.9 1.3 294 0.7 0.4 1.8 5.5 0.0

65A O A| 1000 385 76 55 73 14 325 02 04 16 50 00
o g

Zz Z o & 1000 399 80 54 79 10 322 05 02 18 32 00
I} =z | 1000 494 157 62 41 04 95 73 18 22 31 02
Il = of AH| 1000 443 186 86 28 17 61 103 05 19 53 00
(ZQIMEfES

o] 5| 1000 524 161 96 50 08 50 20 38 25 21 06
Bl © 2 9 | 1000 438 147 67 46 10 143 80 04 20 44 00
Ab® /o &| 1000 418 97 42 67 09 300 21 02 15 29 00
(BAEFE>

2| of| 1000 455 159 70 49 10 123 64 09 21 38 0.1
Aol O HpRElE | 1000 416 60 48 64 06 328 25 07 16 31 00
CH Yo

M2/ moa| 1000 495 121 72 22 23 61 127 00 29 50 00
Ab o 1000 446 265 36 27 24 104 52 00 07 40 00
MH A/mof| 1000 448 204 74 61 16 54 72 15 24 25 06
= =2 of o 1000 404 110 78 64 08 243 18 03 16 56 00
Jl 5/ 71 A| 1000 499 179 52 24 00 67 102 20 29 28 00
ot & 4. @ 1000 526 147 112 80 00 78 31 16 05 06 00
2 off 00 00 00 00 00 00 00 00 00 00 00 00
tH258D

1000tgl O 1000 392 58 34 71 04 386 01 04 19 29 00
100~2000t2 | 1000 450 75 75 74 14 245 26 06 08 29 00
200~3000+2 | 1000 471 200 69 35 06 99 30 13 25 51 00
300~4000t% | 1000 444 169 89 42 15 95 78 16 15 37 00
400~6000+l | 1000 478 162 65 33 06 56 129 09 26 30 06
6000t9 o|Af| 1000 455 157 67 64 17 55 114 00 27 43 00
2024'3 Hefd: FUT AIBIRAL SH=(1a*3+229)/4
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3 -3, YW2 A - (3) 7% SHEE MY 22 (129)
(St : %)
. N2 |l aeu| 7 oz 22 | nau| oe | say| 22
28 | A | gy |3 R g, AR gy |28 ;Ztu suul| S5 | 7IEr
= O
2 02 4 A5 1000 519 132 56 24 08 176 50 04 07 23 01
202 2 4| 1000 439 147 71 40 10 160 60 05 25 44 00
CA G O
= = 100.0 420 8.4 6.1 4.5 0.8 270 5.0 0.9 0.6 4.4 0.3
A =1 100.0 58.1 16.2 5.2 1.1 0.8 116 5.0 0.2 0.8 1.0 0.0
<A = )
=k At 100.0  55.1 13.6 6.1 2.0 09 130 53 0.6 0.6 2.8 0.0
o At 100.0 445 123 43 3.4 0.6 281 4.2 0.0 1.0 1.3 0.4
Co g
15~294] 1000 641 208 74 00 00 00 78 00 00 00 00
30~39 A | 1000 558 340 0.0 0.0 0.0 0.0 10.2 0.0 0.0 0.0 0.0
40 ~49 AN || 1000 587 17.7 7.6 0.7 0.0 2.1 11.9 1.3 0.0 0.0 0.0
50~509A| 1000 651 136 26 12 07 59 79 00 13 12 05
6 0A O A 100.0 421 79 6.9 4.0 1.2 319 0.5 0.5 0.9 41 0.0
65A O A 100.0 41.7 7.0 5.0 4.7 1.2 359 0.0 0.6 0.8 3.2 0.0
- I
Z Z o] 3} 100.0 439 7.4 4.4 5.0 0.7 351 0.4 0.3 0.8 2.0 0.0
i Z | 100.0 59.7 156 49 1.1 0.3 8.0 6.4 0.9 0.7 2.0 0.3
f & o 4[| 1000 518 183 8.4 0.5 1.6 5.6 9.8 0.0 0.6 3.3 0.0
(ZOSEIES
0| Z | 100.0 643 16.7 9.6 1.6 0.0 2.5 2.1 1.4 1.0 0.0 0.8
Bl © 2t 9 2| 1000 508 143 56 21 10 142 76 04 07 34 00
At &/ o & | 100.0 472 8.9 3.3 3.5 0.6 330 1.3 0.0 0.6 1.4 0.0
(BAHESE>
2 o | 1000 53.7 16.0 6.0 2.3 0.8 115 5.8 0.4 0.8 2.5 0.2
Aot dl HpExele (| 100.0  46.0 4.2 43 2.9 0.6 36.9 2.5 0.6 0.4 1.7 0.0
CA Yoo
M9/ g| 100 620 107 44 13 27 55 88 00 16 30 00
At S 100.0 495 276 2.9 0.0 2.2 107 4.3 0.0 0.0 2.7 0.0
MH A/Dof| 1000 535 207 68 34 05 28 69 13 07 27 07
L 2 of o 100.0 458 11.2 7.4 3.8 0.7 259 1.3 0.4 0.9 2.6 0.0
7' 5 / 7| A | 1000 59.9 181 34 0.0 0.0 41 11.0 0.0 0.9 2.6 0.0
b & L 2| 1000 618 156 10.7 2.2 0.0 6.5 3.1 0.0 0.0 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000tel Ojot| 1000 415 41 24 35 04 455 00 00 08 18 00
100~2000tg | 1000 539 69 76 30 14 232 20 06 00 13 00
200~3000t8l | 1000 558 217 54 07 00 75 23 10 14 43 00
300~4000t% | 1000 517 164 92 17 12 95 79 00 07 18 00
400~6000t2 || 100.0 574 154 45 3.0 0.7 36 123 0.8 0.0 1.6 0.8
6008t O|Af | 100.0 548 159 47 3.4 1.8 4.6 9.8 0.0 1.8 3.3 0.0
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3 - 3. YW JIRAH| - (4) JHY SHES AP ¥ (229)

(9l %)
Na IHAL 27 || a2 ES
T | A | gy [P ase Sl s o lage) ot saw| B2 e
= O I

2 0 2 4 4 100.0 227 145 9.3 136 1.5 16.0 6.9 2.2 5.7 7.6 0.0
2 0 2 2 4 1000 229 169 135 9.1 16 15.2 6.1 1.0 59 7.7 0.0
A E
= = 100.0 299 7.7 6.0 154 1.3 188 4.8 1.0 48 10.2 0.0
A =21 100.0 182 188 11.4 125 16 14.2 8.1 3.0 6.2 6.0 0.0
<N o
= At 100.0 20.4 143 106 136 08 146 8.4 3.1 5.5 8.6 0.0
o Zt| 100.0 280 150 6.4 135 3.0 191 3.2 0.3 6.2 5.3 0.0
Co g
175 ~29A/| 1000 219 215 205 0.0 0.0 0.0 7.4 221 6.7 0.0 0.0

30~39 A 1000 300 134 11.3 113 2.9 6.7 104 3.8 2.9 7.3 0.0
40~49 AN | 1000 187 188 6.7 155 16 105 175 3.3 5.4 2.0 0.0
50~59 A 100.0 148 196 119 113 1.1 126 9.7 1.4 8.9 8.6 0.0
6 0AM ©Of A| 100.0 267 104 7.8 155 1.5 219 1.5 0.4 4.6 9.7 0.0

65A O A 1000 291 93 72 149 19 223 09 00 41 102 00
o g

Z Z o 8| 1000 278 100 84 165 16 234 08 00 48 66 00
i} =z 1000 185 159 102 132 09 140 97 46 65 64 00
I = of A| 1000 216 193 92 97 22 75 118 18 57 112 00
(ZALEHES

o] s 1000 165 144 98 149 30 127 20 1.1 72 84 00
Hf © 2 9 & 1000 229 157 103 121 10 146 94 04 60 76 00
Ab & /o &| 1000 258 121 69 161 16 207 42 10 42 74 00
(BAHEFE>

Y of| 1000 210 155 102 126 17 146 82 26 58 78 00
Aot ypei= | 1000 283 112 64 168 08 203 25 11 54 71 00
CH oY

M8/ ®e| 1000 121 161 156 49 11 82 242 00 68 108 00
At = 1000 296 232 57 108 29 94 79 00 27 78 00
MH A/moj| 1000 186 197 92 142 48 135 83 20 75 21 00
= 2 of ¢ 1000 241 103 91 143 10 197 33 00 36 146 00
Jl 5 / 7 A| 1000 200 176 104 96 00 143 78 82 87 33 00
ot & & @ 1000 251 118 125 254 00 117 31 63 20 22 00
2 off 00 00 00 00 00 00 00 00 00 00 00 00
tH258D

1000tgl O 1000 323 111 64 180 04 180 04 17 53 65 00
100~2000t2 | 1000 185 93 70 204 12 281 41 06 31 76 00
200~3000tSl | 1000 210 149 113 119 26 170 53 23 60 77 00
300~4000t% | 1000 225 185 79 118 25 93 75 64 40 95 00
400~6000t% | 1000 192 188 124 45 06 116 145 10 103 72 00
6000t ofAf| 1000 176 152 129 156 13 83 162 00 54 74 00
2024'3 Hefd: FUT AIBIRAL
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y. o y = O
3-4 %4 ANA¥H (CfF SH)
(T2l = %)
g5 | 33| AZAH | HF | - =
:'E_;)r gz | T9 | z01 Z7{H|| = |_|H gd | = U7
;I. _I?_ 7_-” O = O AH:EI}-' od e = _ ;ng %F% /\H:_D}. 7|E|’
= ZAM. _/':Eof o Xl_or_l Xl_or_l E?él‘ EI-% o o
o (DE|-A|_-I [ [ [ = EE ZI-?_—I ZIO-I
23 | A Ad | A~ °
2 02 4 A 1000 76 119 261 89 191 51 48 36 103 25 02
2 02 2 4| 1000 86 168 236 101 181 43 43 27 98 16 0.1
<29 g
= =1l 100.0 57 111 315 101 179 1.8 5.7 24 121 1.6 0.2
A 2 100.0 88 124 226 8.1 19.8 7.3 4.2 4.4 9.1 3.1 0.2
<A ST
= At 100.0 86 125 246 81 19.7 5.2 5.4 3.6 9.7 23 0.3
o At 100.0 6.4 112 278 9.8 183 5.1 4.1 3.6 109 2.8 0.1
o
15~29A 1000 77 113 176 85 260 98 40 42 76 33 00

30~39 A | 100.0 47 121 24.2 74 214 4.6 5.6 28 123 3.9 1.0
40~ 49 AN || 100.0 7.8 126 230 73 26.0 4.6 4.2 3.4 8.9 2.1 0.0
50 ~5 9 Al 100.0 7.2 121 295 6.1 178 5.8 4.7 43 106 1.4 0.5
6 0 M ©Of A 100.0 83 11.7 290 114 141 3.3 5.1 3.3 111 2.6 0.0

65A O A 1000 78 120 296 115 135 31 52 30 118 26 00
<8 oE g

=z Z o] & 1000 85 113 285 115 160 35 45 35 98 30 00
I} = | 1000 84 114 266 73 190 59 61 31 99 1.7 05
Il = of AH| 1000 51 133 222 78 234 62 33 43 114 30 00
(ZQIMEfES

i 5| 1000 78 121 220 68 231 85 49 46 73 25 04
Hf © 2 9 & 1000 7.4 114 264 99 187 40 50 33 109 28 02
Ab® /o &| 1000 80 132 311 85 146 42 38 32 121 14 00
(BAHESE>

2| of| 1000 82 108 266 82 190 56 54 33 104 24 0.1
Aol @ HpREE | 1000 63 141 252 104 192 41 36 42 99 28 03
CH oY

M2/ ®al|1000 73 116 233 77 226 22 63 30 128 30 00
n o | 1000 47 98 248 38 173 96 36 76 136 44 07
MH A/mof| 1000 97 82 276 88 226 66 45 24 76 16 03
= 2 of o[ 1000 80 130 270 109 143 30 60 35 125 19 00
Jl s /71 Al 1000 82 120 269 62 193 79 59 24 87 25 00
b 2 L @ 1000 106 73 278 59 223 81 53 25 74 29 00
2 off 00 00 00 00 00 00 00 00 00 00 00 00

S
-4
N
An
nE
v I

1000tgl O 1000 71 174 321 87 153 28 30 19 102 15 00
100~2000t9 | 1000 85 85 309 89 112 35 84 58 103 39 00
200~3000t2 | 1000 95 139 237 93 164 70 52 36 102 1.4 00
300~4000t% | 1000 55 108 254 87 241 60 22 51 96 26 00
400~6000t% | 1000 75 101 230 81 248 44 47 25 110 32 08
6000t o|Af| 1000 74 114 246 104 185 63 60 27 103 24 00
2024 Mefgde FUT ABIRAL
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3 - 5 AU LFA F7t0f Chet A4 - (1) A=A L=FA F70f gt Q14

(29l : %)
2 = A | AR | g |4 mgolt | Lol |, S
O I s oIN ol Lo
2 0 2 4 4 700.0 38.0 2.2 258 403 21.6 18.2 35
CA Y
= = 100.0 51.8 19.9 31.8 39.7 8.6 7.2 1.3
A = 100.0 28.8 7.0 21.8 40.8 30.4 25.5 49
<A o
=k At 100.0 38.7 11.8 26.9 40.9 20.4 17.2 3.2
o At 100.0 37.3 12.7 24.6 39.7 23.0 19.2 3.8
CH
15 ~29 XA 100.0 18.8 9.1 9.8 63.5 17.6 15.2 2.4
30~39MA 100.0 21.0 3.1 17.9 50.0 29.0 24.0 5.0
40~49AH 100.0 221 37 18.4 52.1 25.8 19.1 6.7
50~59A 100.0 35.7 10.3 25.5 41.6 22.7 20.2 2.5
6 0 Al O| At 100.0 53.6 18.6 35.0 26.8 19.7 16.7 2.9
6 5 Al o| At 100.0 55.5 18.8 36.7 245 20.0 17.4 2.7
CotE oy
2 Z o 3§t 100.0 471 17.4 29.7 30.3 22.5 19.2 3.4
ini Z 100.0 35.1 9.3 25.8 42.6 22.2 19.0 3.2
If Z o 4 100.0 28.2 8.5 19.7 525 19.3 15.3 4.0
CE QA
0| =z 100.0 24.7 8.4 16.3 547 20.6 18.1 2.5
B O 2 Qe 100.0 40.2 12,6 27.6 38.2 21.6 17.4 4.2
At &/ o] & 100.0 47.6 15.7 31.9 29.2 23.2 20.9 2.3
(BHES
Z| o 100.0 39.0 12.3 26.8 39.3 21.6 18.5 3.1
Alo! Ol HEA RS 100.0 36.1 121 24.0 42.2 21.7 17.5 4.2
CH Qo
A2 /7 o g 100.0 30.2 7.5 22.7 40.4 29.4 24.5 49
At = 100.0 25.7 9.0 16.7 57.5 16.8 14.8 2.0
M H| A / T Of 100.0 32.7 9.5 23.1 46.7 20.6 16.5 4.2
= 2 of o 100.0 60.1 22,5 37.6 24.2 15.7 145 1.2
25 /71 A 100.0 25.1 1.3 23.9 46.5 28.4 22.6 5.8
oA L oo 100.0 26.0 12.4 13.7 436 30.3 30.3 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtRAE )
1000t O|at 100.0 53.3 17.9 35.4 27.0 19,7 18.4 13
100~2000H 100.0 49.4 19.7 29.7 335 17.1 156 1.5
200~3008+S 100.0 39.9 13.0 26.9 359 24.3 20,5 38
300~4008+8 100.0 34.4 10.9 235 40.2 253 221 32
400~6009H 100.0 27.4 56 217 54.9 17.7 141 37
6000t O] A 100.0 25.7 7.9 17.7 47.9 26.5 18.2 8.2
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3 - 5. 2= FA 3710 gt Q4] - (2) A= EFA Al HAU(SEA, HEUA)

(549 = %)
_ 23 02 oz ¢
=] o= 0 a o o HE 4H | &Y
S A g | 248 [Fae) = IEART e | e

202 4 4 100.0 55.1 18.8 13.2 10.0 0.7 2.1 0.1
A9 g
= =l 100.0 56.0 15.8 15.2 10.9 0.6 1.4 0.0
A = 100.0 54.2 21.5 11.5 9.1 0.8 2.7 0.2
<A 5y
=k At 100.0 57.2 18.9 13.5 8.6 0.3 1.4 0.0
o At 100.0 52.6 18.7 12.9 11.5 1.2 29 0.2
Co g
15 ~29 XA 100.0 51.9 28.1 11.2 5.7 0.0 3.1 0.0
30~39MA 100.0 55.3 10.5 15.6 14.3 0.0 4.4 0.0
40~ 49N 100.0 436 22.0 14.6 16.9 0.0 2.9 0.0
50~59 Al 100.0 57.8 20.5 8.6 10.0 1.0 1.6 0.5
6 0AN o A 100.0 58.3 15.5 15.1 8.5 1.2 1.4 0.0
65AM o 4 100.0 59.0 14.1 15.8 8.6 1.3 1.3 0.0
<8 oE g
2 Z o 3§t 100.0 60.5 13.1 13.7 9.8 0.8 2.1 0.0
il = 100.0 57.5 18.3 11.7 8.7 0.9 2.6 0.3
o = of A 100.0 43.2 28.2 14.8 12.0 0.4 1.4 0.0
(ZALEHES
0| =z 100.0 54.6 22.0 11.2 9.0 0.0 3.3 0.0
Hf 2 A} U & 100.0 53.3 19.0 13.6 11.3 1.1 1.6 0.2
At &/ O & 100.0 61.7 14.3 14.6 6.8 0.4 2.2 0.0
(BAHEFE>
2 A 100.0 54.6 19.7 12.1 11.1 0.9 1.5 0.1
Al Ol WIS 100.0 56.0 17.2 15.5 7.8 0.4 32 0.0
CH Yo
A2 /7 o g 100.0 38.3 22.3 10.8 27.2 0.0 0.0 1.5
At = 100.0 37.4 31.7 20.4 6.1 1.6 2.8 0.0
M H| A /T Of 100.0 56.2 25.7 7.6 8.9 0.4 1.3 0.0
= 2 of o 100.0 57.6 15.9 12.5 11.0 1.6 1.5 0.0
s /I A 100.0 61.8 13.1 14.3 8.1 0.0 2.8 0.0
o2 L oo 100.0 63.3 11.4 135 9.5 2.4 0.0 0.0
o ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tH258)D
1000+l Ojot 100.0 59.2 13.3 18.1 7.4 0.0 2.1 0.0
100~2008+< 100.0 64.6 11.9 9.4 10.3 1.7 2.1 0.0
200~3000t 100.0 59.8 17.9 13.2 7.4 0.5 1.2 0.0
300~4000t 100.0 40.7 26.4 19.1 11.5 0.6 1.8 0.0
400~6000+2 100.0 53.4 18.6 9.7 13.3 1.3 3.7 0.0
6000rSl O At 100.0 53.2 26.6 9.9 8.7 0.0 0.8 0.8
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- 176 -

3-6 WY YW - (1) WY 2o YAHYE
(EF91 : %)
410] HI1Z{0] 4130 HI130]
2 s A 9gol | 2g 9dn | 23 1 i} )
Mol gitt | Rralzt & |Rtalt AltHE| et 2 | ast Az
Bl QTE (&2 QA G E2 T 2 QJUA| BT
2 0 2 4 4 100.0 50.9 10.1 268 33 8.8
2022 4 100.0 56.4 9.2 23.1 1.4 10.0
A9
3 =) 100.0 46.2 11.0 29.9 4.0 8.8
A G 100.0 54.1 9.5 24.7 2.9 8.9
<A ER
Lt Zt 100.0 50.2 9.4 27.4 35 9.6
ol 2t 100.0 51.6 11.0 26.2 3.2 8.0
CH o
15~29 A 100.0 65.9 105 18.4 0.0 5.3
30~39A4 100.0 56.7 7.2 24.9 5.6 5.6
40~49K 100.0 56.9 8.5 26.9 43 3.4
50~59 A 100.0 52.2 8.1 29.4 15 8.8
60A O A 100.0 425 12.0 28.6 45 12.4
65A O A 100.0 4.8 12.6 28.8 46 12.2
N -
z2 = o 3 100.0 46.8 12.3 275 3.0 10.4
Il £ 100.0 53.7 9.2 25.9 3.2 8.1
oy = of A 100.0 53.1 8.1 27.1 4.0 7.6
(ZOSEIES
o| s 100.0 63.1 6.0 22.0 26 6.3
W S 2 9 2 100.0 48.1 11.0 29.2 3.1 8.7
A" /o & 100.0 44.9 12.6 25.0 5.1 12.4
(BAHESE>
2| o 100.0 495 105 285 3.4 8.2
Aot Q1 HpREE 100.0 53.7 9.5 235 3.2 10.1
CH Yo
=TT 100.0 56.3 3.0 29.8 36 7.3
At [=] 100.0 457 11.7 36.7 5.9 0.0
M H| A /T Of 100.0 52.1 11.2 31.2 1.2 43
= 2 of o 100.0 37.8 13.0 29.1 5.1 15.0
s /7 A 100.0 66.1 55 18.7 2.9 6.8
b2 L oo 100.0 48.4 18.2 276 1.3 45
2 ol 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000+ OOt 100.0 426 12.5 26.1 4.7 14.1
100~2008+ 100.0 49.7 12.8 233 4.2 10.1
200~3000+H 100.0 42.7 9.2 32.0 2.8 13.2
300~4000+ 100.0 52.7 9.3 26.8 4.1 7.1
400~6000+ 100.0 61.2 75 24.1 35 3.7
6000rS Of At 100.0 55.9 11.3 28.0 0.0 48
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HAH| MR JH5EHRD FATT| BE R
2 s A |, AEe= 9 el ol 39 2| 9 338 S|t
117 A9210 | ZEYUAIY | 5 A0l | 24 5 Mg
AL EH [ | & SAAE A 7IHAIE S8
2 0 2 4 4 100.0 38.0 42.7 1.7 75 0.0
2022 4 100.0 36.3 33.9 18.7 11.2 0.0
CA G O
3 =) 100.0 32.3 49.6 9.6 8.5 0.0
A G 100.0 42.6 37.3 13.4 6.7 0.0
<A ER
Lt Zt 100.0 386 419 11.0 8.5 0.0
ol 2t 100.0 37.4 436 12.6 6.4 0.0
Co g
15~29 A 100.0 18.8 66.7 145 0.0 0.0
30~39A4 100.0 23.7 51.8 19.8 4.7 0.0
40~49K 100.0 28.0 432 19.1 9.7 0.0
50~59 A 100.0 31.4 47.5 7.0 14.1 0.0
60A O A 100.0 486 35.0 10.1 6.2 0.0
65A O A 100.0 482 35.4 10.1 6.3 0.0
<8 oE g
z = o % 100.0 453 39.3 9.9 5.4 0.0
] £ 100.0 36.8 44.5 10.1 8.5 0.0
f = o 4 100.0 26.9 46.1 17.4 9.6 0.0
(ZQAHENES
o| s 100.0 26.3 55.4 13.7 46 0.0
W S 2 9 2 100.0 411 38.4 11.9 8.6 0.0
A" /o & 100.0 38.4 45.4 9.6 6.6 0.0
(BAHZESE>
2| o 100.0 38.1 425 115 7.9 0.0
Aot Q1 HpREE 100.0 37.9 43.1 12.3 6.6 0.0
CH oY
=TT 100.0 39.5 38.7 9.3 12,5 0.0
At [=] 100.0 12.3 64.2 8.1 15.4 0.0
M H| A /T Of 100.0 31.4 50.5 13.8 43 0.0
= 2 of o 100.0 43.1 35.4 14.1 75 0.0
s /7 A 100.0 37.4 485 2.0 12.0 0.0
b2 L oo 100.0 64.6 24.1 11.3 0.0 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000+ OOt 100.0 42.0 43.7 9.7 46 0.0
100~2008+ 100.0 39.1 40.7 14.4 5.7 0.0
200~3000+H 100.0 46.2 36.8 10.9 6.1 0.0
300~4000+ 100.0 40.9 32.9 17.7 8.5 0.0
400~6000+ 100.0 28.3 52.7 12.1 6.8 0.0
6000rS Of At 100.0 22.7 57.1 3.2 17.1 0.0
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3 -7 #H&o-AZ ol%

al
— 3

mas AY - (1) ASO-HE ol

] | eE B solEOIM| oo | AR Y
T = Al HEdE U AR | 7R | MEZ 7r§1"é74| g5 g\ 7IE
7Y BAES = e ol &

2 0 2 4 4 100.0 334 8.0 333 181 48 2.4 0.0
202 2 4 100.0 28.7 9.3 29.1 24.6 5.1 33 0.1
CA G &85O

3 =] 100.0 38.7 5.7 26.3 20.9 6.9 1.5 0.0
A G 100.0 29.8 9.6 38.0 16.2 3.4 3.0 0.0
<A ER

Lt Zt 100.0 31.3 7.0 34.9 18.9 48 32 0.0
ol 2t 100.0 35.7 9.1 316 17.2 48 1.6 0.0
Co g

15~29 A 100.0 215 13.9 51.8 5.7 45 2.7 0.0
30~39A4 100.0 16.5 6.1 433 25.3 5.3 36 0.0
40~49K 100.0 29.0 35 34.7 23.7 3.7 5.4 0.0
50~59 A 100.0 333 9.9 32.4 20.5 26 1.3 0.0
60A O A 100.0 41.7 7.1 25.7 17.7 6.2 1.7 0.0
65A O A 100.0 42.7 6.7 25.6 17.1 6.1 1.7 0.0
<8 oE g

z = o % 100.0 39.4 8.2 27.9 17.4 6.1 1.0 0.0
] = 100.0 315 9.4 334 18.4 4.0 33 0.0
f = o 4 100.0 26.8 5.6 41.7 18.7 3.8 3.4 0.0
(ZOSEIES

o| s 100.0 27.0 8.6 46.7 10.7 4.1 2.9 0.0
HE 2 2 9 2 100.0 34.9 7.9 30.2 21.4 3.7 1.8 0.0
A" /o & 100.0 36.3 7.4 26.8 16.5 9.0 4.0 0.0
(BAHESE>

2| o 100.0 32.7 7.0 325 20.3 46 3.0 0.0
Aot Q1 HpREE 100.0 34.7 9.9 34.8 13.9 5.3 1.4 0.0
CH oY

=TT 100.0 28.4 1.7 39.3 16.1 1.0 35 0.0
At [=] 100.0 26.8 1.6 443 22.9 2.8 1.6 0.0
M H| A /T Of 100.0 30.2 7.6 338 19.3 55 36 0.0
= 2 of o 100.0 39.1 5.0 23.7 22.8 7.2 2.2 0.0
s /7 A 100.0 33.2 8.9 335 20.3 1.7 2.5 0.0
b2 L oo 100.0 236 9.0 43.0 14.8 3.4 6.2 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tFa259

1000+ OOt 100.0 42.2 7.3 20.7 19.8 8.2 1.8 0.0
100~2008+ 100.0 42.1 8.9 26.0 14.0 7.7 1.3 0.0
200~3000+H 100.0 33.9 7.1 34.7 17.2 45 2.7 0.0
300~4000+ 100.0 28.8 43 38.0 22.2 42 2.5 0.0
400~6000+ 100.0 33.1 8.8 37.4 136 2.8 43 0.0
6000rS Of At 100.0 17.9 13.4 42.1 24.0 1.8 0.7 0.0
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2 = 7] et YA | G, 0 oy (e MARE| R et 7|t
7|g|0r:A E'X“% | BA A |7IEHEE AE

2 0 2 4 4 100.0 16.2 316 36.5 15.7 0.0
202 2 4 100.0 14.1 29.7 40.1 15.4 0.6
CA G O

3 =) 100.0 13.9 38.4 30.5 17.3 0.0
A G 100.0 17.9 27.0 40.5 14.7 0.0
<A ER

Lt Zt 100.0 15.4 30.3 37.8 16.5 0.0
ol 2t 100.0 17.1 33.0 35.0 14.9 0.0
Co g

15~29 A 100.0 12.9 31.0 432 12.9 0.0
30~39A4 100.0 19.8 22.4 458 12.0 0.0
40~49K 100.0 14.1 29.2 39.4 17.3 0.0
50~59 A 100.0 16.3 28.1 40.7 14.8 0.0
60A O A 100.0 17.3 35.8 29.7 17.2 0.0
65A O A 100.0 18.1 35.1 30.3 16.5 0.0
N R

z2 = o 3 100.0 15.5 34.3 346 15.7 0.0
o = 100.0 16.1 29.8 37.6 16.5 0.0
f = o 4 100.0 17.7 30.0 37.8 14.6 0.0
(ZQAHENES

o| s 100.0 16.2 34.3 38.0 1.6 0.0
W S 2 9 2 100.0 15.0 29.9 37.9 17.3 0.0
A" /o & 100.0 205 336 30.0 15.9 0.0
(BAHZESE>

2| o 100.0 15.2 32.0 36.5 16.3 0.0
Aot Q1 HpREE 100.0 18.2 30.7 36.4 14.7 0.0
N R I

=TT 100.0 17.7 21.4 481 12.8 0.0
At [=] 100.0 19.4 36.3 253 19.0 0.0
M H| A /T Of 100.0 9.1 33.4 419 15.6 0.0
= 2 of o 100.0 15.7 36.6 30.5 17.1 0.0
s /7 A 100.0 21.0 27.1 40.1 11.9 0.0
b2 L oo 100.0 12.2 285 31.3 28.0 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0
L2558

1000+ OOt 100.0 19.9 35.5 31.3 13.3 0.0
100~2008+ 100.0 15.8 35.7 315 17.1 0.0
200~3000+H 100.0 19.7 29.2 338 17.3 0.0
300~4000+ 100.0 16.2 32.2 38.4 13.2 0.0
400~6000+ 100.0 13.8 31.7 40.4 14.1 0.0
6000rS Of At 100.0 10.7 24.2 44.0 21.1 0.0
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(29 2 ™, %)

o B ol g ol

T o ] = el Al olo A A oo

=7 TR uE | o | ozt | mE | 20tE) ozt | Oie | T

OhE | BE SUE | 20rE

2 0 2 4 4 3.4 100.0 999 100.0 43.0 11.4 316 46.1 10.8 6.7 4.1 0.1

2 02 2 4 3.3 100.0 97.7 100.0 359 10.5 253 514 151 10.3 4.7 2.3
P =

= = 3.4 100.0 100.0 100.0 453 9.2 36.1 41.3 13.3 71 6.3 0.0

A = 3.4 100.0 999 1000 414 12.9 286 493 9.1 6.4 2.7 0.1
& S

= At 3.4 100.0 999 100.0 429 144 285 477 9.3 59 3.3 0.1

o At 3.3 100.0 100.0 100.0 431 8.1 35.0 443 12.5 7.5 5.0 0.0
(R I I

15 ~29MA| 3.3 100.0 100.0 100.0 35.0 13.2 21.8 520 13.0 9.3 3.7 0.0

30~ 394 3.3 100.0 100.0 100.0 278 11.1 168 625 9.7 6.2 3.4 0.0
4 0 ~ 49 A 3.3 100.0 100.0 100.0 352 125 2277 525 123 7.8 4.5 0.0
50 ~59A 3.3 100.0 100.0 100.0 44.2 7.0 372 444 114 6.1 5.2 0.0
6 0AN o A 3.5 100.0 99.9 100.0 504 125 37.8 39.9 9.6 5.8 3.8 0.1

654 O A| 35 1000 998 1000 512 133 379 406 82 52 30 02
<8 oE g

=z Z o] &| 34 1000 998 1000 465 103 361 437 99 66 33 02
Il =z | 35 1000 1000 1000 471 158 313 435 93 60 34 00
Il = of A| 32 1000 1000 1000 314 64 251 540 146 79 67 00
(ZOSEIES

o| s | 33 1000 1000 1000 343 133 21.0 533 124 68 55 00
B © 2t 90 2| 34 1000 999 1000 442 105 336 456 101 65 37 0.1
Ab® /o &| 35 1000 1000 1000 500 119 382 388 111 73 39 00
(BAHESE>

Y of [ 34 1000 999 1000 435 119 316 461 103 60 43 0.
Aol @ HpRes | 34 1000 1000 1000 420 104 316 461 119 80 39 00
CH oY

@ /g | 35 1000 1000 1000 402 168 234 494 103 91 12 00
At o| 31 1000 1000 1000 328 00 328 506 166 104 62 00
MH A/ToHOf| 34 1000 1000 1000 426 100 326 457 116 65 51 00
= 2 of 9| 34 1000 997 1000 471 132 339 420 107 54 53 03
7l s /71 A| 35 1000 1000 1000 441 122 319 494 65 38 26 00
b 2 4% 9| 36 1000 100.0 1000 467 187 280 482 50 21 29 00
2 ol - 00 00 00 00 00 00 00 00 00 00 00
L2558

1000tgl O 3.4 1000 1000 1000 494 86 408 389 117 62 55 00
100~2000t2] 3.4 1000 1000 1000 481 144 336 399 120 61 58 00
200~3000t 3.4 1000 1000 1000 424 144 280 469 107 63 43 00
300~4000t2 3.4 1000 996 1000 416 81 334 512 72 35 37 04
400~6000+< 3.3 1000 1000 1000 375 121 254 484 141 116 25 00
6000+ O[Af| 3.4 1000 1000 1000 416 99 317 501 83 49 34 00
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o B ol g ol

T o ] = el Al olo A A oo

= ELTN | @E | me | urr | 28 | 20E| o | oje | T

OhE | BE SUE | 20rE

2 0 2 4 4 34 100.0 899 100.0 432 11.8 314 455 11.3 6.1 52 10.1

2 02 2 4 3.3 100.0 89.3 100.0 390 12.0 27.0 597 13.4 8.4 5.0 10.7
P =

= = 3.3 100.0 766 100.0 439 7.7 36.2 449 11.2 5.0 6.1 23.4

A = 34 100.0 989 100.0 428 14.0 288 458 114 6.7 4.8 1.1
& S

= At 35 100.0 91.2 100.0 441 14.9 29.1 46.2 9.8 5.6 4.2 8.8

o At 3.3 100.0 886 100.0 421 8.2 339 447 13.2 6.7 6.4 114
(R I I

15 ~29MA| 3.4 100.0 99.0 100.0 433 14.7 286 453 11.4 7.7 3.7 1.0

30~ 394 3.3 100.0 981 1000 316 11.3 203 60.2 8.3 6.3 1.9 1.9
4 0 ~ 49 A 3.4 100.0 940 100.0 390 159 232 484 126 8.8 3.7 6.0
50 ~59A 3.3 100.0 954 100.0 435 81 353 432 132 6.4 6.8 4.6
6 0AN o A 3.4 100.0 818 100.0 469 11.2 357 424 105 4.3 6.2 182

65A O A| 34 1000 792 1000 467 115 352 447 87 37 49 208
o g

=z Z o] &| 34 1000 846 1000 424 7.7 348 478 98 46 52 154
in} z| 35 1000 920 1000 490 188 302 399 110 74 37 80
Il = o A| 32 1000 953 1000 356 72 282 505 140 64 77 47
CZOIAEf >

i S| 34 1000 923 1000 386 143 243 493 121 65 56 7.7
H{ © 2+ 9 2| 34 1000 912 1000 442 112 330 443 114 65 49 88
Ab® /o &| 34 1000 830 1000 458 105 353 443 98 42 55 17.0
(BAHESE>

Y of [ 34 1000 902 100.0 431 120 312 456 113 60 54 98
Aol @ HpeEs | 34 1000 894 1000 433 115 318 453 113 64 49 106
CH Yo

@/ @ ea | 33 1000 91 1000 367 150 217 484 149 105 44 19
n o 32 1000 9.3 1000 408 66 342 418 172 87 85 37
MH A/moy| 34 1000 968 1000 440 102 338 472 88 52 35 32
= 2 of 9| 32 1000 772 1000 370 106 263 470 159 61 98 228
Jl s /71 Al 35 1000 972 1000 483 142 341 444 73 49 24 28
b 2 L @ 38 1000 91.7 1000 639 196 444 360 00 00 00 83
2 ol - 00 00 00 00 00 00 00 00 00 00 00
tFa259

1000tgl O 3.3 1000 795 1000 443 78 365 425 133 42 92 205
100~2000t2] 3.3 1000 749 1000 403 108 295 461 138 60 77 251
200~3000t 3.4 1000 931 1000 423 157 266 447 130 53 76 69
300~4000t2 3.4 1000 969 1000 453 90 364 478 68 35 34 31
400~6000+< 3.4 1000 946 1000 432 144 289 452 115 97 18 54
6000t o|A| 3.4 1000 978 1000 425 108 317 465 108 74 35 22
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L | B o Sl
T o otz A AS | A 9o
= #E N e | oo | ozt | 25 (2UE| o4zt | oje | UF
OHE | ot ELIEAERE

2 0 2 4 4 3.4 100.0 999 100.0 457 132 325 421 121 7.6 4.4 0.1
2 02 2 d 3.3 1000 983 1000 364 109 255 51.2 141 9.4 4.8 1.7
<29

= = 3.3 100.0 999 100.0 472 102 370 357 17.0 9.4 7.5 0.1
A = 35 100.0 999 100.0 446 152 294 465 8.8 6.4 2.4 0.1
<M ==

=k At 3.5 1000 999 1000 456 154 302 428 115 7.0 45 0.1
o At 3.4 100.0 999 100.0 457 10.7 350 414 127 8.4 4.3 0.1
Co o

15 ~29 XA 3.4 100.0 100.0 100.0 388 146 242 50.7 105 6.8 3.7 0.0

30~ 394 3.3 100.0 100.0 100.0 344 142 202 533 123 6.7 5.6 0.0
4 0 ~ 49 A 3.4 100.0 100.0 100.0 408 146 262 47.7 116 7.0 4.5 0.0
50 ~59A 3.4 100.0 100.0 100.0 48.1 9.1 391 381 137 9.6 4.1 0.0
6 0AN o A 3.5 1000 99.7 100.0 506 140 365 375 120 7.4 4.6 0.3

65A O A| 35 1000 997 1000 508 139 367 378 114 75 39 03
<8 oE g

z Z o| &| 34 1000 997 1000 472 105 367 417 109 71 38 03
in} = | 35 1000 1000 1000 497 187 309 393 110 69 41 00
Il = of A| 32 1000 1000 1000 373 89 284 472 155 96 59 00
CZOIAEf >

i s | 33 1000 1000 1000 376 141 235 484 140 69 71 00
B © 2t 9 2| 35 1000 999 1000 474 125 348 415 110 73 37 01
Ab® /o &| 35 1000 997 1000 503 141 361 366 131 96 36 03
(BAHESE>

Y of | 34 1000 99.9 1000 465 136 329 415 120 73 47 0.
Aojgiypeis | 34 1000 998 1000 442 124 318 435 123 84 39 02
CH oY

2/ ®g| 35 1000 1000 1000 402 168 234 493 105 93 12 00
n o 33 1000 1000 1000 438 45 393 410 152 90 62 00
MH A/moy| 34 1000 1000 1000 448 113 335 451 102 61 40 00
= 2 of of 34 1000 997 1000 461 134 326 375 163 88 75 03
715 /71 A| 35 1000 1000 1000 477 145 332 432 90 57 33 00
ot 2 & = 39 1000 1000 1000 654 265 389 313 34 21 12 00
2 ol - 00 00 00 00 00 00 00 00 00 00 00
SIEENE P

1000tgl O 3.4 1000 99.7 1000 492 94 399 366 140 78 62 03
100~2000t2] 3.4 1000 1000 1000 473 153 321 368 159 94 64 00
200~3000+ 35 100.0 100.0 100.0 458 183 276 418 124 75 49 00
300~4000t2 3.4 1000 996 1000 469 96 373 443 88 48 40 04
400~6000+< 3.4 100.0 100.0 100.0 423 140 283 457 120 98 22 00
6000rS Of At 3.4 1000 1000 1000 431 110 321 473 96 61 35 00
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3 - 8 27| A2 UFE - (4) YEHYIIS(E2UF °l])

(] : %)
@ol | ooine| JHEO sl i A
2 = A | s |EFZIES| yamz | BIBOL | S&F SEEIIS g
G |2 BA| Tgenil! | ey | okt | Bt
orotk| | orobA]

2 0 2 4 4 700.0 238 7.7 8.2 36 6.8 5.0 4.9
20 2 2 4 100.0 358 87 13.7 2.7 16.7 19.6 28
CA Yo
= = 100.0 51.5 7.0 49 1.4 23.5 11.8 0.0
M = 100.0 36.3 8.4 11.5 5.7 10.2 18.1 9.8
<N g )
= At 100.0 52.9 6.4 2.2 3.8 16.2 16.6 1.9
o 2 100.0 36.3 8.8 13.1 3.4 17.2 13.7 7.4
CoH e
15 ~29MA| 100.0 39.1 21.3 9.4 10.4 0.0 10.4 9.4
30~39A 100.0 19.4 16.1 0.0 0.0 322 16.1 16.1
40~ 49 A 100.0 33.7 4.2 10.4 0.0 28.9 18.5 4.2
50~59 A 100.0 40.2 32 6.5 6.5 9.8 29.7 4.0
6 0 Al o| At 100.0 56.5 4.2 9.3 1.3 19.7 7.3 1.7
6 5 Al O| Af 100.0 52.9 6.3 13.8 1.9 16.8 5.7 2.6
ooy
2 Z o 3§t 100.0 48.4 49 10.2 8.3 6.4 20.0 1.9
ini Z 100.0 36.6 8.6 7.4 2.1 21.3 19.1 4.8
If Z o 4 100.0 458 9.9 6.8 0.0 23.5 5.7 8.3
CE QAR )
0| =z 100.0 47.3 13.6 6.0 6.6 9.2 11.2 6.0
B S 2t Qe 100.0 40.7 7.5 9.3 1.2 19.6 17,5 4.0
At &/ O & 100.0 48.0 0.0 7.9 6.4 18.7 12.8 6.3
(BHESE>
£ of 100.0 396 4.5 8.9 2.2 18.8 18.2 7.9
Ao Ol WIS 100.0 50.8 13.2 7.1 6.0 13.3 9.6 0.0
CAYoE o
a2/ g 100.0 21.5 0.0 14.8 0.0 21.6 42.1 0.0
At = 100.0 18.9 0.0 0.0 0.0 259 14.4 40.7
M H| A /T Of 100.0 32.4 15.9 12.6 3.9 23.1 12.2 0.0
= 2 o o 100.0 56.8 0.0 7.8 0.0 17.4 14.9 3.2
7 s /7 A 100.0 53.5 0.0 10.4 0.0 0.0 23.3 12.9
oA L oo 100.0 23.4 0.0 0.0 333 19.2 24.1 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GFRAS )
1000te oO|ot 100.0 69.1 0.0 6.0 0.0 15.9 9.1 0.0
100~20089H 100.0 48,0 4.2 0.0 138 186 15.3 0.0
200~3000t 100.0 376 3.9 16.5 36 158 16.6 6.0
300~4000t 100.0 61.2 22.4 56 0.0 5.1 0.0 56
400~6000t 100.0 28.4 13.3 10.7 0.0 27.9 172 25
6000r9l Of Af 100.0 26.1 0.0 53 7.4 0.0 35.0 26.2
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2 0 2 4 4 700.0 253 6.1 216 75 36.4 75 76
20 2 2 4 100.0 433 88 205 0.0 15.2 7.2 5.1
CA Yo
= = 100.0 32.1 9.1 13.4 0.0 40.4 5.0 0.0
A = 100.0 21.8 4.6 25.8 2.2 34.4 8.7 2.4
<N g )
= At 100.0 28.0 8.9 19.3 0.0 35.6 6.4 2.0
o At 100.0 23.0 3.8 23.6 2.7 37.2 8.4 1.3
CoH e
15~294 100.0 318 1.9 238 0.0 217 10.8 0.0
30~39A 100.0 0.0 19.2 385 0.0 423 0.0 0.0
40~ 49 A 100.0 10.2 12.9 21.8 4.4 39.8 10.9 0.0
50~59 A 100.0 39.1 38 18.9 2.9 183 133 36
6 0 Al O| Af 100.0 24.4 0.0 19.5 0.0 52.3 1.9 1.9
6 5 Al O| Af 100.0 23.2 0.0 19.1 0.0 54.6 0.0 3.1
ooy
2 Z o 3§t 100.0 16.9 8.8 26.8 0.0 39.8 53 2.3
ini Z 100.0 29.8 9.1 23.6 2.0 25.7 7.3 2.4
If Z o 4 100.0 28.2 0.0 14.2 2.3 45.6 9.8 0.0
CE QAR )
0| =z 100.0 26.4 7.3 27.6 2.9 29.1 6.6 0.0
B S 2t Qe 100.0 24.2 7.1 17.5 0.0 39.0 96 2.7
At &/ o] & 100.0 28.0 0.0 28.7 5.0 38.3 0.0 0.0
(BHESE>
Z| o 100.0 25.1 6.5 18.5 2.2 33.9 11.3 2.4
Ao Ol WIS 100.0 255 5.4 27.6 0.0 414 0.0 0.0
CAYoE o
a2/ g 100.0 24.2 0.0 29.6 0.0 28.7 17.6 0.0
At = 100.0 9.5 14.4 14.0 0.0 43.6 18.5 0.0
M H| A /T Of 100.0 305 15.3 19.7 10.7 13.2 106 0.0
= 2 o o 100.0 32.1 3.7 6.8 0.0 51.1 3.7 2.8
7 s /7 A 100.0 11.7 0.0 46.9 0.0 8.5 21.2 11.7
oA L oo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GFRAS )
1000te oO|ot 100.0 26.7 0.0 17.0 0.0 56.2 0.0 0.0
100~20089H 100.0 317 6.5 17.4 0.0 445 0.0 0.0
200~3000t 100.0 22.0 0.0 317 31 40.0 32 0.0
300~4000t 100.0 332 0.0 213 0.0 39.4 0.0 6.1
400~6000t 100.0 10.4 236 29.4 0.0 29.0 7.6 0.0
6000r9l Of Af 100.0 410 0.0 0.0 58 5.2 40.7 7.2
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ar| no| 7ROl sl B
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202 4 4 100.0 343 15.2 70.0 0.4 20.7 18.2 1.2
2@ 2 2 100.0 282 17.2 9.9 25 17.7 15.9 8.6
CA oo
= = 100.0 354 9.8 6.7 0.8 26.3 21.0 0.0
M = 100.0 328 22.1 14.2 0.0 13.4 14,7 2.8
<A o )
= At 100.0 35.9 14.2 6.4 0.0 19.1 24.3 0.0
o At 100.0 32.6 16.2 13.5 0.9 22.2 12.2 2.4
coE o
15~209 A 100.0 22.7 12.8 116 0.0 39.9 12.8 0.0
30~39A 100.0 0.0 29.0 12,6 0.0 12,6 457 0.0
40~ 49 A 100.0 22.8 26.6 19.7 0.0 24.2 6.6 0.0
50 ~509 Al 100.0 46.2 12.3 8.1 0.0 1.7 19.1 2.7
6 0 Al o| At 100.0 41.4 11.0 6.9 1.0 20.5 17.7 1.4
65AM O A 100.0 40.0 14,7 5.4 13 18.3 185 1.9
oo ow
2 Z o 3§t 100.0 34.0 17.5 6.8 1.3 14.3 24.5 1.7
ini Z 100.0 38.0 13.1 7.9 0.0 20.2 20.8 0.0
If Z o 4 100.0 30.6 14.8 15.7 0.0 28.4 8.5 2.0
(B OIAEN )
0| =z 100.0 22.5 12.7 12.0 0.0 29.4 23.3 0.0
B S 29 S 100.0 39.1 14.8 10.9 0.8 18.2 13.9 2.2
At &/ O & 100.0 36.7 19.3 4.5 0.0 16.0 23.5 0.0
(FABS >
Z| o 100.0 35.1 14.5 9.0 0.7 17.8 21.0 1.9
Alo] O HpREIS 100.0 32.7 16.4 11.8 0.0 26.1 13.1 0.0
IR
Mg g 100.0 21.1 0.0 14.5 0.0 30.1 24,5 9.8
At = 100.0 10.3 35.6 30.6 0.0 23.5 0.0 0.0
M H A /T oy 100.0 24.0 26.6 4.9 0.0 31.4 13.2 0.0
= 23 of o 100.0 45.0 7.5 36 1.5 12.0 28.3 2.1
s /7 A 100.0 50.2 9.3 14.1 0.0 0.0 26.4 0.0
oA L oo 100.0 35.1 36.1 0.0 0.0 28.7 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OtRASHE
10009l O|ot 100.0 34.0 17.9 11.1 2.5 22.6 11.9 0.0
100~2000t8l 100.0 3.4 21.0 6.0 0.0 25.7 14.9 0.0
200~3000t 100.0 35.6 6.4 8.8 0.0 20.1 29.1 0.0
300~4009H 100.0 47.9 141 0.0 0.0 16.6 16.8 46
400~6000t% 100.0 25.8 20.7 14.7 0.0 24.4 11.4 3.0
6000 Of At 100.0 354 6.5 21.9 0.0 5.8 30.5 0.0
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3 - 9. 7t AMlasti oiZsloF ¥ ESZA
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oy | FEE | Ay | 2T [FEASN g0
o 254 o o AH|£9| CHot
T = A e gy | #3A2 | B34S Ty 2| ezs A=
T = %43 SEAF |_7+§f_| CE
[oe] o

202 4 4 100.0 23 122 1.0 16.1 84 99 0.1
202 2 d 100.0 M 17.7 10.7 17.3 6.7 6.4 0.1
CA A E
= sl 1000 441 1.6 95 14.2 1.6 838 0.2
A al 1000 M. 126 12,0 17.3 6.3 106 0.0
CHoEH
ot 2| 1000 44.2 138 9.7 14.9 8.1 93 0.0
o 2| 1000 403 10.4 12.4 17.3 8.9 106 0.2
coa e
15~294| 1000 39.2 88 106 13.7 9.4 18.4 0.0
30~39A| 1000 443 19.2 7.0 15.9 15 12.2 0.0
40~49A| 1000 38.2 13.7 1.6 143 1.5 10.2 06
50~594 | 1000 348 16.5 1.6 18.4 8.4 104 0.0
60A oAl 1000 478 95 1.4 16.4 8.4 65 0.0
654 oAl 1000 478 76 12.1 16.4 9.2 69 0.0
Coe e
z 2 o a| 1000 49.4 6.3 12,0 16.8 8.2 73 0.0
2 z| 1000 38.7 14.7 10.9 15.1 9.3 1.3 0.0
= o A 1000 36.8 17.7 95 16.4 75 1.8 0.4
CZ oA E >
| 5| 1000 36.5 8.9 133 155 8.5 17.1 0.0
Bl 9 29 e| 1000 4.6 14.0 96 17.5 8.9 83 0.1
Ab® /ol = 1000 52.0 103 12.8 12.2 6.7 59 0.0
(BAHEFE>
2 o 100.0 393 133 1.9 17.4 9.0 9.1 0.1
Mol HpEE | 1000 48.3 10.1 9.3 136 73 1.4 0.0
EEEE
e/ e 100.0 4.6 125 15.7 8.1 5.1 16.9 0.0
A a| 1000 12.2 23.0 15.4 26.0 12,0 99 16
MHlA/moy| 1000 35.1 15.0 1.3 18.7 10.2 96 0.0
= 2 o o 100.0 49.0 86 1.2 16.6 9.1 55 0.0
N s /A 100.0 35.7 16.5 1.5 19.1 6.8 103 0.0
o2 L o8| 1000 456 10.7 7.4 16.1 12,0 8.2 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0
Ot a2s5ED
10008l Ojgr| 1000 498 7.4 148 12.0 8.7 7.2 0.0
100~2008t2l | 100.0 47.1 9.2 12,0 16.5 95 58 0.0
200~3003t9l | 100.0 44.4 14.0 86 18.5 95 50 0.0
300~4000% | 100.0 37.8 12.2 71 18.6 10.3 13.9 0.0
400~6000% | 100.0 42.4 16.1 12.2 9.9 9.7 9.8 0.0
60009l of4f | 1000 30.2 123 126 23.7 0.0 204 07
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282 | A | yhae | oy | A N | e
M g

2 0 2 4 4 700.0 11 63. 19.8 0.7 35 1.1 0.0
201 7 4 100.0 9.2 71.4 155 13 1.7 0.9 0.0
<Aoo

= = 100.0 7.5 66.0 19.9 0.8 4.5 1.3 0.0
A = 100.0 13.5 62.4 19.8 0.6 2.8 0.9 0.0
<N g )

=k At 100.0 10.5 68.0 16.6 0.9 3.3 0.7 0.0
o At 100.0 11.7 59.3 234 0.4 3.6 1.5 0.0
oy

15~294 100.0 7.9 73.0 75 2.4 6.4 28 0.0
30~39A 100.0 7.8 74.9 122 0.0 5.1 0.0 0.0
40~49 M 100.0 10.2 62.2 22.4 1.0 37 0.5 0.0
50~59M4A 100.0 11.9 66.3 17.1 0.0 3.0 1.7 0.0
6 0AN o A 100.0 12.6 58.3 25.6 0.5 2.4 0.6 0.0
65 AN o 4 100.0 13.6 55.8 27.6 0.2 2.4 0.5 0.0
<o

= Z O] 3o 100.0 13.5 56.9 257 0.4 3.1 0.5 0.0
il = 100.0 12.2 65.3 19.0 0.9 1.6 1.1 0.0
If Z o 4 100.0 5.6 72.7 12.0 0.9 6.8 2.0 0.0
EANENE>

0| =z 100.0 9.5 54.9 253 2.1 6.1 2.1 0.0
Hf 2 A} U & 100.0 10.3 82.6 4.0 0.3 2.0 0.8 0.0
At &/ O & 100.0 15.7 13.7 64.9 0.3 4.9 0.6 0.0
SR

2 A 100.0 10.5 67.4 17.0 0.8 3.3 0.9 0.0
Ao Ol WIS 100.0 121 57.0 25.3 0.6 37 13 0.0
CH Yo

a2/ g 100.0 6.9 75.0 8.4 2.2 4.3 3.2 0.0
At = 100.0 3.7 70.1 19.5 0.0 6.7 0.0 0.0
M | A/ T o 100.0 8.3 723 13.9 0.5 4.3 0.8 0.0
= 2 o o 100.0 10.9 66.8 19.2 1.2 1.0 0.8 0.0
25 /71 A 100.0 11.0 66.4 17.9 0.0 3.8 0.8 0.0
oS =2 100.0 30.2 38.8 26.8 0.0 4.2 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Gtras

1000tel Ojot 100.0 135 335 4856 0.4 36 0.4 0.0
100~200%t&! 100.0 11.7 58.6 239 0.0 5.2 0.7 0.0
200~3000t 100.0 15.7 66.8 123 0.4 48 0.0 0.0
300~4000t 100.0 9.6 65.1 16.9 0.8 43 3.4 0.0
400~6000t 100.0 6.6 79.4 125 0.0 1.1 0.4 0.0
6000r9l Of Af 100.0 9.6 75.6 7.6 3.5 1.8 1.9 0.0
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3- 10, MEEH =F METE - (2 QUMHIA WD S FA(EY SolM)
el %)
= AFEl Z{ 9| ZEH oFo =0l < th% BEY
TR A e | ) Y Laeye | D (oigem| 7
2 0 2 4 4 700.0 61.1 201 23 37 706 0.1 0.0
REEE
= =l 100.0 71.3 7.9 4.5 4.5 11.6 0.3 0.0
A = 100.0 53.9 28.7 4.2 3.2 10.0 0.0 0.0
<A o
= At 100.0 55.6 255 3.9 3.5 11.4 0.0 0.0
of 2 100.0 67.3 13.9 48 40 9.8 0.3 0.0
TR
15 ~29MA 100.0 34.7 36.8 0.0 7.7 20.8 0.0 0.0
30~ 394 100.0 451 447 0.0 0.0 10.2 0.0 0.0
40~ 49N 100.0 46.0 348 3.1 0.6 15.5 0.0 0.0
50~59 Al 100.0 63.3 173 4.4 35 115 0.0 0.0
60AM O A 100.0 76.1 6.7 6.9 4.4 57 0.3 0.0
65AM o 4 100.0 80.2 5.7 5.7 3.6 4.6 0.4 0.0
<o
2 Z o 3§t 100.0 72.5 11.9 6.6 3.5 5.3 0.3 0.0
i Z 100.0 53.8 25.6 4.2 4.6 11.7 0.0 0.0
If & o 4 100.0 54.6 24.2 1.1 2.8 17.3 0.0 0.0
A
0| =z 100.0 41.0 32.5 3.2 4.7 18.6 0.0 0.0
B O 2 Qe 100.0 64.6 18.3 36 3.4 9.8 0.1 0.0
Ab 8/ o B 100.0 73.7 10.6 8.2 36 3.5 0.4 0.0
RTELEY
Z| o 100.0 59.8 21.3 4.5 4.1 10.3 0.0 0.0
A1 O WS 100.0 63.7 17.6 3.9 3.0 1.3 0.4 0.0
EEEE
g/ 100.0 543 3138 12 2.8 9.9 0.0 0.0
At = 100.0 55.0 24.3 0.0 5.1 15.6 0.0 0.0
M H| A / T Oj 100.0 51.1 24.1 6.1 5.7 12.9 0.0 0.0
= 2 of o 100.0 78.2 7.0 5.4 4.6 4.7 0.0 0.0
7 s /7 A 100.0 45.2 34.0 46 0.7 15.4 0.0 0.0
oA L oo 100.0 50.0 31.4 4.8 4.8 8.9 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtrasE
1009t9l oot 100.0 83.4 1.9 7.4 36 3.2 0.4 0.0
100~2000H 100.0 76.5 6.9 7.0 6.2 3.0 0.4 0.0
200~3008+S 100.0 64.8 177 6.7 29 7.9 0.0 0.0
300~4008+8 100.0 485 327 45 2.0 123 0.0 0.0
400~6008+S 100.0 493 28.9 0.7 41 16.9 0.0 0.0
60008l o] A 100.0 497 271 0.0 41 19.2 0.0 0.0
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(29l : %)

o 2 E_|H [ oro h:ﬂ jél Eo|-|_8_ 7c_-)|§|:of
TR A e | ) Y Laeye | D (oigem| 7

2 0 2 4 4 700.0 65.4 153 7.6 38 7.6 0.3 0.0
<A Qs
= = 100.0 74.8 7.1 8.5 3.5 54 0.7 0.0
A = 100.0 59.0 20.8 7.0 4.1 9.1 0.0 0.0
<A o )
=k At 100.0 58.6 23.0 9.1 2.6 6.7 0.0 0.0
o At 100.0 70.7 9.2 6.5 4.8 8.3 0.5 0.0
TEER
15 ~29MA 100.0 50.9 0.0 0.0 16.4 32.7 0.0 0.0
30~39MA 100.0 28.3 58.9 0.0 0.0 12.8 0.0 0.0
40~ 49N 100.0 40.2 375 7.5 0.0 14.8 0.0 0.0
50~59 Al 100.0 66.1 16.7 7.7 5.0 4.4 0.0 0.0
6 0AN o A 100.0 77.0 6.1 9.0 3.7 3.7 0.5 0.0
65AM o 4 100.0 79.5 5.8 9.1 2.9 2.1 0.6 0.0
Co o
2 Z o 3§t 100.0 76.6 7.2 9.9 3.6 2.2 0.5 0.0
il Z 100.0 55.9 27.3 6.7 3.3 6.8 0.0 0.0
If & o 4 100.0 50.5 13.8 2.3 5.7 27.7 0.0 0.0
(R >
0| =z 100.0 55.7 17.5 7.9 2.9 16.1 0.0 0.0
B O 2 Qe 100.0 48.2 30.8 0.0 5.4 15.7 0.0 0.0
Ab 8/ o B 100.0 73.6 11.1 9.0 3.9 1.8 0.4 0.0
AAESE
Z| o 100.0 55.1 23.5 9.0 53 7.2 0.0 0.0
Alo! Ol HEA RS 100.0 78.9 4.6 59 1.9 8.1 0.6 0.0
AP
A2 /7 o g 100.0 50.4 36.1 0.0 0.0 13.5 0.0 0.0
At = 100.0 36.0 241 0.0 15.7 24.2 0.0 0.0
M H| A / T Of 100.0 50.2 31.4 9.7 5.6 3.2 0.0 0.0
= 2 of o 100.0 68.5 14,7 6.9 5.7 43 0.0 0.0
7 s /7 A 100.0 50.4 16.8 18.4 3.4 111 0.0 0.0
oA L oo 100.0 455 42.7 118 0.0 0.0 0.0 0.0
o ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtrasE
1000t O|at 100.0 82.9 0.7 8.6 2.9 4.2 0.7 0.0
100~2000H 100.0 77.6 102 7.0 5.2 0.0 0.0 0.0
200~3008+S 100.0 55.6 26.1 9.1 0.0 9.2 0.0 0.0
300~4008+8 100.0 372 385 11.4 2.2 10.7 0.0 0.0
400~6008+S 100.0 533 19.9 2.6 2.0 22.2 0.0 0.0
6000 Of At 100.0 30.6 34.6 0.0 26.6 8.3 0.0 0.0
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(T @ %)
TV o= a=s FH| = AL3
2w | om MY G| Ga [2E2|222| 4y | A | 501 | 2y 22
= VD | 95 | A= |my | ws | TP |eu 00 | FY I
Ny | HE | E zu | ME e
2 0 2 4 4| 100.0 33.7 3.6 0.8 2.3 8.3 4.1 7.5 57 283 58 0.0
2 0 2 2 4| 100.0 7.3 4.4 1.4 4.3 9.3 6.2 118 8.6 405 6.0 0.1
CA Yo
= =1 100.0 35.2 3.3 1.2 2.3 8.3 4.1 4.7 48 306 5.3 0.1
A 2 100.0 32.6 3.7 0.6 2.2 8.2 4.1 9.3 6.3 26.7 6.1 0.0
<A o
= At 100.0  31.5 3.7 0.6 36 10.0 3.8 9.5 58 268 4.6 0.0
o At 100.0  36.1 3.5 1.0 0.7 6.3 4.5 51 55 299 7.2 0.1
R
15 ~29 A | 1000 227 5.4 1.5 3.7 5.6 25 20.7 9.7 249 3.2 0.0

30~39 A | 1000 275 7.0 1.3 2.1 7.5 1.7 9.5 82 257 3.5 0.0
40~ 49 A | 1000 26.2 4.8 0.5 29 114 53 10.0 5.2 266 6.8 0.3
50~59 A | 100.0 31.7 3.2 0.7 21 109 5.9 4.8 7.1 259 1.7 0.0
6 0A O A 100.0 441 1.6 0.6 1.5 6.9 2.4 1.7 28 324 6.1 0.0

65A O A 1000 46 15 06 11 54 19 13 19 336 61 00
o g

Zz Z o | 1000 437 20 06 23 35 18 56 24 326 56 00
i} =z | 1000 308 52 08 22 104 46 72 70 267 51 00
I = of AH[ 1000 255 32 11 24 112 62 101 79 252 70 01
(ZQIMEfES

o] s 1000 248 58 14 38 69 33 169 76 255 41 00
Bl © 29 & 1000 341 31 07 20 96 46 49 53 291 66 0.1
At & /o] &| 1000 470 19 02 06 53 35 22 43 297 53 00
(BAEFE>

Y of| 1000 323 36 05 25 94 50 63 55 291 57 0.1
Aol 9l HpRelE | 1000 364 36 16 18 60 22 98 60 266 61 00
CH oY

M2/ og| 1000 248 24 07 23 120 91 72 90 240 84 00
Ab o 1000 261 51 09 09 72 92 61 89 292 58 06
MH A/moj| 1000 275 49 06 18 125 56 63 61 298 49 00
= 2 of o 1000 420 29 05 28 67 31 18 31 324 49 00
Jl 5 /7] A| 1000 309 39 00 52 109 25 123 41 258 44 00
b & &L @ 1000 359 00 00 00 40 43 88 63 306 101 00
2 off 00 00 00 00 00 00 00 00 00 00 00 00
tH258D

1000tgl O 1000 538 16 04 00 21 16 12 15 326 52 00
100~2000t9 | 1000 403 22 10 06 63 25 38 32 347 54 00
200~3000tSl | 1000 335 48 1.0 19 71 59 61 43 291 64 00
300~4000t% | 1000 299 28 02 26 117 23 109 79 259 58 00
400~6000t%l | 1000 280 51 07 48 93 45 79 70 266 61 00
6000t9 o|Af| 1000 245 36 18 18 108 71 130 85 234 54 03
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3-11. IE¢s - (2) Yoz 5tn AL opIgs (CIE <4
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TV | oe | o Amel| At
g A B2 B ns x| Ay | F0 ) les
_ 2t ZI‘O:I — o =l A 7H‘=é|‘ _
N 2 s
2 0 2 4 4| 100.0 8.8 9.0 2.9 46 148 236 25 139 10.7 9.2 0.0
2 0 2 2 4| 100.0 7.8 119 3.8 47 13.0 236 24 141 124 6.3 0.0
CA G &85O
= =1l 100.0 65 114 3.1 35 135 236 31 145 119 8.8 0.0
A 2 100.0 10.3 7.5 2.8 54 156 236 20 135 9.9 9.4 0.0
CH o E
= At 100.0 7.4 6.9 3.5 6.5 185 225 3.0 146 8.8 8.3 0.0
o At 100.0 105 11.4 2.3 24 105 248 1.8 130 129 103 0.0
<A Fg 8o
175 ~29 A 100.0 49 137 2.3 88 133 16.8 58 188 104 5.2 0.0

30~39 A | 100.0 5.1 8.5 3.3 40 135 215 3.8 192 111 10.0 0.0
40~ 49 AN || 100.0 44 11.0 2.6 54 195 237 29 164 8.1 5.9 0.0
50 ~5 9 Al 100.0 6.0 10.0 4.2 39 168 226 1.4 153 87 11.2 0.0
6 0A O A 100.0 151 5.5 2.6 29 126 278 0.9 84 13.0 111 0.0

65A O A 1000 167 54 21 25 105 287 10 79 140 112 00
<8 oE g

=z Z o] & 1000 148 58 19 37 98 288 21 96 138 97 00
I} z| 1000 75 75 27 50 175 216 26 170 109 7.7 00
[l = of A| 1000 38 148 45 51 167 205 27 143 68 108 00
(ZOSEIES

i 5| 1000 58 110 26 80 135 195 53 179 100 64 00
M © 2 9 2| 1000 76 90 30 38 165 251 16 135 97 103 0.0
Ab® /o &| 1000 191 56 33 24 99 245 09 85 160 97 00
(BAHESE>

2| of| 1000 76 85 32 47 174 241 20 135 98 93 00
Aol @ HpREE | 1000 114 99 25 46 93 227 34 146 125 91 00
CH oY

2 /3 oa| 1000 31 132 32 28 181 266 34 124 59 115 00
n =] 1000 23 162 52 55 147 183 00 158 80 140 00
MH A/moy| 1000 50 102 41 32 162 236 18 158 102 100 0.0
= 2 of o 1000 125 51 11 48 156 262 18 99 131 98 00
Jls /71 Al 1000 70 54 36 71 247 241 25 151 63 41 00
b 2 L @100 135 51 40 60 151 208 22 148 125 60 00
2 of 00 00 00 00 00 00 00 00 00 00 00 00
tFa259

1000tgl O 1000 223 50 16 13 62 253 10 71 175 129 00
100~2000t2 | 1000 117 65 14 51 143 255 1.0 121 127 97 00
200~3000tSl | 1000 80 77 25 47 141 238 22 161 95 113 00
300~4000t% | 1000 64 98 35 60 199 239 30 136 76 64 00
400~6000t% | 1000 67 108 42 47 142 215 28 169 112 69 00
6000t o[Af| 1000 32 124 32 48 170 231 40 137 86 100 00
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o E | | AE |cEOISEuse 2
oiiked = A 2 A H
o= A IV | disier | RS | e | mone | ol a4
§ | Adaa o | euye (g2 D8

202 4 4 700.0 298 26.2 9.8 47 4.4 56 0.0
202 2 4 100.0 43.4 305 11.3 4.1 43 5.7 0.7
EEEE

= = 100.0 52.7 23.3 13.0 3.5 2.5 5.1 0.0
A = 100.0 47.9 28.2 7.7 4.6 5.7 6.0 0.0
A o

= At 100.0 49.0 24.8 8.8 5.8 4.2 7.5 0.0
o At 100.0 50.7 27.8 11.0 23 4.6 3.6 0.0
o

15~209 A 100.0 45.4 28.9 123 38 6.0 36 0.0
30~394 100.0 431 301 10.4 6.1 82 2.0 0.0
40~ 49 A 100.0 40.3 24.8 9.5 6.6 7.6 11.2 0.0
50~509 A 100.0 44.0 277 89 56 46 9.2 0.0
6 0AN o A 100.0 58.2 24.4 9.5 2.4 2.0 35 0.0
65 AN o 4 100.0 58.5 252 8.6 2.7 1.9 3.1 0.0
<o

2 Z o 3§t 100.0 56.9 24.0 9.4 3.2 3.1 3.4 0.0
i Z 100.0 521 27.0 7.1 2.7 4.3 6.8 0.0
If Z o 4 100.0 35.2 28.4 14.6 7.9 6.6 7.4 0.0
CEOUAE

| z 100.0 43.4 28.1 11.0 9.1 33 5.2 0.0
B O 2t 9 & 100.0 50.3 25.9 9.6 2.9 5.2 6.2 0.0
AF® /O] & 100.0 56.3 24.9 9.1 2.1 3.2 4.4 0.0
EVELEY

Z| o 100.0 48.7 257 9.9 4.3 4.9 6.6 0.0
A QI WA 100.0 51.9 27.2 9.8 3.9 33 38 0.0
TR

A2/ g 100.0 50.1 23.2 8.5 5.8 46 7.7 0.0
At = 100.0 32.6 25.0 19.3 3.4 15.1 4.6 0.0
A H] A /o Of 100.0 455 30,0 7.5 4.9 34 8.7 0.0
w2 o o 100.0 53.6 28.4 10.7 2.3 2.5 25 0.0
s /7 A 100.0 495 15.0 9.6 6.6 7.4 119 0.0
o4 L oo 100.0 52.2 27.9 5.7 45 42 55 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtRasE

1000tSl O|at 100.0 62.0 216 7.2 4.3 2.5 2.4 0.0
100~2008t8l 100.0 528 28.1 9.8 5.1 1.4 2.7 0.0
200~3000+ 100.0 517 25.2 9.6 2.4 6.6 45 0.0
300~4000+ 100.0 451 28.0 7.9 6.6 4.1 8.4 0.0
400~6000+ 100.0 46.9 2538 10.2 23 6.7 8.1 0.0
6000t Of A 100.0 395 29.4 16.0 5.0 3.1 7.0 0.0
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3- 13, AYUOZNO A&7 U AR
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Al 71 aro OF7} Al [=2] pSker
O I Bt B o R AT o [ 8

QICt QlCt QUA| Q4T QUR| et
2 02 4 4 100.0 43,7 13.5 30.1 453 11.0 8.9 2.1
202 2 4 100.0 47.8 13.7 34.1 40.3 12.0 9.1 2.8
<2 Y
= = 100.0 51.9 17.9 34.0 40.4 7.6 6.0 1.6
A ] 100.0 38.1 10.6 27.5 48.6 13.3 10.8 2.5
<A H )
Lt 2t 100.0 42.3 13.6 28.7 46.6 11.1 8.9 2.2
of 2t 100.0 45.2 13.4 31.8 439 10.9 8.8 2.0
o Eo
15~29A 100.0 23.7 7.9 15.8 61.3 15.1 12,6 2.4
30~309A 100.0 26.0 8.4 17.6 57.0 17.0 13.3 3.8
40~ 49 A 100.0 29.4 5.2 24.2 479 22.6 19.4 3.2
50 ~59 A 100.0 44.5 12.0 32,5 47.2 8.3 6.3 2.0
6 0 Al O| Af 100.0 57.5 19.6 37.9 36.5 6.0 4.6 1.5
6 5 Al O| At 100.0 60.5 21.0 39.5 33.8 5.7 4.2 1.5
- T
2 Z o 3§t 100.0 52.8 17.3 35.5 40.5 6.6 6.0 0.6
ini Z 100.0 38.5 11.0 27.5 48.2 13.3 9.3 4.0
o = o A 100.0 37.1 11.4 25.7 485 14.3 12.6 1.7
CEQIATEIED
0| =z 100.0 29.5 9.2 20.3 53.4 17.1 12.7 45
HY 2 2t 9 & 100.0 45.7 13.8 31.9 44.3 9.9 8.5 1.4
Ab " /o & 100.0 54,5 17.9 36.6 386 6.9 5.2 1.7
(BAHESES
Z| o 100.0 43.6 12.1 31.5 455 10.8 8.8 2.0
Alo4 QI HpEARIS 100.0 43.7 16.3 27.4 45.0 11.3 9.0 2.3
2o
A8 /g 100.0 35.9 10.7 25.1 50.5 136 12.7 0.9
At = 100.0 46.3 12.2 34.1 35.5 18.2 12.0 6.1
A H| A / T Oj 100.0 40.0 12.7 27.3 50.8 9.2 7.8 1.4
= 2 of o 100.0 55.3 17.2 38.1 37.1 7.6 6.7 1.0
N s /7 A 100.0 30.3 3.7 26.6 54.1 15.7 11.5 4.2
b 2 L o 100.0 431 8.2 349 50.4 6.5 5.5 1.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
P L25HES
1000+ Ojot 100.0 60.3 18.1 42.2 31.8 7.8 5.6 2.2
100~2000+ 100.0 53.6 16.4 37.2 40.7 5.7 5.2 0.5
200~3000t 100.0 47.4 16.2 31.2 435 9.1 7.1 2.0
300~4000t 100.0 38.3 12.7 25.6 47.0 14.7 12.7 2.0
400~6000t 100.0 29.6 7.6 22.0 56.1 14.3 1.6 2.7
6000tSl Of A} 100.0 36.5 1.4 25.1 50.1 13.4 9.9 35
20243 HEtdE AT AZIRAL












4 - 1. Aol Chet ZAH AY - (1) A2l 45t RQH]

(T2l %)
2 = 2 | I5tA| Qrofof UL 2o o= 2|Yshof
orCt orCt orCt

2 02 4 4 100.0 2.7 37.2 60.1
2 02 2 4 100.0 2.5 47.3 50.2
CA 9 28O
= =] 100.0 1.2 36.5 62.3
A = 100.0 3.7 37.7 58.7
<8 &
& At 100.0 3.4 371 59.4
9 At 100.0 1.9 37.2 60.9
CH Yo
15 ~29A 100.0 1.3 256 731
30~ 394 100.0 5.1 43.2 51.7
40~ 49 A 100.0 2.3 39.0 58.7
50~ 59 A 100.0 3.1 40.0 57.0
6 0 Al O A 100.0 2.6 37.9 59.5
6 5AM O A 100.0 3.1 37.4 59.5
N
=z Z o 3 100.0 2.3 36.8 60.9
nl Z 100.0 2.8 39.1 58.0
o & o A 100.0 3.0 34.7 62.2
(ZALEED
]l z 100.0 3.4 33.9 62.6
Hi 2 A 9 & 100.0 2.4 38.0 59.6
At &/ O & 100.0 2.7 38.4 58.9
(BAEEE>
2| o 100.0 2.9 36.9 60.2
Ao} 4l HEA RIS 100.0 2.2 37.7 60.0
CH Y gD
Hq 2 /g 100.0 1.3 30.7 68.0
At = 100.0 4.4 28.6 67.0
A H| A/ THof 100.0 2.4 34.3 63.3
L 2 o o 100.0 2.7 35.9 61.4
7215 /71 Al 100.0 45 42.1 53.4
o O P = | 100.0 2.8 58.7 38.5
= ol 0.0 0.0 0.0 0.0
A58
1008t OJ8t 100.0 3.6 40.5 55.9
100~2004H 100.0 0.7 42.5 56.9
200~3008t 100.0 3.2 38.8 57.9
300~4000r 100.0 3.7 37.4 58.9
400~6000r 100.0 2.5 32.9 64.5
6000 Of At 100.0 1.7 30.7 67.6

20243 HefdE ST ARIZAL

- 197 -



4 - 1. Ao Chet AMH Y - (2) Al CheHY @]

(EF9l %)
o o A A|#otA| OtoF 25 Aol OoF HHO=E A oHoF
orCf orCt orCt

2 02 4 4 100.0 16.4 59.1 24,5
2 02 2 4 100.0 17.2 57.3 255
CA g &
= = 100.0 17.0 57.0 26.1
A =l 100.0 16.0 60.6 23.4
< ==
& At 100.0 16.7 57.8 25.5
q At 100.0 16.1 60.6 233
CH Yo
15 ~29 KA 100.0 9.8 54.2 36.0
30~39A4 100.0 24.9 56.2 18.8
40~ 494 100.0 18.2 60.0 21.8
50~59MA 100.0 14.5 63.8 21.8
6 0 Al O A 100.0 17.2 58.8 24.0
6 5AM O A 100.0 18.4 58.1 235
<o
=z Z o 3 100.0 14.8 60.3 25.0
n Z 100.0 15.3 61.4 23.3
o & o A 100.0 20.7 53.9 25.3
CEOIA e
| z 100.0 17.7 51.7 30.6
Hi 2 A 9 & 100.0 14.9 62.5 22.6
At &/ O & 100.0 19.7 57.6 22.8
(BAHEFE>
2| o 100.0 16.6 60.7 22.7
Aot Ol HPRBis 100.0 16.0 56.1 27.9
A
J 2 /1 g 100.0 16.0 58.3 25.7
At = 100.0 22.3 55.9 21.8
A H| A / Tt Of 100.0 14.0 61.3 24.7
L 2 o o 100.0 13.3 61.7 25.0
7215/ 71 A 100.0 21.3 61.7 17.0
Ot & L =2 100.0 24.4 61.1 14.6
= ol 0.0 0.0 0.0 0.0
Ot a2s5ED
1008t Ojar 100.0 21.6 51.4 27.0
100~2008t<] 100.0 17.6 56.8 25.6
200~3008 100.0 17.5 62.2 20.2
300~4000r 100.0 12.2 69.2 18.6
400~60008+2] 100.0 12.4 56.2 31.4
6000 Of At 100.0 19.7 56.7 23.6
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4 - 1. Ao gt FAA AA - (3) 0FY AL (0]12)e &=

(EF9l %)

2 = 2 | I5tA| Qrofof UL 2o o= 2|Yshof
= orCt orCt orCt

2 02 4 4 100.0 257 59.1 15.2
2 02 2 4 100.0 30.1 55.4 14.4
CA 9 28O
= =] 100.0 19.9 58.9 21.2
A = 100.0 29.6 59.3 11.1
<8 &
Ltk At 100.0 26.6 57.5 15.9
9 At 100.0 24.7 60.9 14.3
CH Yo
15 ~29A 100.0 15.2 61.8 23.0
30~39A4 100.0 36.0 53.3 10.7
40~ 49 A 100.0 26.5 64.3 9.2
50~ 594 100.0 24.9 60.7 14.4
6 0 Al O A 100.0 27.2 56.9 15.8
65 A O A 100.0 27.5 56.6 15.8
<o
=z Z o 3 100.0 24.8 58.2 17.0
nl Z 100.0 28.8 57.7 13.5
o & o A 100.0 224 62.8 14.8
(ZALEED
]l z 100.0 21.4 60.9 17.7
Hi 2 A 9 & 100.0 26.6 59.6 13.8
Ad /O & 100.0 28.3 55.3 16.4
(BAEEE>
2| o 100.0 28.3 57.5 14.2
Ao} 4l HEA RIS 100.0 20.7 62.3 17.0
CH Y gD
J 2 /1 g 100.0 29.1 59.1 11.7
At = 100.0 22.9 62.9 14.2
A H| A/ THOj 100.0 26.3 55.4 18.4
L 2 o o 100.0 25.3 57.4 17.4
7215 /71 Al 100.0 40.3 54.6 5.1
o O P = | 100.0 25.7 64.0 10.3
= ol 0.0 0.0 0.0 0.0
A58
1008t OJ8t 100.0 25.6 56.7 17.7
100~2004H 100.0 24.2 57.8 18.0
200~3008t<] 100.0 23.3 65.6 11.2
300~4000r 100.0 25.5 60.2 14.3
400~6000t] 100.0 29.5 53.6 16.9
6000 Of At 100.0 255 61.1 13.4
20249 HMepds G AMSIEAL
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4 - 1. Ao Cfgt FAA A - (4) A 22 ZH|(Z 2 LAZ 3 O01) H[E
(Er9] : %)
2 s A 2|52 erofof A AYUFHOF | HHOZ AYaHof
= ottt ottt ottt
2 0 2 4 4 100.0 95 781 12.4
202 2 4 100.0 10.3 73.2 16.5
CA G &85O
3 =] 100.0 7.8 78.1 14.0
A ] 100.0 105 78.1 11.4
& ER
Lt Zt 100.0 9.4 76.8 13.8
o Zt 100.0 9.5 79.6 10.9
Co g
15~209A4 100.0 2.6 715 25.9
30~309A4 100.0 3.4 89.4 7.2
40~409AH 100.0 132 788 8.0
50~509 A 100.0 10.7 77.1 12.1
60A O A 100.0 10.9 78.3 10.7
65A O A 100.0 11.3 78.5 10.2
o g
z = o % 100.0 9.0 77.5 136
] = 100.0 12.5 76.3 11.2
f = o 4 100.0 5.6 82.0 12.4
CZOIAEf >
i k3 100.0 10.0 72.0 18.0
HE 2 2 Q2 100.0 7.6 81.5 11.0
A" /o & 100.0 15.0 74.9 10.2
(BAHESE>
2| o 100.0 10.0 79.3 10.8
Al @ HpREs 100.0 85 75.9 15.6
<A Y 80
M2/ 100.0 9.4 75.7 14.9
n =] 100.0 7.2 91.4 1.4
M H| A / Tt Of 100.0 7.7 77.9 14.4
= 2 of o 100.0 9.7 79.2 1.1
s /7 A 100.0 145 75.6 9.9
b2 L oo 100.0 125 84.3 32
2 ol 0.0 0.0 0.0 0.0
SIEENE P
1000t Ojot 100.0 12.7 74.7 12.6
100~2008+ 100.0 105 80.7 8.8
200~3000+H 100.0 10.2 788 11.1
300~4000+ 100.0 8.7 81.3 10.0
400~6000+ 100.0 7.7 74.9 17.4
6000rS Of At 100.0 7.1 79.2 13.7
2024'3 Hetde FUT AR EAL

- 200 -



4 - 1, Ao ChEH HHA XY - (5) 2R 2o FE O

[ =
(EH9 - %)
2 = 2 | I5tA| Qrofof UL 2o o= 2|Yshof
otCt otCt otCt

2 02 4 4 100.0 29.6 61.4 8.9
2 02 2 4 100.0 22.7 62.9 14.4
N - B
= = 100.0 30.8 61.1 8.2
N =l 100.0 28.9 61.7 9.4
< ==
=1 At 100.0 28.9 60.9 10.2
q At 100.0 30.4 62.1 7.5
CH Yo
15~29A 100.0 17.3 59.3 23.4
30~ 394 100.0 252 67.6 7.2
40~ 49N 100.0 31.6 62.3 6.1
50 ~59A 100.0 279 65.0 7.1
6 0 M O A 100.0 345 59.1 6.5
6 5AM O A 100.0 34.7 58.7 6.6
(I I
=z Z o 3 100.0 32.7 57.5 9.8
nl Z 100.0 31.3 59.1 9.6
o & o A 100.0 22.4 71.2 6.4
(ZALEHES
]l z 100.0 24.9 59.5 15.6
Hi 2 A 9 & 100.0 28.3 64.4 7.2
Ad /O & 100.0 39.9 541 6.0
(BAHEFE>
2| o 100.0 30.7 61.6 7.7
Ao} 4l HEA RIS 100.0 27.6 61.1 11.3
A
A 2 / 3 g 100.0 28.3 62.2 9.5
At = 100.0 35.1 64.9 0.0
A H| A/ o Of 100.0 24.9 65.6 9.4
= 2 o o 100.0 32.8 58.5 8.7
7l 5/ 71 A 100.0 34.1 60.1 5.9
Ot & L =2 100.0 32.2 60.3 7.5
= ol 0.0 0.0 0.0 0.0
tH258D
1008t Ojar 100.0 38.7 54.6 6.6
100~2004H 100.0 38.2 55.6 6.1
200~3008t<] 100.0 29.3 61.7 9.0
300~4000t¢ 100.0 25.3 66.3 8.5
400~6000t] 100.0 28.0 58.1 14.0
6000 Of At 100.0 17.6 75.3 7.1
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H
|
N
oiN
o
rt
ox
ke
rt
o=
>
[l
olN
olo
1AL

(TS %)
ey RE: Sfof | A | 20
2w | oy || BM|GZ A% =2 2 En | 9 lgga opt |
2A | BAl | gn | BA | BAL| o | BA | gst | me | 4
= 23 23 | 24 | A
2 0 2 4 4 1000 372 150 5.0 3.0 231 3.4 0.7 3.4 5.5 3.8 0.0
2 02 2 4HJ| 1000 339 178 6.5 54 215 2.1 0.4 3.2 6.0 3.2 0.1
C2A o
= = 100.0 420 13.7 2.9 29 252 2.0 0.9 2.4 5.3 2.7 0.0
A =21 100.0 338 159 6.5 31 216 4.3 0.5 4.0 5.7 4.5 0.0
<A 5y
= At 100.0 34.6 14.9 6.0 28 225 5.0 0.4 3.3 5.8 4.7 0.0
o At 100.0 40.2 15.2 3.8 33 238 1.4 0.9 3.5 5.2 2.7 0.0
cA g
15~29 A/ 1000 146 17.7 9.2 83 6.2 118 0.0 225 0.8 8.9 0.0

30~39 A 100.0 180 16.8 8.0 86 131 11.2 0.8 08 178 4.8 0.0
4 0 ~49 M| 1000 250 201 7.8 46 187 3.8 0.3 0.6 154 3.8 0.0
50~59 A | 100.0 40.4 152 5.0 1.1 286 0.5 0.6 0.5 4.5 3.6 0.0
6 0AM O A 100.0 512 11.9 2.0 06 294 0.3 1.0 0.1 1.6 2.0 0.0

65A O A 1000 529 111 16 03 296 01 10 00 16 18 00
o g

=z Z o] &| 1000 476 108 26 05 264 09 09 56 16 31 00
] = | 1000 323 163 62 34 248 50 02 24 58 36 00
[f Z o 4| 1000 298 191 66 61 159 43 09 15 107 49 00
CZOIAEf >

o| 5| 1000 208 143 81 75 125 141 06 137 04 80 00
Hf © 2t 9 2| 1000 406 157 45 21 249 02 07 05 80 29 00
Ab® /o &| 1000 466 137 27 07 305 05 05 00 36 12 00
(BAHESE>

2| o1 1000 359 161 59 25 243 37 07 04 68 35 00
Alojglypels | 1000 398 127 31 41 207 26 05 93 30 42 00
CH oY

M2/ moa| 1000 342 119 52 36 223 13 25 17 127 45 00
At o| 1000 262 171 83 70 166 48 00 12 139 50 00
MH A/THOy| 1000 342 196 64 27 236 22 03 02 68 39 00
= 2 of o 1000 448 160 26 02 282 20 09 00 29 25 00
715 / 71 A 1000 295 139 108 17 217 96 04 05 83 37 00
b 2 4% 9| 1000 328 157 58 70 283 52 00 00 24 28 00
2 of 00 00 00 00 00 00 00 00 00 00 00 00
L2558

1000tgl O 1000 527 139 19 04 264 14 11 00 12 09 00
100~2000t2 | 100.0 452 139 23 23 288 24 06 07 18 21 00
200~3000tSl | 1000 365 160 58 25 246 43 12 15 26 50 00
300~4000+ | 1000 319 127 82 53 216 58 00 31 82 32 00
400~6000t%l | 1000 293 155 53 34 195 32 06 72 110 49 00
6000+ O[Af| 1000 323 186 52 38 186 19 04 71 63 58 00

ra
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B
? 2 | ozge | A U2 | po | o | 2F | AR | o
e = == =y
202 4 4 33 1000 37.3 6.2 311 438 14.0 12.3 1.7
2022 4 3.2 1000 31.8 6.7 25.1 55.7 12,5 10.3 2.2
A9
= =) 31 1000 28.1 26 25.5 52.1 19.7 17.8 1.9
A = 3.4 1000 43.4 8.6 348 46.5 10.1 8.6 1.5
<A TN
Lt Zt 3.3 100.0 39.7 8.1 31.7 48.4 11.8 10.2 1.6
ol Zt 3.2 1000 346 4.1 30.4 49.1 16.4 14.6 1.8
<A g g
15~29 Al 35 1000 44.5 15.0 29.5 49.3 6.2 4.9 1.3
30 ~309A 3.4 1000 433 7.2 36.1 486 8.1 8.1 0.0
40~ 49N 33 1000 343 4.9 29.5 54.6 11.0 10.5 0.5
50 ~509 Al 33 100.0 38.2 5.1 33.1 485 13.3 9.4 3.9
60AM O A 3.2 1000 34.4 4.2 30.2 46.8 18.8 17.3 1.5
65A O A 3.2 1000 346 43 30.3 45.9 19.5 18.2 1.3
o g
z = o % 3.2 1000 35.9 6.5 29.5 47.0 17.0 15.3 1.7
i = 33 1000 37.8 5.6 322 48.7 135 1.7 1.8
f = o 4 33 1000 38.6 6.6 32.0 51.5 9.9 8.5 1.4
CZOIAEfED
O| T 3.4 1000 428 9.4 33.4 47.4 9.8 8.7 1.1
HE © 2t 9 2 3.2 1000 35.2 5.0 30.2 50.2 14.6 12,6 2.0
A E /o B 3.2 1000 37.0 6.0 31.1 45.8 17.1 15.6 1.5
(BAZEEE>
EY o 33 1000 40.1 6.0 34.1 46.6 13.3 11.5 1.8
Aot Q1 HpREE 3.2 1000 31.7 6.5 25.2 53.0 15.3 13.8 1.5
CH Yo
A2/ @ g 3.4 1000 45.4 5.9 39.5 47.4 7.2 5.2 2.1
Ab o 33 1000 M3 5.4 35.9 47.9 10.8 9.0 1.8
A H| A/ ooy 33 1000 41.2 5.6 35.6 455 13.3 11.6 1.7
= 2 of o 3.2 1000 36.2 6.9 29.3 44.3 19.5 17.6 1.9
s /7 A 3.4 1000 426 43 38.2 483 9.2 7.4 1.7
T 3.4 1000 39.4 8.8 30.7 54.2 6.3 5.0 1.3
2 ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHA259E)
1000t Ojot 3.2 1000 30.5 3.2 27.2 55.0 14,5 12.8 1.7
100~2000+ 33 1000 43.4 5.0 38.5 43.0 136 11.3 2.3
200~3000t 3.2 1000 30.8 6.2 24.6 51.8 17.5 16.8 0.7
300~4000+ 33 1000 36.4 4.1 32.3 51.5 12.1 10.1 2.0
400~6000+< 3.4 1000 41.4 11.0 30.4 46.4 12.1 11.4 0.7
6000rS Of At 33 1000 43.4 6.4 37.0 426 14.0 10.2 3.8
2024'3 Hefd: FUT AIBIRAL

- 203 -



4 - 3. SAY UEE - (2) A JHA 2 (CFYT Uiw)

B
? 2 | ozge | A U2 | po | o | 2F | AR | o
e = == =y
202 4 4 31 1000 29.9 59 24.0 51.4 18.7 15.6 32
2022 4 3.0 1000 25.6 4.4 21.2 53.3 21.1 17.3 3.8
A9
3 =) 29  100.0 18.6 2.7 15.9 58.8 22,6 18.0 46
A [ 33 1000 375 8.0 29.5 46.4 16.2 13.9 2.2
<A TN
Lt Zt 3.2 1000 33.4 7.8 25.5 50.6 16.1 13.1 3.0
ol Zt 3.0 1000 26.0 3.7 22.3 52.3 21.7 18.3 3.4
CH o
15~29 Al 3.4 1000 41.1 13.6 27.5 49.2 9.7 6.3 3.4
30 ~309A 31 1000 24.0 9.6 14.3 55.9 20.1 15.1 5.0
40~ 49N 3.0 1000 27.4 43 23.1 45.8 26.8 23.9 2.9
50 ~509 Al 31 1000 29.5 46 24.9 50.3 20.2 15.8 4.4
60AM O A 31 1000 28.4 38 24.6 53.5 18.1 15.8 2.3
65A O A 31 1000 29.1 38 25.3 53.8 17.1 15.4 1.6
<8 oE g
z = o % 3.2 1000 30.2 6.3 23.9 55.0 14.8 13.2 1.7
Il £ 31 1000 30.8 5.4 25.4 50.3 18.9 15.5 3.4
f = o 4 3.0 1000 27.9 5.8 22.1 47.4 24,6 19.4 5.2
(ZOERED
O| T 3.3 100.0 38.8 10.5 28.3 47.8 13.4 10.5 2.9
HE © 2t 9 2 31 1000 26.3 43 22.0 52.9 20.8 16.7 4.1
A" /o & 3.2 1000 30.5 5.3 25.2 50.8 18.7 18.1 0.6
(BAZEEE>
Y o 32 1000 322 5.9 26.3 50.0 17.8 14,5 3.3
Aot Q1 HpREE 31 1000 25.3 5.8 19.5 54.1 206 17.6 3.0
CH oY
A2/ @ g 33 1000 38.8 5.9 32.9 46.1 15.1 11.1 4.0
Ab o 3.0 1000 24.0 6.1 17.9 52.3 23.7 15.3 8.4
A H| A/ ooy 31 1000 27.8 4.4 23.4 52.8 19.4 16.2 3.2
= 2 of o 31 1000 29.7 5.9 23.8 51.4 18.8 16.0 2.8
s /7 A 33 1000 40.1 8.3 31.8 46.6 13.3 11.6 1.7
ot 2 L o 33 1000 40.6 4.6 36.0 44.6 14.7 12.8 1.9
2 ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SIEENE P
1000t Ojot 31 1000 25.3 3.7 21.7 56.6 18.1 17.7 0.3
100~2000t2] 32 1000 31.7 4.8 26.9 50.3 18.1 15.4 2.7
200~3000t 31 1000 26.1 3.3 22.7 54,7 19.3 16.1 3.2
300~4000t2 31 1000 29.5 4.4 25.1 51.3 19.2 16.7 26
400~6000+< 32 1000 34.2 10.0 24.2 46.0 19.8 15.5 43
6000rS Of At 32 1000 32.8 9.1 23.7 50.2 17.0 10.7 6.3
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(HHQ @ %)
2
TF Jaze | A ES | g | gz | BE | SRS oan | gie
IE TS goiz | gorz

2 02 4 4 2.9 100.0 18.8 4.1 14.7 50.3 30.9 25.0 59
202 2 4 29 1000 185 23 162 563 252 218 3.4
CA oo
= =l 2.8 100.0 12.0 2.4 9.6 57.3 30.7 25.8 4.9
A = 29 100.0 23.3 51 18.2 45,7 31.0 24.4 6.6
<A o
=k At 29 100.0 20.1 55 14.6 50.0 299 23.7 6.2
o At 2.8 100.0 17.3 2.5 14.9 50.7 32.0 26.4 5.6
Co e
15 ~29MA| 3.1 100.0 24.7 9.7 15.0 56.9 18.4 13.1 53
30~39A 30 1000 25.1 7.2 17.9 46.7 28.2 25.1 3.1
40~ 49N 2.8 100.0 13.2 3.2 10.0 52.0 34.8 29.3 55
50~59M4A 2.8 100.0 16.0 3.0 13.1 50.3 33.7 25.6 8.1
6 0AN o A 2.8 100.0 18.8 2.5 16.4 48.4 32.7 27.0 58
65 AN o 4 2.8 100.0 19.4 2.2 17.2 48.7 31.9 26.6 53
oo
2 Z o 3§t 29 100.0 20.4 4.1 16.3 48.5 31.0 26.2 4.8
ni = 2.8 100.0 18.6 3.6 15.0 50.0 31.4 23.8 7.7
If & o 4 2.9 100.0 16.6 4.7 11.9 53.7 29.7 24.8 50
CZOlNE >
0| = 3.0 100.0 22.0 7.3 14.7 51.2 26.8 21.9 4.9
Hf 2 A} U & 2.8 100.0 16.9 29 14.0 50.9 32.2 259 6.3
At &/ O & 29 100.0 20.9 3.8 171 475 31.6 25.7 59
(AALS >
2 A 2.9 100.0 19.4 4.1 15.3 49.0 31.6 25.3 6.3
Alo! Ol HEA RS 29 100.0 17.5 3.9 13.6 53.0 29.5 24.3 5.2
CH oY
A2 /7 o g 3.0 100.0 27.6 6.7 21.0 448 27.5 23.5 4.0
At = 29 100.0 16.1 3.1 13.0 55.9 28.1 249 3.1
M H| A / T Oj 29 1000 172 33 139 544 284 223 6.0
= 2 of o 29 1000 205 48 156 468 328 278 5.0
25 /71 A 2.7 100.0 18.3 2.5 15.8 42.6 391 29.9 9.2
= 28 1000 1656 46 120 536 297 165 132
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IR LS
1000t O|at 29 1000 172 15 157 545 283 245 3.8
100~2000H 29 1000 234 26 208 475 292 236 56
200~3008+S 28 1000 156 44 112 507 337 267 7.0
300~4008+S 28 1000 16.2 15 147 540 298 232 6.6
400~6008+S 29 1000  20.1 75 126 466 333 284 4.8
60008l o] A 29 1000 220 64 157 489 291 210 8.1
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4 - 3. SAY UEE - (4) AXE ME=(|AMA] BT F)
(T2l = %)
e
R I O I o BT B I T
oz | o 20 | goiz
2 0 2 4 4 32 1000 275 53 22.2 60.2 123 0.7 76
20 2 2 4 32 1000 2538 4.5 213 604 138 127 1.2
EEEE
= = 3.1 100.0 22.0 3.6 18.3 62.6 15.4 13.5 1.9
A = 3.3 100.0 31.2 6.5 24,7 58.6 10.2 8.8 1.4
<A o
= At 3.3 100.0 31.4 7.3 241 58.1 10.5 8.8 1.7
o At 3.1 100.0 23.2 3.1 20.1 62.6 14.3 12.8 1.5
<oy
15 ~209 A 35 1000 359 124 235 615 26 26 0.0
30~309A 32 1000 233 7.2 16.2 62.6 14.0 14.0 0.0
40~ 49N 3.1 100.0 22.3 2.8 19.5 63.5 14.1 11.9 2.2
50~59 Al 31 1000 273 47 27 585 141 10.4 37
6 0AN o A 3.2 100.0 27.4 3.9 235 59.1 13.6 12.3 1.3
65 AN o 4 3.2 100.0 26.5 3.4 23.1 59.8 13.8 12.8 1.0
<o
2 Z o 3§t 3.2 100.0 275 6.0 21.5 58.8 13.7 12.3 1.4
i = 3.2 100.0 27.6 4.5 23.1 61.0 11.4 9.5 1.9
If & o 4 3.2 100.0 27.3 5.5 21.7 61.2 11.5 10.0 1.5
(EANEE
0| = 3.3 100.0 31.9 8.3 23.6 59.2 8.9 8.4 0.6
B o 2t Qe 31 1000 258 43 215 607 134 1.2 2.3
Ab® /o B 32 1000 275 51 224 598 127 119 0.7
EEETEE
3| of 32 1000 29 54 237 581 128 104 2.4
A O WS 32 1000 244 52 192 643 113 114 0.2
TR
A2 33 1000 333 59 273 612 55 4.5 1.0
At = 3.2 100.0 30.5 6.8 23.8 51.6 17.9 16.1 1.8
M H| A / T Oj 32 1000 259 38 221 629 112 8.8 2.4
= 2 o o 32 1000 314 70 245 545 141 111 3.0
25 /71 A 3.1 100.0 235 4.0 19.5 58.3 18.2 15.0 3.2
o2 L =2 3.4 100.0 349 4.6 30.3 60.6 4.5 4.5 0.0
= ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
PR
1000t Ojat 31 1000 233 22 211 626 141 13.8 0.3
100~20089H 32 1000 319 4.5 274 552 12.9 111 1.8
200~3000t 32 1000 24.1 58 184 644 115 10.7 0.8
300~4000t 31 1000 24.9 2.2 27 630 121 8.1 4.0
400~6000t 33 1000 29.1 9.9 19.1 57.9 131 123 0.7
6000 Of At 3.3 100.0 34.3 6.4 279 56.3 9.4 7.1 23
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4- 3 MY VIE - (5) BAA HEUE

(T2l %)

H
TR |aEe | A | ¥R | go | op | ¥E | EUE | op | g
EN g0z | 20

202 4 4 33 1000 354 6.1 294 505 141 2.1 2.0
202 2 4 32 1000 303 54 249 573 124 9.7 2.7
<Aoo
= = 3.2 100.0 34.2 3.7 30.5 48.6 17.2 14.7 2.5
A = 3.3 100.0 36.3 7.7 28.6 51.7 12.0 10.3 1.7
CH o E
Lt 2t 33 1000 379 75 304 495 126 100 2.6
o 2t 32 1000 327 44 283 515 158 144 1.4
Co s
15~29 4 34 1000 371 13.1 241 57.8 5.0 37 1.3
30~3094 32 1000 300 72 229 543 156 156 0.0
40~ 49N 3.1 100.0 30.7 3.0 27.8 52.2 17.1 14.6 2.5
50~509 A 32 1000 342 49 293 481 177 136 4.0
6 0AN o A 3.3 100.0 38.0 5.2 32.8 47.9 14.1 12.6 1.5
65 AN o 4 3.3 100.0 39.0 5.0 34.0 47.7 13.3 12.4 0.8
CooeE
2 Z o 3§t 3.3 100.0 38.4 7.9 30.6 49.0 12.5 11.3 1.3
i = 3.2 100.0 34.8 5.3 29.5 49.9 15.3 12.9 2.4
If & o 4 3.2 100.0 31.6 4.3 27.3 53.7 14.8 12.2 2.5
CZOAEE>
0| = 3.4 100.0 38.5 10.4 28.1 50.7 10.9 9.8 1.1
Hj © 2t 9 32 1000 335 45 290 516 149 121 2.8
At &/ o] & 3.3 100.0 37.9 5.7 32.3 46.7 15.4 15.0 0.5
BHYEE>
Z| %) 3.3 100.0 36.7 59 30.8 49.0 14.3 11.7 2.6
Alo! Ol HEA RS 3.2 100.0 32.9 6.4 26.5 53.3 13.8 13.0 0.8
CH o9
A2/ g 33 1000 420 46 374 459 120 100 2.1
At = 3.1 100.0 32.2 2.3 29.8 46.9 20.9 15.6 5.3
A H| A /T Of 32 1000 332 41 290 544 124 112 12
w2 o o 33 1000 423 89 335 440 137 107 3.0
NS /7 A 31 1000 290 41 250 532 178 137 4.1
o2 L =2 3.4 100.0 38.6 8.8 29.8 50.5 10.9 10.9 0.0
= ol - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
REPEER
1009rel Ojat 33 1000 355 51 304 516 129 126 0.3
100~2008t8l 34 1000 473 67 406 394 134 115 18
200~3000+ 33 1000 360 8.1 279 492 148 133 15
300~4000+ 32 1000 309 30 279 553 138 114 2.5
400~6000+ 32 1000 285 78 207 570 145 125 2.0
6000+Sl O|Af 32 1000 388 48 340 461 15.1 10.7 45
2024 Hefdz YT ABIRAF



Ik
22 lome | A | ¥E | o | om | BE | 2R | oy

s | ois 20 | s
202 4 4 32 1000 32.1 47 27.4 54.5 13.4 12.0 1.4
2022 4 32 1000 26.6 41 226 60.0 13.4 11.6 1.8
CA A
= = 3.1 100.0 30.3 2.9 275 52.9 16.8 14.9 1.8
A = 3.3 100.0 33.4 6.0 27.4 55.6 11.0 9.9 1.1
<A o )
= At 3.3 100.0 34.6 6.4 28.1 54.3 11.2 9.6 1.6
o At 3.2 100.0 294 2.8 26.6 54.8 15.8 14.6 1.2
oy
15~209 A 33 1000 28.4 7.9 205 66.4 5.2 5.2 0.0
30~39A 31 1000 246 56 19.0 57.8 176 17.6 0.0
40~ 49N 3.1 100.0 279 3.9 24.0 57.0 15.1 13.2 1.9
50~509 A 32 1000 338 2.3 315 52.5 13.7 10.5 3.2
6 0AN o A 3.2 100.0 35.3 4.9 30.4 50.3 14.4 13.3 1.1
65 AN o 4 3.3 100.0 37.0 4.7 32.4 49.2 13.8 13.2 0.6
<ot w
2 Z o 3§t 3.3 100.0 35.2 6.5 28.7 51.8 13.0 11.7 1.2
i = 3.2 100.0 33.3 4.4 28.8 53.0 13.8 12.5 1.2
If & o 4 3.1 100.0 25.6 2.5 23.1 61.0 13.4 11.5 1.9
(EAAE
0| = 3.3 100.0 325 7.4 251 56.9 10.6 10.4 0.2
B o 2t Qe 32 1000 303 34 270 552 145 122 2.3
A /o B 33 1000 376 59 317 493 131 13.1 0.0
BHYE D
Z| %) 3.2 100.0 33.3 4.3 29.0 52.8 14.0 12.0 2.0
Alo] O HpREIS 32 1000 299 55 244 579 122 120 0.2
KR
Mo/ g 32 1000 336 36 300 548 116 106 1.0
At = 2.9 100.0 19.6 0.0 19.6 58.0 224 18.6 3.8
M H A /T oy 32 1000 307 36 271 568 125 108 1.7
= 3 of o 33 1000 383 7.1 312 462 155 132 2.3
25 /71 A 3.2 100.0 30.0 2.5 275 56.5 13.5 11.0 2.5
b2 L oo 34 1000 431 46 385 504 6.5 6.5 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
P}
1000te O|at 33 1000 351 44 307 524 125 122 0.3
100~200t 33 1000 40.3 6.3 34.0 48.0 117 9.9 1.8
200~3000t 32 1000 316 5.4 26.2 53.0 15.4 14.3 1.0
300~4000+% 32 1000 27.7 36 241 59.2 13.0 10.5 25
400~6000+ 32 1000 27.1 5.7 21.4 59.6 13.3 12.1 1.2
6000t O] A 32 1000 346 2.2 3.4 51.7 137 12.1 16
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4 -4 QAT g P - (1) Aoz FA8oF & AY (ChF SH)
(Tt = %)
YAR U | mBpIH | 22 ] gz | T F e
2w ST e s O B B = s el B B e
WEAZ| D2 |\ #FRM | DY AAS | T AL o
off & Al ikl = el | °
2 02 4 4 100.0 1.5 9.5 8.2 27.4 22.6 46 9.7 6.5
202 2 4 100.0 11.8 141 12.1 20.9 24.3 5.7 9.5 1.6
P =
= = 100.0 10.2 9.2 6.4 29.4 22.9 4.2 11.6 6.0
A = 100.0 12.5 9.7 9.5 26.1 22.3 48 8.3 6.8
<N ==Y
= At 100.0 12.2 8.6 7.8 29.8 20.1 45 10.0 7.0
o At 100.0 10.9 10.5 8.6 24.8 25.4 4.7 9.3 59
CoH Yoo
15~294A 100.0 11.0 6.2 7.8 29.5 21.4 9.5 5.8 8.7
30~39A4A 100.0 14.1 10.7 8.5 31.7 15.4 3.1 12.8 3.7
40~ 49 A 100.0 15.8 9.4 7.3 26.5 17.2 48 10.2 8.8
50 ~59 A 100.0 14.8 12.0 6.8 28.0 18.4 33 9.0 7.7
6 0AN o A 100.0 8.0 9.2 9.3 25.8 28.6 3.6 10.6 4.8
65 AN o 4 100.0 8.0 8.4 9.5 25.6 29.8 4.3 10.0 4.4
<89
2 Z o 3§t 100.0 7.7 7.4 9.3 23.5 30.8 7.6 9.0 49
ni Z 100.0 12.6 10.9 55 29.8 21.2 4.0 9.2 6.6
If Z o 4 100.0 15.2 10.3 10.6 29.5 13.2 1.4 11.3 8.5
(ZOSEIES
0| =z 100.0 10.9 7.3 7.6 31.8 20.3 7.1 6.8 8.2
B @ 2 9 & 100.0 13.4 10.8 7.4 26.3 21.8 3.3 11.0 6.1
At &/ o & 100.0 5.3 7.6 12.1 25.5 29.0 6.0 8.9 5.6
(BAHZESE>
Z| o 100.0 12.3 10.3 7.8 29.2 20.3 3.3 10.7 6.2
Alo! Ol HEA RS 100.0 10.0 7.8 9.1 24.0 27.1 7.2 7.7 7.1
N R I
A2 /7 o g 100.0 11.6 13.5 6.8 27.3 13.6 1.8 16.2 9.2
At = 100.0 585 13.8 8.2 31.2 17.4 0.8 8.3 47
M H| A / ot of 100.0 10.9 9.0 5.9 31.2 21.8 3.3 11.0 6.9
= 2 o o 100.0 8.3 9.8 8.8 27.6 26.3 3.4 10.4 5.3
7S5 /7 A 100.0 20.9 10.0 9.9 27.0 14.4 46 8.7 4.6
o P W = 100.0 13.6 8.1 6.5 34.1 15.4 5.5 8.6 8.1
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1009tL Ojot 100.0 5.3 10.6 10.4 24.6 30.5 6.4 6.3 5.8
100~2008t< 100.0 9.5 6.6 10.0 25.9 28.3 43 126 2.9
200~3000t< 100.0 11.8 1.1 7.1 27.4 20.9 3.0 10.5 8.2
300~4000+ 100.0 11.8 10.4 7.4 30.7 18.7 2.8 12.0 6.3
400~6000r 100.0 14.2 8.8 7.9 27.2 19.6 7.7 7.7 6.8
6000t O A 100.0 15.1 8.7 7.2 27.9 21.2 2.9 8.7 8.4
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4 - 4, QUT 0 H2 - (2) St 7t Azl SHAE sH 71 AT AY
el - %)
yd|Ke)
il wnn | 5E| 28 A33me) o
T = A Teng ISR E| ez lwe | e | ZECH| TH
2% oy o| &4 | & | mye |®
20 2 4 4 700.0 32.0 233 276 8.1 86 6.3 0.0
202 2 4 100.0 22.4 311 142 12.4 8.1 113 05
R
= = 100.0 38.0 16.2 18.5 6.4 8.6 12.3 0.0
A = 100.0 28.6 27.4 23.3 9.1 8.6 29 0.0
A )
=k At 100.0 34.2 22.0 21.0 11.2 9.2 2.5 0.0
o At 100.0 29.3 25.0 22.3 4.2 7.9 11.3 0.0
IR
15~209 A 100.0 305 20.4 21.4 20,0 0.0 76 0.0
30~394 100.0 14.7 307 347 0.0 133 6.6 0.0
40~ 49N 100.0 18.0 31.7 32.0 13.0 3.0 2.3 0.0
50~509 A 100.0 26.9 22.2 215 2.0 17.1 10.3 0.0
6 0AN o A 100.0 54,3 17.0 9.2 7.3 7.4 4.8 0.0
65 AN o 4 100.0 50.8 17.3 8.1 9.4 8.3 6.2 0.0
CotoE ey
=z = o 3 100.0 48.1 24.7 33 10.1 6.5 7.2 0.0
ni = 100.0 29.6 19.9 249 10.2 11.8 3.6 0.0
If Z o 4 100.0 23.7 26.5 30.2 4.2 6.4 9.0 0.0
CZ O AEN >
0| =z 100.0 241 21.0 27.2 13.2 9.5 50 0.0
Hf 2 A} U & 100.0 34.0 23.4 21.0 6.5 7.6 7.4 0.0
At &/ O & 100.0 36.4 29.5 9.8 8.7 15.6 0.0 0.0
A
Z| o 100.0 30.4 259 23.2 59 7.8 6.8 0.0
A QI WA 100.0 36.1 17.0 17.5 136 10.7 5.3 0.0
CH oY ow
A2/ g 100.0 248 31.2 5.9 112 6.6 20.3 0.0
At = 100.0 37.2 5.2 40.0 6.8 10.7 0.0 0.0
M H| A / T Oj 100.0 22.9 44.6 16.5 6.2 33 6.6 0.0
L 2 of o 100.0 45.3 17.3 8.9 36 13.4 1.4 0.0
25 /71 A 100.0 239 239 39.9 6.4 59 0.0 0.0
oA L oo 100.0 34,0 211 25.8 0.0 106 8.5 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OtRASE>
1009t9 oot 100.0 29.9 15,5 12.3 125 24.3 55 0.0
100~2008H 100.0 37.4 30.0 15.8 7.1 7.1 2.6 0.0
200~3008H 100.0 315 159 26.5 7.7 10.2 82 0.0
300~4008+ 100.0 46.8 26.4 10.1 6.6 5.0 5.0 0.0
400~6008+ 100.0 15.4 23.9 34.2 10.1 8.9 7.6 0.0
6000t Of A 100.0 395 26.2 156 6.3 5.8 6.7 0.0
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4 -5 HAnSAE 8¢ w20y (thF SH)

(91 : %)
Et 2 O
28 | A A, oMo | 2 gict
R EE12 IR T I T Rl I PN =SV
HHE = ok} 2|2
aig |® 8ol
2 0 2 4 (1000 529 1000 13.6 142 153 200 59 15.0 9.3 5.1 1.5 471
2 0 2 2 11000 499 1000 154 159 16.0 158 82 13.0 8.6 5.6 1.5 50.1
A9
= = 1100.0 55.0 100.0 12.3 153 16.5 150 8.1 16.5 8.7 59 1.7 45.0
A 2 (100.0 515 100.0 146 133 145 236 42 140 9.8 45 1.4 485
<A = )
= Zt | 100.0 50.7 100.0 17.8 69 109 293 71 141 5.2 6.7 2.0 493
o At 100.0 55.3 100.0 95 214 198 10.7 46 160 134 3.5 1.0 447
Co g
175~ 2 9 A 100.0 49.0 1000 153 17.9 51 314 33 132 4.6 7.5 1.7 51.0

30~ 39 A|1000 704 1000 16.4 142 81 271 6.1 75 6.8 126 1.3 296
40~49 A4 | 1000 578 100.0 184 131 101 277 50 101 108 3.2 1.6 422
50 ~59 A 1000 60.1 100.0 11.1 155 148 184 6.6 164 128 2.7 16 399
6 0A O A 1000 459 1000 116 124 243 109 67 196 89 41 1.5 541

65 A O] A1000 419 1000 107 117 271 95 57 222 80 39 1.1 581
o g

Zz Z o| & 1000 381 1000 116 124 304 113 21 208 83 10 20 619
il =z (1000 585 1000 173 121 127 214 62 141 93 55 14 415
[l = of AH|1000 676 1000 104 183 67 251 85 116 101 79 14 324
(ZOSEIES

o| 5 (1000 469 1000 164 137 7.8 272 63 125 56 83 24 531
Bl © 2t 9 2| 1000 591 1000 134 146 159 198 64 138 104 43 14 409
At & / o] & [ 1000 400 1000 106 125 244 96 27 258 92 45 08 600
(BAHESE>

2| o 1000 563 100.0 142 135 139 221 65 131 97 55 15 437
Aloj gl ypel= | 1000 462 1000 123 157 187 150 45 196 84 42 17 538
CH oY

2/ 3 a|1000 768 1000 155 180 11.2 199 58 133 123 41 00 232
At 21000 607 1000 75 200 9.2 291 42 54 127 119 00 39.3
M Hl A /DOy | 1000 63.0 1000 137 180 137 163 55 148 115 39 27 37.0
= 2 of 91000 498 1000 134 91 181 196 90 139 97 50 21 502
7l % / 7| #1000 511 1000 183 69 134 348 52 144 19 42 11 489
ot 2 L 21000 376 1000 192 36 116 241 95 91 86 144 00 624
2 off 00 00 00 00 00 00 00 00 00 00 00 00 00
SIEENE P

1000tg ojof | 1000 31.6 1000 112 138 268 47 28 300 61 45 00 684
100~2000t2! [ 100.0 502 100.0 136 89 245 135 70 126 130 44 25 498
200~3000tg | 100.0 592 100.0 142 137 145 172 74 154 88 71 16 408
300~4000t% | 100.0 535 1000 155 115 145 252 7.0 119 78 51 15 465
400~6000t% | 1000 57.2 1000 130 164 85 255 44 168 83 53 18 428
6000t oA | 100.0 645 1000 129 196 133 237 51 96 120 28 11 355
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4 - 6. 204 2| 713 L A FA - (1) 20y 22 @

(HHQ @ %)
o o | oo B9 | =BEs | =08 | =TEA ) oo
T = Al HOF5HC} SEr|s | RYYH= | ANEs AlE& ofCt
A | Tojgeitt | olgeict | olgeict | olgeicy | %
2 0 2 4 4 700.0 16.7 39.0 4.7 121 31 4.4
202 2 4 100.0 85 42.4 173 15.3 36 1238
CA oo
= =l 100.0 21.2 34.7 17.6 14.7 2.2 9.5
A = 100.0 13.6 41.8 12.8 10.3 3.8 17.7
<A o
=k At 100.0 17.9 38.5 15.7 9.9 1.9 16.2
o 2t 100.0 15.3 395 137 14.4 46 12.4
Co e
15~209 A 100.0 11.2 395 37 8.0 4.9 28
30~394 100.0 9.2 418 131 82 16 26.2
40~ 49N 100.0 8.4 452 12.9 9.0 6.4 18.1
50~509 A 100.0 15.5 40.8 17.8 13.3 2.0 106
60AM O A 100.0 23.0 355 17.7 145 2.4 6.9
65A O A 100.0 24.0 34,7 17.3 156 2.1 6.4
oo
2 Z o 3§t 100.0 20.3 33.7 15.0 16.0 3.2 11.6
ni = 100.0 14.0 42.7 16.7 9.3 3.0 14.2
If Z o 4 100.0 14.8 41.7 11.3 10.0 3.2 19.1
CZ A ER >
0| =z 100.0 9.8 38.1 8.4 11.7 50 26.9
Hf 2 A} U & 100.0 19.6 40.2 16.4 10.6 2.5 10.7
AF® /O] & 100.0 15.8 35.9 17.2 17.4 2.8 10.9
TLECTT
2 A 100.0 17.2 39.6 16.6 10.7 29 13.0
Alo! Ol HEA RS 100.0 15.5 37.8 11.2 14.7 3.6 171
CH oY
A2 /7 o g 100.0 11.5 36.3 19.2 13.3 6.5 13.3
At = 100.0 13.7 46.4 13.1 6.9 29 16.9
M H| A / T Oj 100.0 14.1 42.9 145 9.1 18 17.6
L 2 of o 100.0 24.7 338 176 12.9 35 7.5
s /7 A 100.0 146 416 19.8 9.4 0.0 146
o4 L oo 100.0 13.3 46.8 11.0 9.7 5.1 14.1
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GrRASE>
1000t oo 100.0 17.3 36.0 17.0 20.5 3.7 5.5
100~2008t8l 100.0 22.2 30.4 209 14.3 3.1 9.0
200~3000+ 100.0 20.4 39.1 15.6 9.1 2.2 13.7
300~4000+ 100.0 16.6 38.0 16.5 9.9 3.1 15.9
400~6000+ 100.0 10.3 46.7 8.2 7.7 3.9 23.1
6000t Of A 100.0 13.9 413 115 14.2 2.8 16.3
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4 - 6. Zof &2l 712 L AH B - (2) 7 AT A B (¢hF SH)
(9] : %)
S A 20 B2 | Aof 2 | A0 A | A0) B | DB Ay |
= ozt 4 | AR BE |xEH| AY| ey AY| AR
2 0 2 4 4 100.0 183 16.1 282 324 48 0.2
202 2 4 100.0 11.3 19.6 30.7 28.3 10.0 0.1
A9
3 =) 100.0 185 13.8 26.1 37.4 4.0 0.2
A G 100.0 18.2 175 29.6 29.1 5.4 0.2
<A ER
Lt Zt 100.0 17.4 16.9 288 31.3 5.4 0.3
ol 2t 100.0 19.3 15.0 275 338 42 0.1
CH o
15~29 A 100.0 15.1 21.6 29.0 243 9.4 0.6
30~39A4 100.0 19.3 14.8 25.4 34.8 5.6 0.0
40~49K 100.0 145 19.4 29.9 31.4 4.9 0.0
50~59 A 100.0 21.1 17.4 25.5 30.5 5.0 0.5
60A O A 100.0 19.3 12.4 29.1 36.2 2.9 0.0
65A O A 100.0 20.1 10.9 29.6 36.5 2.9 0.0
o g
z = o % 100.0 19.6 11.2 29.8 35.2 4.2 0.0
] = 100.0 17.4 18.2 27.8 31.8 45 0.3
f = o 4 100.0 18.0 19.5 26.5 29.5 6.1 0.3
CZOIAEfED
o| s 100.0 17.9 18.7 275 27.2 8.3 0.4
HE 2 2 Q2 100.0 18.3 15.8 276 34.2 3.9 0.2
A E /o B 100.0 18.8 13.1 31.4 33.7 3.1 0.0
(BAHESE>
2| o 100.0 19.1 16.7 27.4 31.7 48 0.3
Aot Q1 HpREE 100.0 16.6 14.7 29.8 34.0 4.9 0.0
CH Yo
=TT 100.0 19.7 19.9 26.3 30.2 38 0.0
At [=] 100.0 19.7 18.9 235 28.9 8.1 0.7
M H| A /T Of 100.0 18.6 175 28.1 30.4 4.7 0.8
= 2 of o 100.0 22.3 13.0 25.2 35.3 42 0.0
s /7 A 100.0 15.6 175 32.2 30.2 45 0.0
b2 L oo 100.0 13.7 20.4 29.2 30.5 6.2 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L2558
1000+ OOt 100.0 19.2 6.8 35.0 37.8 1.2 0.0
100~2008+ 100.0 23.8 12.0 22.9 375 3.8 0.0
200~3000+H 100.0 20.1 17.0 27.2 31.7 4.0 0.0
300~4000+ 100.0 175 13.8 316 32.9 43 0.0
400~6000+ 100.0 15.8 20.0 24.8 29.8 8.7 0.9
6000rS Of At 100.0 13.7 255 29.1 26.2 55 0.0
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4 - 7. AT WY - (1) AMZRE

-
(EF9l %)
T = Al ATt AYotA| =Lt

2 02 4 4 100.0 75.8 24.2
2 02 2 d 100.0 74.1 259
CA 9 85
= =l 100.0 78.7 21.3
A =l 100.0 73.9 26.1
< ==
=1 At 100.0 AW 28.3
q At 100.0 80.4 19.6
N I
15 ~29 KA 100.0 73.2 26.8
30~39MA 100.0 73.4 26.6
40~49MNM 100.0 69.5 30.5
50~59A 100.0 76.7 233
6 0 Al O A 100.0 78.8 21.2
6 5AM O A 100.0 78.3 21.7
<o oEH
=z Z o 3 100.0 76.6 23.4
il = 100.0 72.5 27.5
o & o A 100.0 79.8 20.2
CEOIAElED
| z 100.0 66.5 335
Hi 2 A 9 & 100.0 81.4 18.6
At &/ O & 100.0 69.4 30.6
(BAHEFE>
2| o 100.0 74.1 259
Aot Ol HPRBis 100.0 79.1 20.9
A
A 2 / 3 g 100.0 83.8 16.2
At = 100.0 67.6 32.4
A H| A / T Of 100.0 77.4 22.6
L 2 o o 100.0 75.4 24.6
7215/ 71 A 100.0 61.9 38.1
0 = L 2 100.0 78.7 21.3
ot 9ol 0.0 0.0 0.0
Ot a2s5ED
10002 O gt 100.0 72.9 271
100~2008t3 100.0 83.3 16.7
200~3000r< 100.0 76.4 23.6
300~4000r 100.0 77.6 22.4
400~6002H& 100.0 71.6 28.4
600Ttel O|4f 100.0 74.2 25.8
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4 - 7. 27T WY - () Y £ {A

=0 [ —
(T %)
7 g A AHTICH AHBHA| QeCt

2 02 4 4 100.0 77.5 22.5
2 022 4 100.0 72.0 28.0
<A oE
= = 100.0 82.9 171
N = 100.0 73.9 26.1
< ==
=1 At 100.0 77.8 22.2
q At 100.0 771 229
N I
15 ~29 KA 100.0 74.4 25.6
30~39MA 100.0 72.4 27.6
40~ 49N 100.0 73.2 26.8
50~59A 100.0 75.5 24,5
6 0AN o A 100.0 81.8 18.2
6 5AM O A 100.0 82.4 17.6
- I
2 Z 0o 3 100.0 79.6 20.4
a = 100.0 75.5 24,5
I & o Af 100.0 77.2 22.8
CEOlIAFEL S
]l =z 100.0 74.7 25.3
Hi @ At ¥} & 100.0 79.3 20.7
At &/ O & 100.0 75.2 24.8
(BAHEFE>
Z %) 100.0 77.3 22.7
Alo 9l HPZA[Bls 100.0 77.8 22.2
-
A 2 / 4 g 100.0 82.2 17.8
At = 100.0 69.7 30.3
A H| A / T Of 100.0 78.6 21.4
L 2 o o 100.0 81.4 18.6
7l 5/ 71 A 100.0 67.3 32.7
0 = L 2 100.0 79.2 20.8
o 9ol 0.0 0.0 0.0
Ot a2s5ED
17008t 0O)ar 100.0 77.5 22.5
1700~2008t& 100.0 86.9 13.1
200~300%t« 100.0 74.2 25.8
300~4008r 100.0 85.2 14.8
400~60082r 100.0 72.8 27.2
600Ttel O|4f 100.0 67.9 321
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T = Al ATt AYotA| =Lt

20 2 4 4 100.0 53.8 46.2
2 022 4 100.0 46.2 53.8
CA Yo

s = 100.0 58.6 41.4
A = 100.0 50.6 49.4
</ &

Lt 2t 100.0 53.5 46.5
of 2t 100.0 54.2 45.8
A

15 ~29MA| 100.0 56.9 43.1
30~ 39X 100.0 57.1 429
40 ~49A 100.0 46.4 53.6
50~59A 100.0 58.8 41.2
6 0 M O A 100.0 52.4 47.6
6 5AM O A 100.0 51.9 48.1
oo

2 2 o & 100.0 49.7 50.3
a = 100.0 50.6 49.4
o = o A 100.0 65.3 34.7
(ZALEHES

aj = 100.0 50.9 49.1
Hf 2 2 9 & 100.0 56.3 43.7
A" /o B 100.0 49.3 50.7
(BAHEFE>

= Ol 100.0 52.0 48.0
A0 Ol HPEARIS 100.0 57.4 42.6
S

2 a2/ne 100.0 56.3 43.7
At =] 100.0 60.4 39.6
A H| A/ O 100.0 57.4 42,6
= 2 o o 100.0 48.3 51.7
215 /71 A 100.0 415 58.5
N 100.0 58.5 41.5
2 ol 0.0 0.0 0.0
tFa259

1002t 0ot 100.0 51.3 48.7
700~2002H& 100.0 54.5 455
200~3000F& 100.0 53.7 46.3
300~4000t 100.0 56.1 43.9
400~6002H& 100.0 52.7 47.3
6008H# O 100.0 55.1 44.9
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2 0 2 4 4 100.0 79.7 20.3
2 02 2 4 100.0 70.9 29.1
<A Ao
= =l 100.0 85.1 14.9
A = 100.0 76.1 23.9
< ==
Ltk At 100.0 77.2 22.8
o] At 100.0 82.5 17.5
g g 2o
15 ~2 94 100.0 59.8 40.2
30~39MA 100.0 73.0 27.0
40~ 494 100.0 78.2 21.8
50~ 594 100.0 85.0 15.0
6 0 Al O A 100.0 85.3 14.7
6 5AM O A 100.0 85.3 14.7
- I
z = o & 100.0 78.6 21.4
il = 100.0 78.7 21.3
tf & o A 100.0 83.0 17.0
CEOlIAFEL S
| e 100.0 64.8 35.2
Hi @ A 9 & 100.0 84.2 15.8
A" /O = 100.0 83.6 16.4
(BAEFE>
2| o 100.0 82.6 17.4
Ao 9l HpARls. 100.0 74.2 25.8
NS R B B
dq 2 /3 g 100.0 86.9 13.1
At a 100.0 87.1 12.9
A | 2/ 2O 100.0 81.4 18.6
L 2 o o 100.0 85.4 14.6
s /71 A 100.0 77.8 22.2
o O P = | 100.0 72.2 27.8
- ol 0.0 0.0 0.0
tH258D
1008t 0Ojgr 100.0 81.0 19.0
1700~2008t& 100.0 81.4 18.6
200~3000r< 100.0 78.1 21.9
300~4000r 100.0 84.3 15.7
400~6000+2 100.0 73.5 26.5
600Ttel O|4f 100.0 82.5 17.5
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2 02 4 4 100.0 70.0 30.0
2022 H 100.0 68.5 31.5
<2 Y
= = 100.0 77.1 229
A =l 100.0 65.1 34.9
<M ==
= At 100.0 55.5 44.5
g At 100.0 86.0 14.0
<A Fg 8o
15 ~29A 100.0 711 28.9
30~39M4A 100.0 65.4 34.6
40~ 49N 100.0 58.4 41.6
50 ~59A 100.0 63.6 36.4
60 A O A 100.0 77.1 229
65 A O A 100.0 77.5 22.5
-
=z Z o 3 100.0 80.2 19.8
ni = 100.0 58.3 41.7
o & o A 100.0 71.5 28.5
(ZOSEIES
| z 100.0 63.1 36.9
Hi 2 A 9 & 100.0 70.8 29.2
At &/ O & 100.0 75.7 24.3
(BAHESE>
2| o 100.0 63.1 36.9
Aot Ol HPRBis 100.0 83.3 16.7
N R I
A 2 / 4 g 100.0 711 28.9
At = 100.0 64.3 35.7
A H| A/ o Of 100.0 69.6 30.4
L 2 o o 100.0 67.8 32.2
7215/ 71 A 100.0 38.1 61.9
o O P = | 100.0 64.5 35.5
= ol 0.0 0.0 0.0
L2558
17008+L O]t 100.0 81.2 18.8
100~2008+g 100.0 72.6 27.4
200~3008t<] 100.0 67.6 324
300~40008+L] 100.0 63.7 36.3
400~6000r 100.0 64.1 35.9
6002t2 O] At 100.0 75.8 24.2
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2 02 4 4 100.0 58.6 41.4
2 02 2 4 100.0 61.7 38.3
<29 g
= = 100.0 66.0 34.0
A = 100.0 53.6 46.4
< ==
Lt At 100.0 55.6 44.4
o At 100.0 61.9 38.1
g g 2o
15 ~2 94 100.0 57.0 43.0
30~ 39MA 100.0 66.2 338
40~ 49N 100.0 55.1 449
50~59MA 100.0 64.7 35.3
6 0 M O A 100.0 56.0 44.0
65 AN O A 100.0 54.3 45.7
<ot
=z Z o 3 100.0 51.3 48.7
il = 100.0 60.4 39.6
o & o A 100.0 67.3 32.7
(Z AR S
| e 100.0 51.1 489
Hi @ A 9 & 100.0 63.7 36.3
A" /O = 100.0 51.1 489
(BAEFE>
2| o 100.0 59.7 40.3
Ao 9l HpARls. 100.0 56.5 435
CH Y EH
A 2 / 3 g 100.0 67.8 32.2
At a 100.0 64.7 35.3
A H| A / Tt Of 100.0 68.9 31.1
L 2 o o 100.0 51.7 48.3
7215/ 71 A 100.0 53.4 46.6
ot &2 L =2 100.0 60.4 39.6
= 0l 0.0 0.0 0.0
tFa259
1008t Ojar 100.0 52.3 47.7
100~2008t<] 100.0 52.9 471
200~3008r& 100.0 59.9 401
300~4000r 100.0 61.5 38.5
400~60008+2] 100.0 63.8 36.2
6000 Of At 100.0 58.0 42.0
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2 0 2 4 4 100.0 24.2 54.8 4.1 55 11.4
202 2 4 100.0 16.2 53.9 5.3 6.8 17.8
CA 9 28O
= =l 100.0 46.2 28.5 4.5 5.8 14.9
A G 100.0 9.4 72.6 3.7 5.2 9.1
<A 5y
=1 At 100.0 23.3 57.5 3.8 7.6 7.8
ol 2t 100.0 25.1 51.8 4.4 3.1 15.5
Co g
15~29 Al 100.0 22.5 68.5 1.3 2.7 4.9
30 ~309A 100.0 1.5 83.2 16 1.9 1.9
4 0 ~ 49 A 100.0 12.0 71.2 3.2 10.6 3.0
50 ~509 Al 100.0 22.8 60.7 3.3 8.2 5.0
6 0AN o A 100.0 31.7 37.2 6.0 4.1 21.0
65 AN o 4 100.0 31.0 34.2 6.9 3.0 25.0
o g
z = o % 100.0 26.9 42.1 4.6 2.9 236
ni = 100.0 211 62.4 3.8 7.4 5.3
o = o A 100.0 24.7 63.4 36 6.6 1.7
(ZQIAENED
0| =z 100.0 20.3 66.4 2.1 4.3 7.0
HE © 2t 9 2 100.0 26.2 55.7 4.4 6.5 7.2
At &/ o] & 100.0 22.3 37.7 5.3 3.6 30.9
(BAEEE>
2 A 100.0 23.7 58.4 3.8 6.8 7.3
Alo! Ol HEA RS 100.0 25.1 47.9 4.6 2.8 19.6
CH Y gD
a4 82 /7 & g 100.0 11.9 76.5 4.0 6.7 1.0
At [=] 100.0 21.7 70.5 1.4 26 3.8
M H| A /T Of 100.0 27.0 60.3 1.6 75 35
= 2 of o 100.0 33.1 40.6 5.8 5.2 15.3
s /7 A 100.0 11.5 70.4 5.7 9.7 2.8
b2 L oo 100.0 18.1 63.8 0.0 10.9 7.3
= ol 0.0 0.0 0.0 0.0 0.0 0.0
A58
1000t Ojot 100.0 30.0 27.1 48 1.6 36.5
100~2008+ 100.0 34.1 37.3 5.4 3.3 19.9
200~3000+H 100.0 28.9 53.3 7.1 5.5 5.2
300~4000+ 100.0 14.0 66.8 1.9 10.0 7.3
400~6000+ 100.0 20.1 69.9 2.7 5.8 1.5
6000rS Of At 100.0 19.1 70.4 2.0 5.6 3.0
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g suspr)| 2| R oay | op | ae
22 | oA | A ueme R ge | oo | T 2 BT | o
olg | SlofA zag | & Hoos | oa
Q|5
2 02 4 4 100.0 33.4 5.2 19.5 0.5 2.8 2.1 2.0 34.3 0.3
202 2 4d| 1000 357 64 207 08 22 16 27 293 05
R
= = 100.0 39.3 4.5 14.2 1.3 1.4 2.1 2.9 34.4 0.0
A = 100.0 29.7 5.6 22.8 0.0 3.8 2.1 1.4 34.2 0.5
CH o E
=k At 100.0 28.7 7.1 18.1 0.5 3.1 2.5 2.8 37.0 0.3
o At 100.0 39.1 29 21.1 0.5 2.5 1.6 0.9 31.0 0.4
IR
15~294]| 1000 53 53 272 26 159 28 38 371 0.0
30~394]| 1000 392 19 363 00 00 00 19 206 00
40~ 49N 100.0 22.0 11.3 24.0 0.0 1.3 1.9 4.2 34.6 0.5
50~59A| 1000 302 80 178 05 14 43 08 367 04
6 0AN o A 100.0 491 1.8 11.7 0.0 0.0 1.2 1.0 349 0.4
65 AN o 4 100.0 52.9 1.2 8.7 0.0 0.0 0.6 1.1 349 0.5
CotoE ey
2 Z o 3§t 100.0 46.5 1.3 13.2 0.8 59 1.0 0.6 30.4 0.2
ni = 100.0 26.7 7.2 20.1 0.0 2.0 3.0 3.1 37.7 0.2
If & o 4 100.0 27.3 6.9 26.1 0.8 0.3 2.0 2.0 34.0 0.6
CZ O AEN >
0| =z 100.0 14.6 4.4 23.9 2.1 9.9 2.2 5.2 37.7 0.0
By o 2t 9 2| 1000 373 54 205 00 06 24 06 328 04
Af % /o | 1000 480 54 74 00 07 07 23 349 05
A
2 A 100.0 31.5 7.2 18.5 0.5 0.6 29 2.4 36.2 0.2
Alo! Ol HEA RS 100.0 37.7 0.6 21.6 0.5 8.0 0.3 0.9 30.0 0.5
CH oY ow
A2 /gl 1000 306 10 181 00 26 13 26 338 00
At = 100.0 31.0 6.7 20.0 3.7 0.0 0.0 3.2 341 1.4
MH A/Toy| 1000 264 128 241 00 00 25 22 320 00
L 2 o o 100.0 42.4 2.0 10.3 0.5 0.4 1.9 1.9 40.5 0.0
25 /71 A 100.0 23.3 6.5 19.7 0.0 0.9 4.4 3.8 40.7 0.6
ot &2 L =2 100.0 26.5 4.2 28.5 0.0 0.0 11.3 1.0 28.3 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtpASES
1000t ojor| 1000 578 00 86 00 10 00 13 314 00
100~2008tgl | 1000 474 60 68 25 16 09 06 342 0.0
200~3000t | 1000 313 33 228 00 23 43 37 323 00
300~40008+L] 100.0 279 6.0 25.4 0.0 2.3 2.1 0.7 349 0.7
400~6000t9d | 1000 248 70 247 00 44 05 28 355 04
6000t o[t | 1000 255 71 181 1.2 47 43 15 370 07
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ZOMA| ol | U7t | So |LiHHR| 2kzt | ofe | OJF
Zory | Zory| = LHEF | Lhhg) | A=)
202 4 4 32 1000 989 1000 294 25 269 645 61 47 14 11
2022 4 33 1000 987 1000 283 28 254 712 19 13 05 13
A9
= =) 33 1000 1000 1000 383 22 361 544 73 46 27 00
A = 32 1000 982 1000 234 27 207 714 52 48 04 18
<A TN
Lt Zt 33 1000 991 1000 290 32 256 664 46 37 10 09
ol Zt 32 1000 988 1000 301 17 282 623 76 58 18 12
<A g g
15~29 Al 3.4 1000 974 1000 370 52 317 606 26 14 10 26
30 ~309A 3.3 100.0 1000 1000 310 20 290 675 15 15 00 00
40~ 49N 33 1000 982 1000 327 33 294 638 34 26 08 18
50 ~509 Al 32 1000 983 1000 228 30 198 719 54 46 07 17
60A O A 32 1000 997 1000 288 14 275 621 91 70 22 03
65A O A 3.2 1000 998 1000 298 13 285 609 94 68 26 02
<8 oE g
z = o % 3.2 1000 997 1000 302 20 283 617 81 62 19 03
i £ 3.2 1000 984 1000 256 27 229 690 54 44 10 16
f = o 4 33 1000 986 1000 341 31 309 622 37 26 11 14
(ZOERED
O| T 33 1000 984 1000 330 47 284 631 40 34 06 16
HE © 2t 9 2 3.2 1000 992 1000 288 20 268 653 58 46 12 08
A" /o & 3.2 1000 988 1000 270 16 254 636 94 67 27 12
(BAZEEE>
EY o 3.3 1000 985 1000 304 26 277 641 56 44 11 15
Aot Q1 HpREE 3.2 1000 998 1000 277 23 254 654 70 52 18 02
CH Yo
A2/ @ g 3.2 100.0 1000 1000 287 26 262 659 53 38 15 00
Ab o 36 1000 942 1000 523 81 444 460 17 17 00 58
A H| A/ ooy 33 1000 987 1000 348 32 315 608 45 42 03 13
= 2 of o 3.2 100.0 1000 1000 276 18 258 636 88 64 24 00
s /7 A 3.2 1000 982 1000 216 10 206 743 41 34 07 18
ot 2 L o 33 1000 938 1000 265 31 236 712 22 22 00 62
2 ol - 00 00 00 00 00 00 00 00 00 00 00
tHA259E)
1000t Ojot 3.2 1000 996 1000 316 03 312 580 104 64 40 04
100~2000t2] 32 1000 1000 1000 247 21 226 672 81 63 17 00
200~3000t 3.2 1000 978 1000 292 25 267 633 76 60 15 22
300~4000t2 33 1000 981 1000 301 20 280 644 55 55 00 19
400~6000+ 33 1000 993 1000 321 42 279 662 17 13 04 07
6000rS Of At 33 1000 992 1000 273 36 237 689 38 29 09 08
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Zory | Zory| = LHEF | Lhhg) | A=)
202 4 4 3.2 1000 989 1000 249 16 233 703 50 43 06 11
2022 4 3.2 1000 987 1000 254 20 234 737 22 17 05 13
A9
= =) 3.2 1000 1000 1000 287 14 273 661 52 49 04 00
A = 3.2 1000 982 1000 222 1.7 205 731 48 40 08 18
<A ST
Lt Zt 3.2 1000 991 1000 253 19 234 700 46 41 05 09
ol Zt 32 1000 988 1000 243 12 231 703 54 46 08 12
CH o
15~29 Al 3.4 1000 974 1000 356 40 316 605 39 39 00 26
30 ~309A 3.3 1000 1000 1000 282 00 282 718 00 00 00 00
40~ 49N 33 1000 982 1000 326 17 309 664 10 10 00 18
50 ~509 Al 31 1000 983 1000 190 24 166 755 56 39 17 1.7
60A O A 31 1000 997 1000 210 07 204 718 72 65 07 03
65A O A 31 1000 998 1000 216 06 210 712 71 68 03 02
<8 oE g
z = o % 3.2 1000 997 1000 226 13 213 712 62 59 03 03
i £ 3.2 1000 984 1000 232 18 213 722 46 36 11 16
f = o 4 3.3 1000 986 1000 309 16 292 656 34 29 05 14
CZOIAEfED
O| T 33 1000 984 1000 327 39 288 650 23 23 00 16
W S 2 9 2 3.2 1000 992 1000 232 10 222 711 57 48 08 08
A" /o & 31 1000 988 1000 205 07 198 738 57 50 07 12
(BAZEEE>
Y o 3.2 1000 985 1000 251 14 236 708 42 34 08 15
Aot Q1 HpREE 3.2 1000 998 1000 243 18 226 691 65 62 03 02
CH Yo
A2/ @ g 3.3 1000 1000 1000 356 26 330 611 33 23 10 00
Ab o 3.4 1000 942 1000 436 29 408 548 16 16 00 58
A H| A/ ooy 3.2 1000 987 1000 242 30 212 734 24 21 03 13
= 2 of o 31 1000 1000 1000 208 06 201 723 70 59 11 00
s /7 A 3.2 1000 982 1000 217 00 217 746 37 21 15 18
T 3.2 1000 938 1000 183 00 183 794 22 22 00 62
2 ol - 00 00 00 00 00 00 00 00 00 00 00
tHA259E)
1000t Ojot 3.2 1000 996 1000 264 04 260 678 59 55 03 04
100~2000t2] 31 1000 1000 1000 203 1.3 191 726 71 67 04 00
200~3000t 3.2 1000 978 1000 213 18 193 731 57 47 10 22
300~4000t2 3.2 1000 981 1000 263 11 252 698 38 35 04 19
400~6000+ 33 1000 993 1000 287 25 262 695 17 17 00 07
6000rS Of At 3.2 1000 992 1000 253 20 233 675 72 49 22 08
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202 4 4 32 1000 989 1000 278 16 262 679 42 34 08 11
2022 4 3.2 1000 987 1000 206 1.3 194 774 33 26 07 13
A9
= I 33 1000 999 1000 323 12 311 633 44 34 09 01
A = 3.2 1000 982 1000 247 18 228 712 42 35 07 18
<A TN
Lt Zt 33 1000 990 1000 286 24 262 676 39 33 06 10
ol Zt 3.2 1000 988 1000 270 07 263 684 46 35 10 12
<A g g
15~29 Al 3.4 1000 974 1000 385 54 331 577 39 39 00 26
30 ~309A 3.3 100.0 1000 1000 346 00 346 620 34 19 16 00
40~ 49N 33 1000 982 1000 336 17 319 659 05 05 00 18
50 ~509 Al 3.2 1000 983 1000 244 09 235 705 51 43 08 17
60A O A 3.2 1000 996 1000 230 10 220 718 53 41 12 04
65A O A 32 1000 997 1000 236 04 232 715 49 44 05 03
o g
z = o % 32 1000 996 1000 233 14 219 712 54 50 04 04
i £ 3.2 1000 984 1000 267 1.7 250 695 38 27 10 16
f = o 4 33 1000 986 1000 365 15 350 603 30 18 12 14
CZOIAEfED
O| T 34 1000 984 1000 350 47 303 615 37 30 06 16
HE © 2t 9 2 3.2 1000 991 1000 275 09 267 682 42 32 09 09
A" /o & 31 1000 988 1000 197 00 197 752 52 45 07 12
(BAZEEE>
EY o 33 1000 984 1000 296 1.3 283 671 34 23 09 16
Aot Q1 HpREE 3.2 1000 998 1000 245 21 223 695 59 54 06 02
CH oY
A2/ @ g 3.4 1000 1000 1000 381 35 346 586 33 21 13 00
Ab o 35 1000 942 1000 514 19 495 470 16 00 16 58
A H| A/ ooy 33 1000 987 1000 271 19 251 708 20 09 11 13
= 2 of o 3.2 1000 998 1000 264 09 255 686 51 42 09 02
s /7 A 3.2 1000 982 1000 260 00 260 716 24 17 07 18
T 3.2 1000 938 1000 233 00 233 726 41 41 00 62
2 ol - 00 00 00 00 00 00 00 00 00 00 00
tHA259E)
1000t Ojot 3.2 1000 996 1000 246 06 240 695 59 52 07 04
100~2000t2] 32 1000 997 1000 239 22 217 712 49 46 04 03
200~3000t 3.2 1000 978 1000 243 10 233 695 61 36 26 22
300~4000+ 33 1000 981 1000 293 11 281 670 38 34 04 19
400~6000+ 33 1000 993 1000 307 22 285 680 13 13 00 07
6000rS Of At 3.3 1000 992 1000 353 25 327 609 39 31 08 08
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202 4 4 30 1000 985 1000 257 24 231 550 194 111 83 15
2022 4 3.2 1000 985 1000 241 21 219 688 86 67 19 15
CA G E )
= =) 31 1000 994 1000 262 18 243 631 108 71 36 06
A = 29 1000 97.9 1000 253 29 224 494 253 138 115 2.1
<A TN
Lt Zt 3.0 1000 988 1000 249 26 223 562 188 112 76 1.2
ol Zt 30 1000 983 1000 264 22 242 535 200 108 92 17
Co g
15~29 Al 30 1000 962 1000 333 51 282 467 201 57 144 38
30 ~309A 29 1000 100.0 1000 227 16 212 568 204 106 98 00
40~ 49N 3.0 1000 982 1000 243 13 230 562 195 116 78 18
50 ~509 Al 29 1000 97.9 1000 220 26 194 558 223 141 82 2.1
60A O A 30 1000 994 1000 260 21 237 564 177 113 64 06
65A O A 31 1000 995 1000 272 21 251 556 171 114 57 05
o g
z = o % 31 1000 993 1000 274 22 252 562 164 95 69 07
T = 29 1000 97.7 1000 219 17 202 560 221 141 80 23
f = o 4 3.0 1000 986 1000 284 40 245 513 202 90 112 1.4
CZOIAEf >
O| T 3.0 1000 97.3 1000 289 40 249 498 213 101 111 27
W S 2 9 2 30 1000 989 1000 250 22 228 550 200 11.7 84 1.1
A" /o & 31 1000 988 1000 239 13 226 610 150 101 50 1.2
(BAZEEE>
Y o 3.0 1000 982 1000 246 23 224 571 183 111 72 18
Aot Q1 HpREE 30 1000 991 1000 275 27 248 510 215 111 105 09
CH oY
A2/ @ g 3.2 100.0 1000 1000 353 98 255 489 159 59 100 00
Ab o 3.2 1000 925 1000 335 19 317 551 112 31 80 75
A H| A/ ooy 3.0 1000 987 1000 238 26 212 554 208 126 82 13
= 2 of o 3.0 1000 998 1000 223 13 210 627 149 104 45 02
s /7 A 29 1000 982 1000 221 00 221 522 256 174 81 18
b2 L oo 29 1000 938 1000 172 00 172 629 198 106 94 62
2 ol - 00 00 00 00 00 00 00 00 00 00 00
tHA259E)
1000t Ojot 31 1000 996 1000 303 15 288 517 181 116 64 04
100~2000t2] 31 1000 984 1000 248 22 226 626 126 71 55 16
200~3000+H 29 1000 978 1000 219 15 204 530 251 142 109 22
300~4000t2 31 1000 981 1000 232 33 199 640 127 88 41 19
400~6000+< 31 1000 993 1000 304 26 278 497 198 123 75 07
6000rS Of At 2.8 1000 97.8 1000 220 40 180 486 294 113 181 22
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202 4 4 31 1000 989 1000 236 1.3 223 651 113 100 12 11
2022 4 3.2 1000 992 1000 257 28 229 671 80 36 43 08
A9
= =) 31 100.0 1000 1000 264 09 255 589 147 135 12 00
A = 31 1000 982 1000 217 15 202 693 90 76 13 18
<A TN
Lt Zt 31 1000 991 1000 246 1.3 232 641 113 103 10 09
ol Zt 31 1000 988 1000 225 12 214 662 112 98 14 12
CH o
15~29 Al 33 1000 974 1000 371 40 331 539 89 89 00 26
30 ~309A 3.2 1000 1000 1000 233 16 218 732 34 19 16 00
40~ 49N 31 1000 982 1000 272 08 264 611 117 101 1.7 18
50 ~509 Al 31 1000 983 1000 186 07 179 716 99 82 16 17
60A O A 31 1000 99.7 1000 206 08 199 654 139 127 13 03
65A O A 31 1000 998 1000 215 07 208 654 131 123 08 02
o g
z = o % 31 1000 997 1000 216 18 198 653 131 125 05 03
i £ 31 1000 984 1000 227 07 220 667 107 91 15 16
f = o 4 32 1000 986 1000 282 12 270 624 93 74 19 14
CZOIAEfED
O| T 3.2 1000 984 1000 312 33 279 593 95 83 11 16
W S 2 9 2 31 1000 992 1000 219 06 213 661 120 106 13 08
A" /o & 31 1000 988 1000 198 10 188 688 113 103 10 12
(BAZEEE>
Y o 31 1000 985 1000 237 09 227 659 105 90 14 15
Aot Q1 HpREE 31 1000 998 1000 235 20 215 636 128 119 10 02
CH oY
A2/ @ g 3.3 100.0 1000 1000 343 26 317 598 59 21 38 00
Ab o 3.4 1000 942 1000 460 2.4 435 494 47 47 00 58
A H| A/ ooy 31 1000 987 1000 224 14 210 673 103 89 14 13
= 2 of o 30 1000 1000 1000 186 02 184 676 137 123 15 00
s /7 A 31 1000 982 1000 205 00 205 686 109 102 07 18
T 31 1000 938 1000 166 00 166 752 81 81 00 62
2 ol - 00 00 00 00 00 00 00 00 00 00 00
SIEENE P
1000t Ojot 31 1000 996 1000 269 1.3 257 589 142 139 03 04
100~2000t2] 31 1000 1000 1000 186 1.3 173 704 110 99 11 00
200~3000t 3.0 1000 978 1000 182 13 169 692 126 94 32 22
300~4000t2 32 1000 981 1000 261 11 251 646 92 88 04 19
400~6000+< 3.2 1000 993 1000 271 13 258 657 73 73 00 07
6000rS Of At 31 1000 992 1000 245 1.4 231 596 160 130 29 08
2024'3 Hefd: FUT AIBIRAL
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4 - 10. SOF & LOAFA|AMH|A
£rOl : %)
st _ o7t | A
2 = | oy | S5 | M| A oo | He | Ay | g5 | 5 |
Auw | MEIA AR At e | Ay | 2= | 2E
3 =
2 02 4 || 1000 194 228 135 130 73 118 8.9 32 0.1
202 2 4| 1000 150 221 150 123 82 127 117 26 0.4
A9
3 = 1000 196 226 111 150 72 138 7.4 3.1 0.0
A =l 1000 193 229 150 116 73 105 9.9 3.2 0.2
<A ST
Lt 2| 1000 198 230 131 113 83 132 9.0 2.3 0.0
ol [ 1000 191 225 139 148 6.2  10.2 8.9 4.2 0.2
CH o
15~294| 1000 87 165 78 233 100  16.1 76 100 0.0
30~39A| 1000 90 382 101 92 112 8.7 6.7 6.9 0.0
40~49A| 1000 136 212 169 66 113 101 174 3.0 0.0
50~5094| 1000 235 228 126 143 8.1 8.8 8.9 1.1 0.0
60AM O A 1000 248 224 152 119 41 130 7.0 1.3 0.2
65A O A 1000 233 218 158 125 46 137 6.7 1.4 0.3
<8 oE g
z Z o| & 1000 237 195 147 163 50 124 5.3 2.9 0.1
T =z | 1000 208 243 121 9.8 72 129 100 2.7 0.1
Il = o A| 1000 106 257 136 127 111 92 129 43 0.0
(ZOERED
O| | 1000 119 227 111 181 99 114 7.9 7.0 0.0
Ml © 2t 9 2| 1000 206 225 136 107 7.4 125 9.9 2.5 0.1
Ab® /o &| 1000 250 237 160 140 35 101 6.9 0.6 0.3
(BAZEEE>
2| o[ 1000 206 237 133 115 73 124 9.2 1.9 0.1
Aojgiypyels | 1000 172 209 138 159 73 106 8.5 5.7 0.2
CH Yo
A8 /g | 1000 130 267 217 126 9.8 6.9 7.8 1.5 0.0
Ab o| 1000 59 252 36 252 113 93 148 4.6 0.0
MH A/ToHOy| 1000 209 231 114 104 104 95 108 3.4 0.0
= 2 of of 1000 269 217 114 115 34 166 7.6 0.7 0.3
Jl s /71 A 1000 225 235 196 5.0 6.7 14.0 8.7 0.0 0.0
b 2 & = 1000 150 302 120 128 7.7 115 7.0 3.8 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHA259E)
100atel ojor| 1000 247 230 201 155 35 8.1 4.1 0.7 0.4
100~2000t8l | 1000 205 238 117 150 41 157 6.7 2.4 0.0
200~3000tg | 1000 257 255 111 107 68 108 7.2 2.3 0.0
300~4009t% | 1000 206 172 16.1 98 121 114 115 1.3 0.0
400~6000t% | 1000 118 260 103 116 94 127 110 7.0 0.3
60002 oAt 1000 126 196 126 183 61 127 132 5.0 0.0
202413 HBfLT FOLR AFD|ZRAf
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4 - 11. 8|Yst= 2TIWAL

(EF91: %)

_ _ | B=z2A | e | T2
- =2 A | S| HZ | Gt | s | ENME | HAG | 58 29 27| 7IEL
Izt oRs. 2o

2 0 2 4 @[ 1000 7.5 31 169 6.6 254 8.5 93 173 4.1 1.3
2 0 2 2 4| 1000 7.8 51 21.2 58 228 56 11.3 145 5.6 0.2
<29 Eo
= = 100.0 9.7 2.5 22.5 4.9 19.8 59 8.3 21.9 4.0 0.6
A = | 100.0 6.0 35 132 78 291 102 100 142 4.2 1.7
<M 4 )
Lt 2t | 100.0 7.4 28 183 45 264 9.2 80 176 4.8 0.9
o 2t | 100.0 7.6 34 154 9.0 242 76 108 169 3.4 1.6
AP E
15~29A| 100.0 4.9 24 207 193 241 155 2.4 2.7 7.9 0.0
30~39 A/ 1000 3.9 56 229 83 299 173 1.6 5.1 3.6 1.9
40~ 49 A 100.0 11.3 2.5 20.0 12.9 26.3 9.6 3.1 8.0 4.8 1.5
50~509 Al 1000 8.3 47 174 49 309 10.0 57 124 5.0 0.7
6 0 Al O| Af 100.0 7.4 2.4 13.4 1.1 221 3.6 16.6 29.4 2.4 1.7
6 5 Al O| At 100.0 6.7 2.6 12.9 1.0 22.2 2.1 16.9 31.2 2.3 1.9
<53 E
2 Z o 3§t 100.0 6.8 2.8 13.8 3.2 22.0 4.4 15.0 27.0 3.3 1.7
ini Z 100.0 7.9 2.6 20.2 5.4 28.0 10.5 6.0 13.1 5.0 1.4
If & o 4 100.0 8.0 4.4 16.8 13.9 26.7 12.0 5.4 8.4 4.2 0.3
CZOIAENES
0| =z 100.0 6.6 3.0 23.3 14.7 26.4 10.3 3.1 6.2 5.3 1.2
Bl @ 2 Q! & | 100.0 8.0 34 165 45 252 9.3 93 184 4.4 1.1
At &/ o] & 100.0 6.9 2.5 10.4 3.5 24,7 3.4 171 27.6 2.0 2.0
(BAHZEE
Z| o 100.0 7.1 4.0 16.5 6.4 26.7 9.2 8.1 17.2 4.3 0.6
Al gl Hpisi= | 100.0 8.3 15 178 70 228 72 117 174 3.9 2.5
CA A oEH
A 2 /2 g | 1000 8.8 29 170 111 251 130 48 104 4.4 2.6
At =2 | 100.0 63 145 136 206 151 10.6 4.8 8.5 5.9 0.0
M H A /ooy | 100.0 6.5 19 159 81 288 140 46 134 6.8 0.0
= 2 o 9/ 100.0 7.6 28 157 28 249 31 140 252 2.8 1.1
25 /71 A 100.0 7.6 4.8 22.4 1.2 33.9 7.6 4.7 13.8 4.1 0.0
oS =2 100.0 3.3 4.1 10.3 58 25.8 16.8 10.9 229 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IR A2E5E
1008rgl OJgt | 100.0 6.7 1.4 117 22 211 22 177 336 1.0 2.3
100~2009tl | 100.0  10.2 36 175 2.7 184 52 132 221 4.5 2.5
200~3000F | 100.0 5.9 26 149 40 259 103 123 210 2.6 0.7
300~4008F | 100.0 5.7 3.4 197 9.0 315 11.0 48 102 3.1 1.4
400~6008F | 100.0 7.9 19 213 1.4 281 1.2 4.1 7.4 5.9 0.7
6000t o[ AF [ 100.0 9.7 73 145 95 243 9.0 49 121 8.8 0.0
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4 - 12, @M g A
(9l %)
A| ZAst
2, g of | IR | BIAA
o o A Alg | s9AlE e 2 232 9|
%43 g | Qg -3
2t 3 o | Ry
5 |
2 02 4 4 100.0 14.9 14.9 20.3 29.8 17.1 2.9 0.1
202 2 4 100.0 15.0 12.2 18.9 35.8 15.5 2.4 0.4
CA 9 EH
= = 100.0 9.7 17.2 21.4 33.6 15.4 2.7 0.0
A = 100.0 18.3 13.4 19.6 27.3 18.2 3.0 0.2
& =
=k At 100.0 15.9 14.2 21.9 29.3 15.0 3.6 0.1
o At 100.0 13.7 15.7 18.6 30.4 19.4 2.1 0.1
oo
15~294A 100.0 13.7 12.3 24.1 24.8 20.4 4.8 0.0
30~ 309A 100.0 26.5 11.1 14.8 24.0 21.6 2.0 0.0
40~ 49N 100.0 15.1 16.2 121 39.0 141 3.4 0.0
50 ~59 A 100.0 15.4 12.2 21.6 32.2 14.6 4.0 0.0
6 0 Al o| At 100.0 12.7 17.3 22.2 28.4 17.3 1.8 0.3
6 5 Al O| Af 100.0 12.5 17.9 22.9 28.5 16.1 1.8 0.3
<53 E
2 Z o 3§t 100.0 13.1 16.3 221 29.3 171 1.9 0.3
ni = 100.0 13.6 13.0 20.5 31.4 18.4 3.1 0.0
If Z o 4 100.0 19.6 15.6 17.2 28.1 15.2 4.3 0.0
(ZQMEIES
0| =z 100.0 16.2 12.0 23.2 30.1 14.8 3.6 0.0
Hf 2 2t 9 & 100.0 15.9 15.0 18.8 29.7 17.2 3.2 0.1
At &/ o & 100.0 9.9 18.2 21.5 29.6 19.6 0.9 0.3
(BAHZEE
2 A 100.0 15.8 15.3 19.7 29.7 16.3 3.3 0.0
Alo! Ol HEA RS 100.0 13.0 141 21.5 30.0 18.8 2.2 0.3
CA A ED
A2 /7 o g 100.0 17.7 17.6 18.5 31.5 13.4 1.3 0.0
At = 100.0 19.9 20.4 171 31.4 11.2 0.0 0.0
M H| A / T Of 100.0 11.3 13.7 17.8 28.1 24.9 4.3 0.0
= 2 of o 100.0 13.8 16.0 23.4 29.8 13.6 35 0.0
7S /7 A 100.0 20.8 15.2 20.3 29.3 11.7 2.7 0.0
o P W = 100.0 22.4 8.3 12.4 30.8 19.2 6.9 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IR A2E5E
1000t Ojot 100.0 1.7 18.5 23.7 32,6 12.9 0.3 0.4
100~2008t< 100.0 13.6 17.1 20.7 21.9 20.6 5.6 0.4
200~3000t< 100.0 10.7 17.8 24.1 25.9 18.3 3.1 0.0
300~4000+ 100.0 17.4 12.5 18.9 30.7 18.7 1.8 0.0
400~6000+ 100.0 20.1 7.2 15.1 348 20.0 2.8 0.0
6000t O] A 100.0 14.3 19.9 20.2 323 8.8 4.6 0.0
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4- 13, WPMHA BIZE Y EUE 0g - (1)0]8 o ¥ MEE

TR BRI AU L, %s
BE | 01 | ot | mE |BUE| o7t | Oje
BHE | otz 20HZ | 20E
202 4 4 3.7 1000 637 1000 581 264 31.7 337 81 60 21 363
2022 4 3.7 1000 612 1000 51.7 266 251 380 103 74 29 388
A9
= =) 38 1000 649 1000 632 252 380 288 80 52 28 351
A = 3.7 1000 630 1000 546 273 274 372 82 66 17 370
<A TN
Lt 2| 37 1000 690 1000 581 278 303 329 90 61 29 310
ol 2| 37 1000 579 1000 581 246 335 349 70 59 11 421
<A g g
15~29 Al 3.7 1000 448 1000 573 173 400 397 30 30 00 552

30~ 394 3.4 100.0 724 1000 449 174 275 408 142 6.9 7.3 276
4 0 ~ 49 A 3.6 100.0 680 100.0 489 246 243 398 113 10.1 1.1 320
50 ~59A 3.6 100.0 728 100.0 553 164 389 330 11.7 8.6 31 272
6 0AN o A 4.0 1000 625 100.0 659 364 295 291 5.0 3.6 1.3 375

65A O A| 41 1000 586 1000 708 403 305 257 35 27 08 414
o g

Zz Z o| &| 41 1000 527 1000 697 391 306 274 29 23 05 473
Il =z | 36 1000 700 1000 527 214 314 379 94 69 24 300
[f Z o 4| 36 1000 716 1000 527 192 335 349 124 89 35 284
(ZOSEIES

o| S| 37 1000 524 1000 595 241 355 315 90 56 34 476
B © 2t 9 | 37 1000 704 1000 554 253 301 365 81 63 18 296
Ab® /o &| 39 1000 561 1000 67.6 339 337 250 74 52 22 439
(BAHESE>

Y of [ 37 1000 713 1000 577 256 321 344 79 58 20 287
Aol @l HpeEs | 38 1000 490 1000 593 288 305 318 89 65 24 510
CH oY

2 /32| 38 1000 751 1000 647 304 343 231 122 88 34 249
At of 36 1000 718 1000 582 157 425 304 113 113 00 282
MH A/ToHOf| 37 1000 696 1000 499 219 281 456 45 45 00 304
= 2 of 9| 38 1000 708 1000 626 290 335 293 81 47 34 292
715 /71 A| 36 1000 720 1000 522 243 278 370 108 76 32 280
b 2 & 9| 39 1000 715 1000 636 296 340 364 00 00 00 285
2 ol - 00 00 00 00 00 00 00 00 00 00 00
SIEENE P

1000tgl O 41 1000 481 1000 715 457 258 243 43 43 00 519
100~2000+ 38 1000 687 1000 638 297 340 284 78 33 45 313
200~3000+ 3.8 1000 632 1000 611 293 318 296 94 68 26 368
300~4000t2 3.7 1000 71.0 1000 592 228 364 343 65 59 05 290
400~6000+ 36 1000 67.7 1000 456 225 231 439 105 88 1.7 323
6000rS Of At 35 1000 61.0 1000 540 11.6 424 373 88 48 39 390
2024 Mefgde FUT AB|RAL
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4 - 13, VAAMHA UZEE Y FUF o7 - (2) 2UF olF (THF 3H)

(T2l %)
g can | mee | BB xEI | w9El | upts me el o
T A 8RR B Teg | e | os | s | ow | 71

2 02 4 9| 1000 328 137 89 16/ 252 0.0 2.6 0.0
20 2 2 4 1000 316 116 3.0 20.2 305 0.9 2.3 0.0
Ao
= = 100.0 325 12.4 41 22.4 28.7 0.0 0.0 0.0
A s 1000 330 146 124 130 230 0.0 4.2 0.0
CH g
Lt 2| 1000 286 146 56 173 29.8 0.0 41 0.0
ol 2| 1000 400 123 14.7 156 17.4 0.0 0.0 0.0
CoA
15~294| 1000 500 0.0 0.0 0.0 50.0 0.0 0.0 0.0
30~394| 1000 367 8.3 83 183 28.4 0.0 0.0 0.0
40~ 49 A 100.0 241 25.4 11.7 11.7 15.5 0.0 11.7 0.0
50~594 | 1000 359 7.4 87 168  31.3 0.0 0.0 0.0
6 0AN o A 100.0 30.8 17.5 8.9 22.8 19.9 0.0 0.0 0.0
65 AN o 4 100.0 311 18.4 54 29.6 15.4 0.0 0.0 0.0
Cot o
2 Z o 3§t 100.0 37.8 23.6 19.4 19.2 0.0 0.0 0.0 0.0
il Z 100.0 36.5 12.7 10.1 13.3 24,7 0.0 2.7 0.0
If & o 4 100.0 27.2 12.7 5.1 20.0 31.9 0.0 3.1 0.0
(BOAER
0| =z 100.0 33.0 6.6 0.0 5.6 54.8 0.0 0.0 0.0
o ool 1000 348 151 78 194 209 0.0 2.0 0.0
At &/ O & 100.0 23.4 17.4 25.8 19.2 54 0.0 8.8 0.0
BHES D
Z| o 100.0 30.2 141 6.6 20.3 26.9 0.0 1.8 0.0
AolQlupEs | 1000 389 128 145 81 213 0.0 44 0.0
CA Yo
A8 /g | 1000 358 00 300 127 214 0.0 0.0 0.0
At = 100.0 16.4 16.4 0.0 39.5 11.2 0.0 16.4 0.0
MulA/moy| 1000 272 272 00 189 267 0.0 0.0 0.0
= 2 o ¢ 100.0 34.6 12.0 6.0 17.7 29.8 0.0 0.0 0.0
7% /7 Al 1000 280 167 00 212 342 0.0 0.0 0.0
oA L oo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R EP TP
1000t OjOF| 1000 142 303 148 142 264 0.0 0.0 0.0
100~2009t9d | 1000 332 6.7 145 175 28.0 0.0 0.0 0.0
200~3000ted | 100.0 215 10.4 55 24.1 33.0 0.0 55 0.0
300~4000t% | 1000 549 26.5 0.0 5.1 5.1 0.0 8.4 0.0
400~6000tg | 1000 348 132 132 15.8 229 0.0 0.0 0.0
6000tel oA | 100.0 27.9 9.1 73 1856 37.0 0.0 0.0 0.0

20243 HefdE ST ARIZAL

- 231 -



(EHel: %)
e =5 | 71 EEHEE 2
SMBORY | SN | EMY Y| TSR
2 o= 2 A EME 5 AR S %Y T
. Us =74 =& A %oﬂﬂ_ ezt £t Al AE
& 219 st 2445t 22 wo
2 02 4 4 100.0 20.9 15.6 13.8 7.4 8.7
2 022 4 100.0 17.2 14.3 12.6 8.4 7.3
N T B
= = 100.0 21.7 19.3 10.0 6.9 6.9
M = 100.0 20.4 13.2 16.3 7.7 9.9
< £
= At 100.0 20.0 14.9 15.3 7.0 9.5
o At 100.0 23.2 17.4 9.8 8.1 6.6
CH P EH
15~29MA 100.0 8.6 17.2 9.0 0.0 0.0
30~39A4A 100.0 22.8 5.2 17.4 4.5 8.0
4 0 ~ 49 A 100.0 16.5 14.4 11.4 9.3 14.7
50~59A 100.0 21.0 14.9 12.0 9.6 10.6
6 0 M O A 100.0 23.2 17.9 15.3 6.7 6.6
65 AN O A 100.0 23.2 17.7 15.6 6.4 6.8
N I
Z £ o o 100.0 249 15.9 16.6 5.2 6.6
il & 100.0 19.3 16.0 12.3 8.7 9.1
If & o 4 100.0 17.9 14.5 121 8.2 111
(ZAHEED
u]] ke 100.0 15.2 14.2 12.4 5.6 11.2
Hf @ A Q! & 100.0 215 15.8 14.6 8.0 9.3
A" /O = 100.0 23.1 16.1 12.6 7.0 5.8
(BHESE
| o 100.0 20.1 16.0 14.0 7.7 9.9
Ao 9l HpARls 100.0 236 14.2 12.9 6.1 4.6
<A
Ha /e 100.0 24.4 14.5 10.1 7.4 17.3
At = 100.0 14.6 216 8.1 14.1 11.3
A H| A / Tt Oy 100.0 21.1 12.9 13.1 8.5 8.0
L 2 o o 100.0 18.2 19.0 20.7 6.1 7.2
NS /71 A 100.0 20.2 13.4 9.8 6.7 11.0
o2 L =2 100.0 239 17.3 12.4 9.8 9.7
= ol 0.0 0.0 0.0 0.0 0.0 0.0
A58
100QHY Ojat 100.0 258 16.8 12.8 4.4 35
100~2008+ 100.0 20.0 16.9 17.7 7.2 8.2
200~3000t< 100.0 20.5 15.3 15.5 6.9 6.7
300~4000+L 100.0 20.7 14.2 11.4 7.0 11.7
400~6000+L 100.0 17.2 14.9 12.3 12.2 11.9
60002l O| At 100.0 20.1 16.0 12.4 7.1 13.8
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[ S
(EH21: %)
= M
2w | Tohmo | MeRz seo SE3 et
2|9 ARl & Zst =73 Y 54

2 02 4 4 7.8 7.5 16.1 2.0 0.3
202 2 4 8.1 12.9 13.7 5.2 0.2
<A oE
= =] 7.2 6.2 19.7 1.4 0.6
A =l 8.1 8.3 13.7 2.3 0.2
<M ==
Lt At 7.1 7.7 15.9 2.1 0.4
g At 9.5 6.9 16.7 1.8 0.0
Co P
15 ~2 94 13.0 13.5 30.2 8.6 0.0
30~ 39MA 8.4 8.5 20.7 4.4 0.0
40~ 49N 5.4 9.5 15.9 2.0 0.8
50~59MA 5.2 10.0 14.4 2.0 0.4
6 0 M O A 9.2 4.8 15.0 1.0 0.2
65 A O A 10.0 47 14.3 1.1 0.2
N -
= Z 0| o 10.0 4.7 14.7 1.2 0.2
ni = 6.6 11.2 16.0 0.6 0.2
tf & o A 6.6 5.5 18.3 5.2 0.5
(ZOSEIES
| e 10.1 7.4 19.9 4.0 0.0
Hi 2 A 9 & 6.9 6.3 15.1 2.0 0.5
Ad /O & 8.4 10.3 16.2 0.7 0.0
(BAHESE>
2| o 7.4 6.9 15.3 2.2 0.4
Aot Ol HPRBis 9.1 9.5 18.8 1.2 0.0
S
A 2 / 3 g 3.3 7.6 13.5 2.0 0.0
At = 8.7 0.0 15.0 6.5 0.0
A H| A/ o Of 6.8 9.6 18.5 3.2 1.4
L 2 o o 9.4 4.0 14.8 0.3 0.4
7215/ 71 A 7.3 10.4 18.3 3.1 0.0
ot &2 L =2 6.4 6.9 12.3 1.2 0.0
= 0l 0.0 0.0 0.0 0.0 0.0
tFa259
1008t Ojar 9.9 6.1 18.8 1.4 0.4
100~2008t<] 10.3 6.0 13.2 0.5 0.0
200~3008t 7.1 9.1 15.8 3.0 0.0
300~4000r 7.0 8.0 17.4 2.6 0.0
400~6000t] 4.4 7.6 15.6 24 1.5
60002l O| At 7.8 7.5 14.3 1.1 0.0
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4 - 15, MEH|/7IAH-E5/2AMEY 29 - (1) g &2

(T %)

OfLH7 LTHO
N v ane= zo ol Eo) aa2=
ofLf 4O e ofLy7t o
za e z2

2 0 2 4 4 700.0 3.0 63 385 258 26.4
CA e
= = 100.0 1.5 9.1 40.1 19.4 29.8
M = 100.0 4.1 4.2 37.3 30.7 23.7
<N g )
ot 2 100.0 3.2 5.5 37.9 28.7 24.7
o At 100.0 2.7 7.3 39.3 22.4 28.3
Co o
15 ~29 XA 100.0 0.0 0.0 14.3 521 33.6
30~ 394 100.0 0.0 6.4 42.4 26.2 249
40~49 M 100.0 1.2 85 303 32.1 28.0
50~59 A 100.0 2.5 7.1 38.4 295 226
60 M O A 100.0 4.4 5.4 419 20.5 27.7
65AM o 4 100.0 5.6 4.3 38.1 20.4 31.5
- I
2 Z o 3§t 100.0 4.3 4.2 39.2 22.0 30.3
ini Z 100.0 3.4 7.1 39.3 27.7 22.5
If Z o 4 100.0 0.6 7.8 36.8 27.8 26.9
(B OIAE >
0| =z 100.0 13.4 0.0 32.7 35.0 18.9
Hf 2 A} U & 100.0 2.8 6.3 38.7 25.6 26.6
At &/ O & 100.0 24.8 17.6 17.6 39.9 0.0
(AABS >
EY of 100.0 2.2 7.3 40.0 27.4 23.1
A0 2 HPRES 100.0 5.2 3.1 340 20.7 36.9
CH e
o/ m g 100.0 1.6 12.4 26.2 42.8 17.1
A o 100.0 0.0 12.8 455 28.3 13.4
M | A/ T O 100.0 13 5.1 53.3 25.8 145
= 2 of o 100.0 2.9 5.3 39.3 19.9 32.7
25 /71 A 100.0 3.5 5.2 31.3 32.1 28.0
oA L oo 100.0 45 19.0 36.9 29.1 10.4
= ol 0.0 0.0 0.0 0.0 0.0 0.0
GtRASH)
1000tSl O]ot 100.0 6.6 39 432 228 235
100~20089r 100.0 53 5.4 358 217 318
200~3000t 100.0 35 56 35.1 19.2 36.5
300~4009H 100.0 0.0 33 435 276 25.7
400~6000t 100.0 4.1 10.2 381 28.4 19.1
6000r9l OfAf 100.0 0.0 7.4 37.9 34.2 20.5
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4 - 15 MBHIA-SB/AANEY B - (2) TS 2

(2191: %)

LF
wzoz | R oo | EEL ||
CE A o Jmol | ZEO | oo | Cam | dTEs
za e z3 o

202 4 4 100.0 26.4 32.9 36.4 2.8 15 0.0
CA 9 4
= = 100.0 28.1 32.3 32.4 4.6 2.7 0.0
A = 100.0 25.2 33.5 39.4 1.4 0.5 0.0
<A o )
=k At 100.0 24.0 35.8 35.5 3.2 1.6 0.0
ol 2t 100.0 29.4 29.7 37.4 2.3 1.3 0.0
oy
15 ~29MA 100.0 16.8 35.3 479 0.0 0.0 0.0
30~39MA 100.0 10.4 44.0 42 .4 0.0 3.2 0.0
40~49AH 100.0 17.7 47.6 316 1.7 1.4 0.0
50~59M4A 100.0 21.4 31.0 429 2.7 2.0 0.0
6 0 Al O| At 100.0 35.0 27.0 33.2 3.8 1.0 0.0
6 5 Al O| Af 100.0 37.0 27.4 30.6 3.7 1.3 0.0
oo
2 Z o 3§t 100.0 40.3 23.9 30.6 3.4 1.9 0.0
ni = 100.0 20.7 37.6 38.9 2.5 0.4 0.0
If Z o 4 100.0 17.2 37.8 40.1 2.5 2.4 0.0
CZOIAEIES
0| =z 100.0 32.4 35.0 32.7 0.0 0.0 0.0
B S 29 S 100.0 26.4 33.0 36.4 2.7 1.5 0.0
A" /o 100.0 24.8 21.9 353 18.0 0.0 0.0
(BAEFE
2 A 100.0 25.5 33.8 37.2 2.6 0.9 0.0
Alo! Ol HEA RS 100.0 29.4 30.3 33.8 3.3 3.2 0.0
[ B = I
A2 /7 o g 100.0 8.9 45.6 42.6 3.0 0.0 0.0
At = 100.0 15.9 44.6 39.5 0.0 0.0 0.0
M H| A /I Oj 100.0 12.0 36.7 44.3 4.7 2.3 0.0
= 3 of o 100.0 43.1 27.3 27.0 2.3 0.3 0.0
s /7 A 100.0 25.3 31.3 4.8 0.0 1.6 0.0
ot 2 L =2 100.0 28.6 20.9 44.6 5.9 0.0 0.0
o ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tt Aa25E
1000tel Ojar 100.0 37.2 29.7 27.2 3.4 2.5 0.0
100~2000t8l 100.0 36.3 29.8 26.6 6.6 0.7 0.0
200~3000+ 100.0 275 26.3 39.3 2.0 49 0.0
300~4009H 100.0 25.4 M6 31.2 1.7 0.0 0.0
400~6009H 100.0 19.6 316 46.8 2.0 0.0 0.0
6000t O] A 100.0 21.4 37.5 37.7 2.2 1.2 0.0
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(3) 71 W Z8% JAAY

| L.
(2191: %)
LF
wzoz | R oo | EEL ||
CE A o Jmol | ZEO | oo | Cam | dTEs
za e z3 o

2 0 2 4 4 100.0 3.5 9.1 69.3 10.2 79 0.0
CA 9 4
= = 100.0 1.5 6.9 69.8 11.7 10.1 0.0
A = 100.0 5.0 10.8 68.8 9.1 6.2 0.0
<A o )
=k At 100.0 3.1 10.1 68.3 10.6 7.9 0.0
ol 2t 100.0 3.9 8.0 70.4 9.8 8.0 0.0
oy
15 ~29MA 100.0 0.0 0.0 83.2 0.0 16.8 0.0
30~39MA 100.0 13.9 6.5 65.1 7.1 7.4 0.0
40~49AH 100.0 1.2 9.2 79.2 8.0 2.4 0.0
50~509 A 100.0 16 125 73.6 7.1 5.1 0.0
60AM O A 100.0 38 8.1 63.6 135 111 0.0
6 5 Al o| At 100.0 3.7 7.4 61.6 14.0 13.3 0.0
oo
2 Z o 3§t 100.0 2.7 9.4 63.5 11.3 13.0 0.0
ni = 100.0 2.9 8.9 72.0 10.7 5.5 0.0
If Z o 4 100.0 5.1 9.1 72.7 8.2 49 0.0
CZOIAEIES
0| =z 100.0 0.0 0.0 32.7 35.0 32.4 0.0
B S 29 S 100.0 3.4 9.3 69.8 9.8 7.8 0.0
At &/ o] & 100.0 24.8 0.0 35.3 39.9 0.0 0.0
(BAEFE
2| of 100.0 3.1 10.0 70.7 9.1 7.1 0.0
Alo] U HpRES 100.0 4.6 6.4 64.7 13.8 10.4 0.0
-
A2 /7 o g 100.0 2.1 10.8 75.6 3.8 7.7 0.0
At = 100.0 5.7 18.8 70.6 2.0 2.9 0.0
M H| A /I Oj 100.0 0.0 8.7 81,5 8.5 1.3 0.0
= 3 of o 100.0 5.5 7.4 61.7 12.8 12.6 0.0
s /7 A 100.0 1.9 11.0 737 7.4 6.1 0.0
o2 L oo 100.0 4.0 18.2 58.2 17.0 2.6 0.0
o ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tt Aa25E
1000te O|ot 100.0 6.0 7.3 55.4 9.8 21.5 0.0
100~200t 100.0 3.9 6.9 60.8 18.7 9.8 0.0
200~3000+ 100.0 2.1 35 67.1 12.4 14.8 0.0
300~4009H 100.0 6.1 5.7 73.3 9.0 6.0 0.0
400~6009H 100.0 3.0 12.0 76.0 75 1.5 0.0
6000t O] A 100.0 1.0 20.4 71.9 43 2.4 0.0
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4 - 16, 48 DHBY - (1) YA 7S A 4

(5191 - %)

2 = A | e | s | Ly | =S| 23C o
¥ | awn | N s | A
oty | = s

202 4 4 100.0 42.0 5 30.4 27.9 30.1 276 25
CA Y
= =l 100.0 49.4 10.9 38.5 24.2 26.4 23.2 3.2
A = 100.0 37.0 12.0 25.0 30.4 32.6 30.6 2.0
<A g )
= At 100.0 38.4 10.3 28.1 30.5 311 28.3 2.8
o At 100.0 458 12.9 33.0 251 29.0 26.8 2.2
CoH o
15 ~29MA 100.0 53.4 13.0 40.4 33.6 12.9 11.7 1.2
30~ 394 100.0 53.4 24.3 29.1 289 17.8 17.8 0.0
40~49AH 100.0 476 176 30.0 26.2 26.3 252 1.0
50~509 A 100.0 39.0 115 275 32.0 29.0 251 39
6 0AN o A 100.0 35.7 6.7 29.0 24.7 39.6 36.3 3.2
65AM o 4 100.0 349 5.6 29.4 24.4 40.7 37.6 3.1
Cste g
2 Z o 3§t 100.0 35.6 7.1 285 26.2 38.2 36.0 2.2
ini Z 100.0 39.5 11.6 27.8 329 27.6 241 3.5
If & o 4 100.0 55.7 18.3 37.4 23.1 21.2 19.7 1.5
(B OIAE >
0| =z 100.0 53.5 18.2 35.4 329 13.6 12.5 1.0
Hf 2 A} U & 100.0 38.7 9.9 28.8 27.4 34.0 30.7 3.3
At &/ O & 100.0 38.2 8.7 29.5 23.6 38.1 36.2 2.0
(AABS >
2| of 100.0 42.5 12.4 30.1 27.8 29.7 27.2 2.5
Ao Ol WIS 100.0 41.0 9.9 31.0 28.1 30.9 28.3 2.6
CH Yo
o/ m g 100.0 44.3 11.3 33.0 28.3 27.3 26.5 0.8
At = 100.0 60.7 25.4 35.3 21.3 18.0 16.7 1.4
M | A/ T O 100.0 51.6 16.8 34.7 28.9 19.6 17.1 2.4
= 3 of o 100.0 33.7 8.4 25.3 25.1 41.2 385 2.7
25 /71 A 100.0 37.6 8.1 29.5 33.6 28.8 255 3.3
o2 L oo 100.0 37.8 11.0 26.8 30.2 32.1 28.2 3.9
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtRase)
1000tel Ojar 100.0 38.7 7.5 31.2 25.2 36.1 336 2.6
100~2000t8l 100.0 37.7 76 30.1 29.9 32.4 314 1.0
200~3000+ 100.0 395 14.0 255 283 32.2 29.4 2.8
300~4009H 100.0 458 12,5 33.3 25.9 283 26.7 15
400~6009H 100.0 445 1.7 32.9 30.2 25.3 215 37
6000t O] A 100.0 452 158 29.4 276 27.3 23.9 3.4
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4 - 16. 4E QA - (2) B89 4% BE HHE

(5191 - %)

2o oA | o | wg | %o
= art | Sy | 2R | T | TET | e | e
o | =El

2 0 2 4 4 100.0 438 13.1 30.7 29.9 26.2 236 26
<A
= = 100.0 47.9 13.2 34.7 24.2 27.8 24.7 3.2
A =l 100.0 41.1 13.1 28.0 33.8 25.1 22.9 2.2
<A g )
= At 100.0 36,7 11.7 28.0 31.3 29.0 25.7 3.3
ol 2 100.0 484 14.7 337 285 231 213 1.9
Co oy
15 ~29 K4 100.0 60.4 17.9 42.5 26.1 13.4 9.8 3.6
30~ 394 100.0 55.3 24.2 31.1 24.6 20.1 18.1 2.0
40~ 49N 100.0 55.9 20.2 35.7 28.5 15.6 14.8 0.8
50~59MA 100.0 36,7 12.8 26.9 35.4 25.0 22.4 2.6
6 0AN o A 100.0 34.5 7.4 27.1 30.1 35.4 32.4 3.0
65AM o 4 100.0 33.2 6.0 27.2 30.3 36.4 33.6 2.9
<R
2 Z o 3§t 100.0 35.4 8.8 26.6 31.2 33.4 30.8 2.6
il = 100.0 44.6 12.0 32.6 32.8 22.7 19.6 3.0
If Z o 4 100.0 56.0 21.7 34.3 23.7 20.3 18.3 2.0
CEAAE
| =z 100.0 59.8 20.6 39.2 27.0 13.2 11.7 1.5
B S 29 S 100.0 40.2 12.1 28.1 311 28.6 25.3 33
At &/ o] & 100.0 35.7 6.9 28.8 29.8 34.5 32.8 1.8
BHESE
2 A 100.0 447 14.2 30.5 29.9 25.4 23.3 2.1
Ao Ol HpERRiE 100.0 42.1 11.0 31.1 30.1 27.8 24.2 36
EEEE
42/ & g 100.0 48.0 13.0 35.0 26.9 25.1 22.7 2.4
At = 100.0 721 31.5 40.6 19.2 8.8 7.3 1.5
M H| A /I Oj 100.0 52.3 19.8 325 29.3 18.4 17.4 1.1
= 2 o ¢ 100.0 35.0 9.7 25.3 29.6 35.4 33.3 2.1
s /7 A 100.0 36.3 5.2 31.1 39.4 24.3 20.2 4.1
ot 2 L =2 100.0 45.8 18.0 27.8 27.9 26.3 25.0 1.3
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GPRASE
1000te O|ot 100.0 35.6 6.3 29.3 31.3 33.1 304 2.7
100~20089r 100.0 43 10.3 31.0 306 28.0 26.7 1.4
200~3000t 100.0 40.8 146 26.2 295 296 25.2 4.4
300~4000+ 100.0 45.2 17.4 27.8 30.4 24.4 22.4 2.0
400~6000t 100.0 483 145 338 287 23.0 22.1 1.0
6000t O] A 100.0 526 13.8 3858 296 17.7 13.0 47
202413 Mt T WO ARBRAL



- 239 -

4 - 16 48 DB - (3) 44 HIZO £ AU U4 2HH

(9] : %)

a3 -
S 7 ot | A | e | =8 | 2% o2
o R o5t 230 | Sy
=Lt = =

2 0 2 4 4 100.0 66.3 2422 421 255 82 7.4 0.8
CA G &85
5 = 100.0 70.2 20.8 49.3 22.2 76 6.5 1.1
A G 100.0 63.7 26.5 37.2 27.7 85 7.9 0.6
<A P
Lt Zt 100.0 62.6 24.2 383 30.1 7.4 6.4 1.0
ol 2t 100.0 70.5 24.2 46.3 205 9.0 85 0.6
Co g
15~209A4 100.0 80.4 40.6 39.8 19.6 0.0 0.0 0.0
30~394 100.0 74.9 40.3 346 20.0 5.1 5.1 0.0
40~49K 100.0 736 29.4 44.2 225 3.9 3.9 0.0
50~59 A 100.0 60.3 22.4 38.0 29.9 9.8 8.0 1.8
60A O A 100.0 60.7 15.3 45.4 27.4 11.9 10.9 1.0
65A O A 100.0 57.9 12.4 45.4 285 136 12.7 1.0
<8 oE g
z = o % 100.0 60.0 16.1 44.0 28.0 12.0 11.0 1.0
I} = 100.0 66.0 24.0 42.0 26.3 7.7 6.8 0.9
f = o 4 100.0 76.7 37.4 39.3 20.4 2.9 2.5 0.4
(ZONEIES
i s 100.0 74.5 37.3 37.2 243 1.3 1.3 0.0
HE 2 2 9 2 100.0 67.0 22.7 443 24.3 8.7 7.7 1.0
A e /o B 100.0 54.1 13.0 411 31.1 14.8 13.7 1.1
(BAHESE>
2| o 100.0 66.5 236 42.9 25.4 8.1 7.0 1.1
Aot Q1 HpREE 100.0 66.0 25.4 40.6 25.8 8.2 8.1 0.1
CH Yo
=TT 100.0 69.6 26.1 435 253 5.1 5.1 0.0
n [=] 100.0 86.8 39.1 47.7 11.8 1.4 1.4 0.0
M H| A / Tt Of 100.0 71.3 30.2 411 25.6 3.1 25 0.6
= 2 of o 100.0 62.4 14.1 483 26.1 115 10.1 1.3
s /7 A 100.0 54.9 19.7 35.2 33.0 12.1 10.4 1.7
b2 L oo 100.0 67.1 32.0 35.1 18.8 14.2 10.1 4.1
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHa259
1000t Ojot 100.0 53.1 10.1 43.0 32.9 14.0 13.3 0.7
100~2008+< 100.0 68.6 16.7 51.9 21.7 9.7 8.1 1.6
200~3000+ 100.0 70.7 29.6 41.2 215 7.8 6.9 0.9
300~4000t 100.0 64.2 27.4 36.8 29.8 6.0 5.0 1.0
400~6000+ 100.0 68.4 30.3 38.1 24.2 7.4 6.9 0.4
6000rSl O At 100.0 73.0 275 455 23.0 3.9 3.9 0.0
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4 - 16. 4 DA - (4) oyl A ¥ U

(T : %)

2 = A | w2l | as 25 | o3
= ot | Jay | 237 5 R I
o | a3t

202 4 4 100.0 64.6 23.4 212 278 76 7.2 05
Cao e
= = 100.0 75.0 23.0 52.0 19.6 5.4 4.7 0.6
A = 100.0 57.5 23.6 33.9 33.3 9.2 8.8 0.4
<A g )
=k At 100.0 61.7 21.6 40.1 31.0 7.2 6.8 0.5
ol 2 100.0 67.7 253 42.4 24.2 8.1 76 0.5
IR
15 ~29 XA 100.0 79.0 35.6 43.4 19.8 1.2 1.2 0.0
30~39MA 100.0 66.6 36.3 30.3 28.2 51 51 0.0
40~49 M 100.0 66.6 26.9 39.7 29.7 38 38 0.0
50~59 A 100.0 58.8 22.2 36.5 31.9 9.3 8.9 0.5
6 0AN o A 100.0 61.6 16.4 452 27.8 10.6 9.8 0.9
65AM o 4 100.0 59.2 14.4 44.8 289 11.9 11.0 0.9
oo
2 Z o 3§t 100.0 56.9 16.5 40.4 31.3 11.7 10.9 0.9
ini Z 100.0 65.7 21.5 442 28.2 6.0 5.7 0.4
If Z o 4 100.0 74.8 37.0 37.9 21.6 3.6 3.6 0.0
CZOIAE >
o] s 100.0 74.2 339 40.3 24.7 1.1 1.1 0.0
Hf 2 A} U & 100.0 64.1 22.8 41.3 27.6 8.2 7.6 0.6
At &/ O & 100.0 54.0 11.9 421 32.1 13.9 13.3 0.6
(AT T >
2| of 100.0 65.4 22.8 42,6 26.8 7.8 7.2 0.6
Alo! Ol HEA RS 100.0 62.9 24.4 38.6 29.7 7.3 7.2 0.1
CH Y oE
A2 /7 o g 100.0 67.4 29.9 37.5 27.6 50 50 0.0
A o 100.0 87.0 41.8 45.2 11.7 1.4 1.4 0.0
A H| A/ THOf 100.0 69.2 28.0 41.2 26.9 3.9 3.5 0.4
L 2 o o 100.0 62.9 15.3 47.5 25.4 11.7 10.5 1.2
s /7 A 100.0 56.3 15.1 41.2 34.1 9.6 8.8 0.8
oS =2 100.0 56.4 24.6 31.8 32.5 111 11.1 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
GtRase)
1000te O|ot 100.0 54.1 11.8 42.2 335 12.4 11.7 0.7
100~2000t8l 100.0 65.7 19.8 459 26.0 8.3 7.7 0.7
200~3000t 100.0 67.7 23.9 438 236 8.7 8.0 0.7
300~4009H 100.0 58.7 238 34.9 356 5.7 5.4 0.3
400~6009H 100.0 65.9 29.2 36.8 26.4 76 76 0.0
6000r9l OfAf 100.0 78.0 30.7 47.2 20.2 1.8 1.2 0.6
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4 - 16. 4¥ 1WA - (5) o4l P 24 HMD

(9] : %)

a3 -
S 7 ot | A | e | =8 | 2% o2
o R o5t 230 | Sy
=Lt = =

2 0 2 4 4 100.0 57.9 21.0 36.9 336 85 82 0.3
CA G &85
5 = 100.0 61.8 20.0 41.9 315 6.6 6.4 0.2
A G 100.0 55.3 21.7 336 35.0 9.7 9.4 0.4
<A P
Lt at 100.0 54.3 18.7 356 35.7 9.9 9.4 0.6
ol at 100.0 61.9 235 38.4 31.2 6.9 6.9 0.0
Co g
15~209A4 100.0 74.7 35.9 3838 24.1 1.2 1.2 0.0
30~309A 100.0 66.3 36.8 29.6 26.2 75 75 0.0
40~409AH 100.0 65.8 26.3 39.4 31.3 3.0 3.0 0.0
50~509 A 100.0 55.2 20.1 35.1 36.4 8.4 7.9 0.5
60A O A 100.0 49.8 12.0 37.8 37.4 12.8 12.3 0.5
65A O A 100.0 46.8 10.0 36.8 388 14.4 13.8 0.6
<8 oE g
z = o % 100.0 483 14.6 337 39.0 12.7 12.2 0.5
I} = 100.0 59.5 18.9 40.6 338 6.7 6.5 0.3
f = o 4 100.0 70.8 34.2 36.6 24.7 45 45 0.0
(ZONEIES
i s 100.0 69.0 336 35.4 28.0 3.0 3.0 0.0
HE 2 2 Q2 100.0 57.0 19.3 376 34.2 8.9 8.4 0.5
A e /o B 100.0 47.4 10.8 36.6 3856 14.0 14.0 0.0
(BAHESE>
2| o 100.0 57.6 20.4 37.3 345 7.9 7.7 0.2
Aot Q1 HpREE 100.0 58.6 22.2 36.3 31.8 9.6 9.2 0.4
CH Yo
Me/n g 100.0 63.9 18.6 453 31.1 5.0 5.0 0.0
n [=] 100.0 76.3 40.5 35.9 237 0.0 0.0 0.0
M H| A /T Of 100.0 64.4 27.1 37.3 315 4.1 4.1 0.0
= 2 of o 100.0 49.9 12,5 37.4 375 12,5 12.3 0.3
s /7 A 100.0 48.9 12.9 36.0 41.0 10.2 9.3 0.8
b2 L oo 100.0 58.1 29.8 28.2 336 8.3 8.3 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHa259
1000t Ojot 100.0 4.4 8.7 32.7 435 15.2 15.2 0.0
100~2008+< 100.0 58.6 17.6 41.0 29.9 115 10.8 0.7
200~3000+ 100.0 56.7 20.9 35.8 3438 85 7.8 0.7
300~4000t 100.0 55.5 21.4 34.0 37.3 7.3 6.9 0.3
400~6000+ 100.0 65.3 29.0 36.3 28.4 6.3 6.3 0.0
6000rSl O At 100.0 71.4 26.5 44.8 26.8 1.8 1.8 0.0
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4-16. ¥ DHTY - (6) WA HIBOl &2 Y oy BN

(9] : %)

a3 -
T = 7 ot | A | e | =8 | 2% oo
o R o5t 230 | Sy
=Lt = d

2 0 2 4 4 100.0 67.2 24.9 423 235 9.3 7.9 1.4
<Aoo
3 =) 100.0 69.6 22.3 47.3 20.0 10.4 8.9 15
A G 100.0 65.7 26.7 39.0 25.8 85 7.1 1.4
& P
Lt at 100.0 63.5 233 40.1 26.8 9.7 8.1 1.6
o at 100.0 71.4 26.6 44.8 19.8 8.8 7.6 1.2
CH Yo
15~209A4 100.0 75.6 36.8 3838 18.0 6.4 3.7 2.7
30~309A 100.0 75.2 36.4 3838 19.8 5.0 1.6 3.4
40~409AH 100.0 74.7 31.8 42.9 19.1 6.2 6.2 0.0
50~509 A 100.0 66.1 25.4 40.7 26.1 7.8 7.0 0.8
60A O A 100.0 61.3 16.6 44.7 26.1 12,6 11.3 1.4
65A O A 100.0 56.6 13.1 435 285 14.9 13.3 1.6
<8 oE g
z = o % 100.0 58.2 17.4 40.8 282 136 12.0 1.7
I} = 100.0 67.6 24.3 433 25.1 7.3 5.9 1.4
f = o 4 100.0 80.9 37.6 433 136 5.4 4.4 1.1
(ZONEIES
i s 100.0 69.7 34.4 353 21.6 8.7 5.8 2.9
HE 2 2 Q2 100.0 69.6 24.3 453 22.7 7.8 6.9 0.8
A e /o B 100.0 56.6 15.1 4.4 285 14.9 13.4 1.5
(BAHESE>
Y o 100.0 69.4 25.3 44.1 235 7.1 6.2 0.8
Aot Q1 HpREE 100.0 63.0 24.1 389 23.4 136 11.0 25
CH Yo
Me/n g 100.0 79.3 25.7 53.6 16.6 4.1 4.1 0.0
n [=] 100.0 80.7 41.9 38.7 17.6 1.8 1.8 0.0
M H| A / Tt Of 100.0 77.0 35.0 42.0 18.3 48 3.7 1.1
= 2 of o 100.0 59.0 14.1 44.9 28.7 12.3 11.0 1.3
s /7 A 100.0 63.0 20.9 42.1 31.4 5.6 4.7 0.8
b2 L oo 100.0 77.9 338 44.1 16.6 55 55 0.0
2 ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
tHa259
1000t Ojot 100.0 53.8 10.1 437 28.3 17.9 16.9 1.0
100~2000t2] 100.0 63.0 17.1 459 26.8 10.2 9.6 0.7
200~3000+ 100.0 71.0 29.9 411 19.6 9.4 7.4 2.0
300~4000t 100.0 70.2 26.4 438 25.4 4.4 4.1 0.3
400~6000+ 100.0 70.6 318 388 23.0 6.4 5.7 0.7
6000rSl O At 100.0 73.2 31.0 42.2 17.6 9.2 45 4.7
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202 4 4 700.0 53.4 211 322 26.9 19.7 8.0 1.7
CA Y
= =l 100.0 55.2 18.1 37.1 19.9 25.0 22.0 3.0
M = 100.0 52.1 23.2 29.0 31.7 16.2 15.3 0.9
CHoEy
Lt 2 100.0 492 17.8 314 29.2 216 19.7 1.9
ol 2 100.0 58.0 248 33.1 24.4 17.7 16.1 16
CoH e
15 ~29MA 100.0 68.7 31.8 36.9 26.5 4.8 4.8 0.0
30~ 394 100.0 63.1 40.3 22.7 24.8 12.2 12.2 0.0
40~49AH 100.0 64.2 30.8 33.4 27.4 8.4 8.4 0.0
50~509 A 100.0 49.0 201 28.9 30.0 20.9 19.2 1.8
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